


3. ur, 8. (5.00.) auflens ster—128.

S WSO ST%0 euig. 6l &6ueflZd

(ANALYTICAL GEOMETRY)

= Sy
. Bs, wrevlssarssn Gy,
sewflgl Cuyrdfud,
Sjpstiur Qo HIUsS s,
Qe st Bt .

SUDETLEU UL Ge §misusns



First Edition—April, 1966
‘Becond Edition—=April, 1971
Reprint—September, 1977

‘Number of Copies—2,000

T.N.T.B.S. (C.P.) No. 125

© Government of Tamilnadu

ANALYTICAL GEOMETRY

T. K. MANICAVACHAGOM PILLAY

Price Rs. 6-85

Published by the Tamilpadu Textbook Society
under the Centrally Sponsored Scheme of Production
of books and literature in regional languages at
the University level, of the Government of India in
the Ministry of Education and Social - Welfare
(Department of Culture), New Delhi.

This book has been printed on concessiaznal
paper made available by the Government of India.

Printed by
MUTHUKUMARAN PRESS,
14=A, XKuppier Street,
‘Madras-1.



uBLiysny

SuEOsni ang.o seallgd erarp
Bp sred, sBPErC GO UTrgrd
Ppeuersfsr sridd Queafwrer
425 gpoug Gauaflufrgn. Gssdr
whogw UBOLD Ly St 3T HSiD

C epudorwrd el er. 9h560dr,

uiturgs @b préd BarBin Qsuef
amasrpgl. Sb Hréd W Iy,
&bed - Faps B IMUNEFTS FHlr
‘wurfeoo QurgPulsd wudHEdE SYs
prévser QauefluldB A S DB
QeuafudL_ i D S,

Coorawm Sudk@nk
SARErLOU urLgred B aend



GlurmeTL & S

udatb
1. yerefsenn Quiigaersens (Points and
Loci) , i
v%/cﬁl‘@&ﬁi‘ (Sttaight lines) . 17
BB ened G&-’r@ﬁﬁ {Pairs of straight lines).... 61
4. .ance v (Circle) - I i 35
9w A% sur’ L msdr (System of, circlcs)v e 117
g M;_qu @autig aair (Conic sections) e 143
T B sur.ih (Ellipse) 194
) @yHuyeudmmud (Hyperbola) ' £ > T 268
Gureori HiduwrQueatrser (Polar co-ordinates)... 318
73 w.w/lh.lbu"“'éﬁﬁlq&sir suemggs  (Tracing of
conics) ; _ : 369
afleni_sak o 409 :

HW0IQ@r Ha ok 423.



1. Ly6irerflas @pLD @mr&l@mm&;@m

(Points and Loci)

1. ustsrikosst (Co-ordinates)

X'0X, Y'OY esrsrpswsu Gpi@Ssrear am Gsr@aser
srareid, apspGar® QLiGhs Mk, Qrairag Gar®
& 52 Gogyith suedFILIILIL L Car(Hser starayd G@rer Gairid,
X'0X,Y'0Y, BrGe xapuib(x-Axis), y apwith(y-Axis)erarajib,
S Qau (B yeirefl O pF (Origin) srerayid Quuui QL pis.
B0 usHaraar P , »
yeirofluleir  Ho0smwids ¥
“&rewr NP, MP Qardv ,
&6ir Qg s Gausubr Bid. N P

T pwdSIDe 20 - '
Gurasrer  (Parallel)
P-sir x PpuSHr0
NP, (x Co-ordinate)

 erargib, y QHusSHH G
" powGursTer MP,
P-éir y pusOsio

(pCo-ordinate)
STEr iLh, DSIHD X, Y »
starmith, P-gg. (%,7) ‘
TGO Mith G Peb oyL].

.. () ™ R

L4
uLID - 3

%, y ereirueup P H@ Bems wHiilh, GmpuwISiyn o ar®.
" x-sbr GempuBuyssr OX' sufursajb, y-67 GopLAULS 6
OX'-sr @mCurg GCarl@ eafursepd ersstu@i.
a@smssrCLrs, P (2, — 1) yetrefufeir Bvsmws sremr OX
afurss Osrdv 2m  Serpsldr OY'-6 aoGurg Gsrii®
anfwrs, Gsrdv lg omdssGeuar®in. o8 (0, 0) e,
GrewLrid u_sds A, B, C, D ysraflaer wampGu (4, 3),
(=~4,3), (—4,—3), (4"—'3) SHSLD.
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B ¥ oy
("’4‘;3} (‘4%%}
2
}\f Q E‘ K
'p
¢ B
(~4,-3) ¥ @,-3)
iD= 2

2. o yidlssidr Gorouie GFnd

P, Q ysiafiser (x;,¥1)s (Xg, Vo) ereirm Qi sir Gourid,
Y PGy
Q,ﬁﬁi-?ﬁ{)lz\"'ﬁz

Xi—Xa

x ol m L X

g MY
w3
PL, QM, QN @eaupepis uLgAp sramugGurec, apuid
HEHEHS ‘@@(Eukm’& auenyudeir, |
: OL =x;, LP =3,
‘ OM = x4, MQ = ¥y :
e ¥ 1< 1-TR QN == ML = x; = x,



ajeir oflsEpLD Guim@eimy S@pL ; 3
QNP @psGaremr 556> QNP = 90° apemawred
PQ2 = QN? 4 NP*
= (x; — %)% | + (ry —ya)?
. PQ = 4 (X = X5)% + (¥ — ¥g)?
pBIBGES P (%1, y1)-60 Oprdo OP = /%,3+y,%

GOy pwssrde eug o safigsds (Co-ordinate
Geometry)aumh airirBser sTedeord Quir Gl wir selsir,
SpuQsrIEense o flu Ghadbr a@IbEEr, Hrarg ordb
. faals QaaGn yiaralsdr HewsHpG Gt aurdiur®
&6l QuUrESith.

3. (%1, ¥1) (%2, ¥p) yrafladr QUmEGD Gariplowm :n

saaiuy 9fagod yaellaalldar HwHOgr%oser

P. Q ydrafsdr &
.Jﬁ?ﬂ-@m (xls yl)y (-"Cgs}’z) b R/
eresrpmb, PQgy m : n
_gasmﬁuxq. AN& @ b : P ” W
afefraf s R (%, Yerebr mih
GararGeaurd. HORur

QM. PKH geupenps '
cusAH o r b 1 S

@Gured D WIE EBES &
 @mCursrs  susnyudsr, uLiD- 4
KH = x4 = x, PK = X m— 2,

KR=p —y;, HQ=yy=—»
w&ECasrenrid PHQ-s0 KR, HQ pnCurg Car@ssrreanswirsd
’ PR _ PK
RQ = xa
(o A ..

n X o= X

(-1 1 (x — X1} = m {Xg =~ X)



4 a,m,s@,@ram Qg6 &6l G
nxy +.mxy
m--n

ny; -+ myg
m+n

X = —

DsCuraGp y ==

AUrFCHHPd : (X1, ¥;) (Xgs V2) ysirolsdr GGy
Gasriy.sr BEOLY6ref (:_c_,_i_ggg b———; y_,_) 2pG10.
4. PQ-sr ypss o6 Csriud R @ehsred PQm
R, PR:RQ gssayuuy Ofiégw. PR, RQ GCapunie.

~ . PR :
@ PO hFesir 0] RO GMPIH] DG,

PQg R, m : n gaejliug. Qeuafuled 19NGsred
PR m | | 1

—

RQ ™ " =n P Q R
Xy — MXg BY;=——myq

n—m °’ n—rm

2 5Cal, R-6r S0 sroser

O 5) p3Carewr o & aafslr w0 sre&vssr QSN BSTed Sy
@&.(B&rrmrgg‘;lsur bH&Garl.@ emwund {Centroid) srewrsorid.

A Laeih)

B £ )
(X2,Y2) (X35Ys)

uLo -5
wp&Carer ST 2 SRS (X1, ¥1)s (X2, Y2)s (X3, V3) 6165 it

AD, p($Gar@® (Median) s-rsirmm, G, m@&@&xn..@ sHLOUND-
crsarg:m QasrerGeur.



yerans@Epd GuLiGan] S E@5L |
X x -+

D-éir @pwsOzrBosdr —° '2" L y—’«—z-l’. ADg G, 2:1

GpBCat, BSOT SR Hr B0 6ir

saajriuyg. 19NSELW.
x9+xs 1.y1+2-y2;'y3

*=— yxz YT 13
o x =2t "32_,:5;_8, y = 11_‘_*:_315__"‘_1;

wrgldl 1:
(— 3, —4), (2, 6), (— 6, 10) rysir efizearmred a;smmﬂags W&

Garemrid Qab@asrewr (y:és(fs‘&n'mmmsar Poeys.

A (=3, —4), B (2, 6), C (~6, 10) erars Q&rerLmsbd,
AB? = 52 4 102 = 125
BC? = 82 4 42 = 80
CA2 == 32 4 142 = 205

~. CA?% = BC? 4 AB?

SpaGeau, ypsCarewrio ABC-éb /B = 90°.

wordlfl 2 :
(-7, —3), (5, 10), (15, 8), (3, —5) yerafisstr HCUIrE
srpflenpuier (Parallelogram) apdzraer srar Bpiajs.

8 yearefadr A, B, C, D erars Qarabrrsd apususny
7+ 15 —3 4 8)

{Diagonal) AC-m BOLILsiTafi (

Do roug (4, 2°5)
apdvsusny B D-sirp@ivyerafi (5 + 3 10; 5)
: (o-a1.) (4, 2°5)
Gp5CGeat, ABCD srpflsmpulssy ap2veusmgser AC, BD
SETH LHOWETMDSF Finorsts 19f1& 1.
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wrffl 3
(1, 3), (2, 7) yerefiadr Bowwrs@h Cariig g (—2, —9)
S gaayliug INSGHL? IS S M : N STHT Y Q& Ir VTL_F 60,

2..;"'*‘..2’!’
4T m+am

(S-51.) —2m — 2n=n + 2m

(-s1.) Am = - 3n
o
n

e

3
. 4.
tor Slifl @)-
oM wiGsrarsHsr e sr owuboms (Incentre) wpd

Careor o FHseNar HpuwS0sre&0serred Sredrs.

wp&Carenrid ABC-sb o_sfaefisr pusQsrdossr BrGe
(xhyl)o (x” ys)s (xa9 y3) "5379"5, @é;(Sasn'mrﬂ LIS EIEI &6l
a,b, ¢ eréirpnd Qamer@eurb. AD, BE SgGss LA, /LB,
Beup Pleir Fin Gau’y s6ir (Bisectors).

“ ()

B D e
(XZ, Uﬂ) : (x_s’ U‘S)
UL - 6
LA
DC b

D-6r gpustsrdvser

bxg 4 cx3 bys + cys
bd+ec * ba4c



yeir il @ LD BIbiGashy & @hLh 7.

DC ,, b
'Y} BD+1—_E+i

BC b4+ ¢

3 i ac 3
S = UTE s D= T
Guags DY — BD
m@llﬂm—--—— AB®
Dl ac @

ia T hree i

oy bxe A eXs oy bya 4 oeys .
(b -+ c) e ax_l~ (b + ¢) bie TN
""" a-+4b+c ! a-t+b+c¢
, ax, + bxy + cxg ay, + bys + 7Y
e T Ta¥bte
uulipAssr 1

1. Gereumd gaGauri Howrl ydrefégd (Pair of
Points) @ev-LurL. Qasrioeidus sraws.
(1) (6,8), (3, )
(2) (Ss'“4)a (25 0)
3) (2,—3), (~—4, —6)
(4) (at,2, 2a1,), (ats2, 2aty)
(5) (acos 0, a sin 6), (@ cos ¢, a sin 9)

6 (ctl, %) (crg, t";)

2 (2s—2)s (=1, 2), {3, 1) yerefissr HumeNsfop
(Isosceles) p&Garear Quoredr feir o_sAser sTar Hoeys.

3. (0,1) (1, 2), (2, 3) yerafladn o FAsamrad Qsrabri .
WsCaraRTid v 5560 vwG ?

(4,3) ysireflemir soowors&Qsrewe. sl GHlel
9, 3)y (7, —1)s (1, —1) ysirefissir o_sr srawr Pmeys. e
L. SHST LD 6160 v P

5 (0, =1, (2, 1) (0, 3), (—2, 1) ydral@sarrsi SswwpHsH
UL eSirnr@oner Bpeys.
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6. 3, =35), (=5, 9), (7, 10), (—9,—6) yeheflaser QG
Cur@ prpfAepulsr wplwrsQerear Hmiejs.

7. (24 =3), (—6, —7)y (—8, —3) yeirafizarred Dewwbs
W&Csrauwrd o Comlasrar wisBasrarQuear Hpes.

8. (2,2), (—2,—2), (—2 ‘\/§;ZV§) yeirefissir @5 Fw
uss YaGarew SHear e sAser srar BHpas.

(9) (3,7, (6, 5), (15, —1) yarefissr §@ Gariin.cb 2_or
sreor flpieys.
10. (2, 3), (6, 9) ysrafaBns Caisdgh Car® pPeoups
QFebaGinar Hpajs.

11. (=2, 2), (=8, —4), (—5, =T), (1,—1) yerafser
@@ Bersgir qpdorser star Bpie)s.
12. (1,1), (2, —-1), (3, 2) aufé Qabgid e i HHeir

. (5 1
LoD (5’ i) sTew B iy 5.

13. (1) (2,3),(—4,7, (5 2),

(2) (1, 2): (0» 3)' (""1' “"2)’

(3 (1,15 (2,3), (=2, 2), ysrofgarred Iswops
wsCaramr et pHSCST (B eowWSHET pWSQNB T H0S i
6T6m6u ?

14.  (8,5),(—7,—5)s(—5,5) yerafiassr @CUrE prpfismp
gperfisir  apemr  puorserauder, (—7, —5), yerelsE
st flgyeirer prararaig gpdorudsd pwSASTrIOSENS &reows.

15. (3, 12,) (6, —2) yereflashr HEHCUr® prpfsop
e flsir Qi pdrsarr@n. i propfompular  apdveusnyssr
(—2,2) yerefuded Qeuig &, stehdfliu Qo epdwrsefar mpwd
Qardvassr wrenes ?

16. (1,2), (0, 3), (—1,—2) ysrafiseh m WsCsrewrd
Seir o_sflaeir ereflelr, b YéCarsrss HHECErHEaf 6
Berih ereirar ?

17. (4, 6), (—8, 10) yereNsBns Cois@d Cariiiy.dor 2+ 3
Sty QeualiGuw IN&EGL Yyerel wrgs? o6 Cariy S 3:2
SHsajliny. QeuelCu 1INEG Yol wrg?
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18. (1,2), (5,4) ysrefalws Gsidgw Gsriiig.2uwrujb,
(=5, —1), (3, 3) yerafia&re Gesisgw Gsriyg.ruw (7, 5)
yerefl @CGr ssajluy. NG sTar Hpieys.

19. (%15 ¥1)s (X2,¥2)s (X3, ¥3)s (%45 Vo) D@ BTpAepulehr
o_sfaarrulsr IYssT ussmisEeisr BOLLdrelsdr R@BCUTE
BrpAspuier 2 &fasr star Hpies.

20 &@srewric ABC-s0 BC-éir p@Uysrenl D erevfier
AB* 4 AC2 = 2 (AD2 + DC?) srar fpays.

21. wp&@asrewrid ABC-& p(H&Gasri@ sowuwbd G ereflsr,
3 (GA? + GB% + GC?) = AB2 + BC2 + CA? erar Bpioys.

22.. Gsreupta  LudpAseafist A, B, C yerefiassr G
Carily & Qusgouearayw C, AB @i 191&@L s36 TS
STQTGYLD ST OIS *

A (2, 2) B (14, —4), C (—10,8).
A (4,18) B (—6,24), C (34,0).
A (1,4) B (2, 1) C (4, =5).

23. (=3, 4), (4, —3) yedrefladr HIéwrscn Gsriiy.Sor
Brarg urstisarrst AsGW Lerefaefissr QwsSCsrosders
& T 63T &5 « _ ' '

24. oo sCarawrsAar Gm wpdrssr (6. —2), (—4, 6).
5B&ECar(h eniouwith oS ereofledr, epsir@eust pdorudler pwd
RQErdvsdars Sredrs.

25. (1, =1), (=1, 1), (x,y) ysrelssTred OLDHS
ap&CGaremrid gFizud sworuiear x, y-udsr wH09%rs Sreums.

6. waCsrawgfer ugly
ABC ws&Garemr A, B, C 2 édlaafisr puddsrdcsasr
(X35 ¥1)s (X35 ¥2)s (X3s ¥3) 61651 1 Q&n6ir Gourth.

OX-&@ Cpiedsrs AL, BM, CNg susrs.
ABC-sr ugliyy = ALNC — ALMB — BMNC.
ALNC @mefley prpdlenpudsi
(Trapezium) wriiy = (LA + NC). LN
=3 (¥; + y3) (X3 — x,)
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@@G’um@m ALMB = ; (y; + yg) (%2 = x,)
BMNC o= § {ya + p3) (x5 — x3)
<> ABC-afr upiny = 3 {(31+ ¥ (Xs — %) — 01 +ye)
(xg—%1) = (P2 +¥3) (x3—%x2)}
(X3s43)

»
Vil = 7

Bla%ors 5SS
A = 1: (%y yo—%2 ¥1-+%5 yg—Xy J’z+xs Y1==X; V3)
= § {x1 (Pa—¥s)+%2 (3—y1) +%5 (¥1—2)}

GO0y : @G ULjmss SHAUGLOUTIE ®IO L b
@L_Lﬂ@l_llﬁ]ﬂﬂ' urdiy BswrSayb, sueolBmildr uFliys @mp
wrsah SGSUUGMS apdsn. @b apepliyg. wéGsrearth
ABC-eir uray Bmswrser, wpéGsrewriy ACB-ar ugdiy
GO PUITSOYLD QasTerer Lo,

'/ ABC = — A ACB.

AWrSCsHow : (X1, ¥1)s (X3, ¥a)y (X3, ¥s) yerafserred
o ps pdCarer SAer Lrliny aererwrudsit, GO yeir aflseir
2Cr Carlydpdgn. @Aadrl vwesTuBSH @rFesrg.phs
ysioflssr @Cr Gariiy.d o arGLr erdrums < Pweorid.
e gIsariLrs, (1,4) (3, —2), (—3, 16) ydrafadw o &7
serred Qarair. (psGaram sHar uyly

=3 {1 (=2—-16) + 3 (16—4)—3 (4 + 2)}=0
paCeu, @i yeirallsedr @ Cariy b o6 arer.
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wrgfl 5:
(L 1)! (3, 4), {5, -2), (4‘9 ""7,) qdraﬁ@%r @%T-ﬁmtreﬁ&r
Gareir. prpflenpuder ugliny ersirew 2
A ADC =} {1 (—T+D+4—2—1)+5(1+7)}
= 1 (~=5-—-124-40)
23

—

20

|

X

A ACB
—1 {12 +5@E—D+3(+2)}

—1(—=6+15+9)
9

prpAemp ADCB-air uptiy = %25 +0 =20},

wrgfl 6 :

(0, b), (a, 0) yerafladar PeowsGw Carin.b (X, y) Lyeraf’
Astugpaiu R erdrer ¢

':9”5 .@%Duﬁlsb (09 b), (as 0)’ (-x’ .V) Llsirmﬁasm‘rsb é]@lﬂ‘fjisﬁ
Q&GarenT SHr Ll 56 aTarGLh.

%y {0(0—y)ta (y=b)+x(b—0) } =0

(-8) ay—ab+ xb=0.

x* ¥ _
(@-a) ;+3=1
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1. YGereumn yedreladr o dfsarras Osrair apd
BarewrBisafssr urH@wéd STRTS :
(1) (29 3)’ (3’ _1),» (""'4$ 2)
(2) (‘ 2: 4) (109 "'—2)9 (_29 —'8)'
3) (a, b+0), {c, b——-C), (—a, c).
2. ereuto yeraNadw wirEarsd CQsradr Hrhdanp
seflehr LFln9%Bws Srews @
(1) (""’19 6)9 ("‘3’ —9)’ (5’ "'8)’ (39 9)'
(2 1,2), 2,=3), (—2,4), (—1,-5).
3) (6, 2), (10, 16), (— 12, 6), (— 4, 18).

3. Qereumie yerefsdr Gr Garig gyshemr Lol sfissir
Ter Bpejs :

(1) (—1, 6) {(— 10, 12), (~— 16, 16).
(2) (10 —1)9 (7! "'4)5 (""5’ 2)'
3) (1, 4), (9, —2), (5, 1).

4. (0, 6), (—15, 1), (—3, 11) ysraNadwr o FAsarsad
‘QaratrL. ABC y&Garawr $S6r pH&GasrL® senwowd G srefleir,
‘GBC, GCA, GAB w&Gsremriisaisr uytit], updCsreamr SIS
apel fled @eiTm T g B pieys.

5. (2, =3), (1, 4) yerefadr Qeuréghn Gariigd (X, )
Lysir ofl Gaptnlesr x, y @eugd Plesr QpwL_iry sTereor ?

6. (1,2), (2 3): (x, 4) yeirofadr o_sfasorred Clorebri
WéCarer $Her wugtiy 40 sgr so@ssr (Square Units)
-6reoflgdr X-r WAy sreiver ?

7. Qumiguarseh jupdsr sosur@sesd (Loci and

their Equations)

phiar ugdasaisd yerafselsr saflldseoll HE&vemw ere
Siigd sL.Houg ereruGupP0 urigsCasrw. @ uGHudd v
ysraflsaficr Hdvemw @ar@ilid @ALGO@L s ez uril
Qurid. afd Quirer B pH HewrmiiBi)eir or Ljsir eflselr ) Sor SewSi|Ln
ST pleisads @PHMI Huignb; Srpir@s @.6er Lsref
6t QErpGaidad AT surgr. @Cr GCsriy sidrer
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yerefasr T SHBLLD R FLOG LITLL-T6H &P apg.ujih.

sr@g}gas&m_ureﬁ,
p(l)) (1, 2), (3, 4) ysrefissr aufd GEsbgun Gariiiy e
2 qmaﬂ@mrrsar,@m‘ SpuSAsTIOSEr X, ¥y erafldr oo

yeref@enrTedd JDWHS Wp&GarenT HH6T LFLLEF 56T T LT GLD.

psGan, § { 1@ =N +30 - +x2—4)} =0
(e-m) y—x =1

o6 Gariy gisrer  ysdrefiserSrssr X, ¥ pud
Qardvssr & &FWETUTL Q.60 QurGhSls. psedsr, @
9| Ty ZrGu @H&GL0.

2) (2, 3) yarefuleBmis (%, p)-r Qaprdv 4 gpulsr
(x —2)2 + (p—3)* = 4%

(or-s) ** +y2—4x—6y—3=0.

8 suwetur® (2,3) yerefloow obwrrsayn 4 Gpeny
Wrse] WL Lt Smad efsen. PpaGar, o G
AL $H T Farur( sTears Sapliu(Bid.

)l (3, 4) (2, 1) ysolasans@s s Qzrvuldmpagn:

( deﬁasaﬂsu parpl (3, ¥) spuder

(x—32+ =4y =(x—2) + (y— 1)
(s-g1) x+ 3y =10

whSw vl pHsefied, RCr oo assouﬂ,suumrqmv_m yeraf
e QussD @B FOSTUTL DL S SLD 67T60T PILD, BjFFW6STLT(DH
yerefludsir Quisigeusnyullsir swdrur® pGD sTeiT P DB -
Garin. QurglusLwrsl um yedrelsdr o ol Hbdemris
BedsT e @i GuBigaamyuls Sjeiowjn. @it Ly aflseir
D& SSHIEGD QUT@SHuid, DHED LPMPL Ll 6flsHEGL
Qur@msslsr Puyh sreoriu@n Fudrur®@ RuiiGsuenyudesr
Fuerur® srerciu@in.

o audramyuisr (Curve) persfhs Uy @6rHlEsd
Sipeir FusTUr® sewr®, (96T ari I BT eurudeor s  eudar susmy
wWer we URTLSHTS asrr@xsugl Bé saflgsddar AphHs
GBr&sLrGLo.
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8. Aeraimeam SHBS5SGUM ¢

1. x= fQuew. BH ¥y BpusCsr® @ECurstear
Garilig er Fwerur(.

¥y SpusHer swadrur@®@ x = 0
2. y= B%0usr. QH ¥ HusCsr® PGCUTsTT
Gariig et swshur(.
x gpugdear eusrur® y = 0.
3. XOY Garewwr 5867 Fuobleuy X = y.
4. XOY' GarewrsReir FuoGaig X = — .

wrgifl 7 :

0, 1) yeraiuleBmEy o drer GQardoulsr @G LLEG
x QpuS S8 b isrer Qardouras Qaraw® @ LsTall Guikt
Quefler, D1 yarafulsir Guib@Geuenyé FnssTur® eTerer 2

Bles P& Hewrmfus yerafsaied germ P (X, y) erstrpub,
N0, 1) ersorpgid @srarGsurth. * pWSIHES CHIGSIra
PMsp auemps.

3 P =y’
©
N
x' o M %
Yy
ues 9
PN = 2PM.

(oi-5) PN2 == 4PM2,
(o-&) 32 + (y— 1) = 42,
(- 9) x2 =3y —2y +- 1 = 0.



el ol @ EHLD Fwiriie iy & @HLD 15
wr@fl 8
(2, —3) (3o 4) yeirefader Bowrsgn GEriiy.or 5B
@556 Garigsr (Perpendicular Bisector) FLo6ir Lreiq. Zard
@:mr‘cir&.
FHa@SEs Gariyd Godn yedral gdiGersdr o
A, B-&@gé suwlgriveisd AmsGid. BHEGHIHSE Csrig.ed
Smagh yarefaefiso parm P (X, y) adry eoadsEQsrer
Qeurih. _
PA = PB.
{=-z1) PA% = PB2,
(x—2% + (3 + 32 = (x—3) + (y + 4%
(Si-5) x—y =6

uilihdsar 3

1. (3, 4), (5, —2) ysrefia@pé& G wbsrdveid Smdgtn
et afudeslr Quisi@sueny X — 3y = 1 easdry Bpays.

2. (3, 4) yerafuleB@mb s @ Lsrafludsr Qzrdw 5 =y udsir,
Bjser AuBigeaieny x2 4 32 = 63 — 8y = 0 erar Hpiays.

3. (2, 1), (1, 2) yerafiulelmpds owm yerefuldr Ggrdv
- Wlemiufsirer sy 2 : 1 erafleir, Lysirefiulssr Quiki@eueny ereireor?

4, (2, 3)s (3, 2) yerafisaledmba @G Ldralulsir Qgrdo
safldr Qmui-d ML BS0srses Boowrarg sreflsr, o
ayerafuleir Guimi@eusny eTeirar ?

5. Sereumh SuiBiGamysSr s
(1) y= 3% 4.
€2) 3x+2y+47=0.
X
®) 5+ ’; = 1
) =4 yr=0.
(5) %2 4 y2 == 4% o G — 3 = 0.
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6. (2,3), (=3, 4) yerefsCearr®@ Soyg 85 wrlijemi_uo
0 WsGBsrewrtd emiow @@ Yeirell GuiniGQoshidr
(x4 5p) (x 4+ 5y — 34) = O erairgy Pmeys.

7. SpHulelB@Hg o sirer G srSvulesr R@L_EIG ¥ s
edrer Qardowrass Qsrew® @@ yearell QuitkiEQueflsr,,
D] S6ST i euenyudsst FneTLr( oreirer ?

8. A, B fwiysrefissr (a, 0) (—a, 0) sreflsir, Geiraupn
Afsaflsruy. Quiig P ydrefluder Qubigatenfs s
uritig Zord Srewrs

(1) PA?2 4 PB? = B&0oGusedbr,

(2) PA2 — PB? = 2K2. (K §%0@uissr)
(3) PA +PB=K. ( . )
(4) PA =K PB. ( 9 )

(5) PA? + PB? =2PC% @um@ C ysrafl (c, 0)
(¢ PBQuaN) @b,

9. @@ yerelldar (—1, 0)-e@pbgidrer Qzrdw,
(0, 2)-emhgisirer  Gardoudsr qpior.dily  ereflar, o0
sirafulledr Guibi@sueny wrg ?

10. @p&Csremrin  ABC-sr qp¥raserrar A, B Br@so
(1, —6)s (3, —8) erabrpd, C eufiéd QFsbaid BEHECaTL iy 6r
forid 5 erairpul@ndsr, C-udsr GuibiGamruidors &rers..



2. Carmser
(Straight Lines)

1. sz @@ yiadlssrudls Qedad Cariysr Fwsr
L ur@.—eH53 ysreflssr (X, Y1), (X2, Vo) ereirm Garelr
Geurd. Youpperuwfs Qssbaud Gsriliped o erer Lysref
assrﬁsu speirmer P-gp (X, y) ereirm Q&reirs.

%5(85”- (%5 ¥3s (%41, yl)’ (%2, ¥2) @CF Gsrilg.d o_srer
qarsrﬂassrrfr@m
~ Ao ydreflserrd mwis wEGsrarsHar uriny
ST ETLOT @D o
2 {E O = y2) + % (2 — ) + %3 (¥ — y1)} =0.
(2-g1) %(yy — y2) — y (%1 — ) + X1pg — x5y, =0,

(91-g1) x(yy —yg) —y(x; —X3) + X191 — Xy,
+ X1y — %;y; = 0-

(BN-g1) X(yy = y2)=y(%; — %X2) + y1(%; — X3)
— %3(¥1 — y3) = 0.

(@-g) (x=x%,) (1 = yg) — (¥ — y1) (¥; — %) = 0.

W=y o 2,

Xy == Xg Y1~ Yg

84 Carly dr (X3, Yg) (%1, 1) ydrefssrafs QaebsyLh

Casr(® sTard SBHH @0, G BT FLoeTuT®
X —Xy _ Y —7s
X1 — Xg Y1 — Y2

Dp&HL0.

APtgrs wep
A, B yerefissr {x,, yl), (X3, ¥g) sTarpith AB-sb 2_eirer
2@ Yeirefl P (%, y) sréirpid Qsrer@surin. AM, BN [aupsop
0X-é® ooCurasrsann, AN, PN Qoupomsp OY-s5
2



18 QWSO ST ey 61 Fewf) GLi

@oCursrsaji amys. AMP, BNA aig Qaurgs wpé&@aremris
seir (Similar Triangles) sreirgy srelfH @rewrsorid. '

ASEL )

14 )
L"'% [
>
(F‘.%’D M
/?7 N

vy
X' 0] X
\A _—
W0 =10
. AM _ MP
" BN NA

wrHf 1 . .
ABCD prpAmpudsir e_édaar (1, 2) (— 2, —1), (6, 8)
(3, 6) sreflsir QRO SOl FLo6ir Lir HsdTd: STehrs.
AC sy A (1, 2), C(6, 8) vsirefs2r @ auwré @
GarL.r@ib. ~ e
" e oy x—1 y~2'
& AC-ar m:nasrurr@ T—6™ r—%
, (o-8) 63 —5y=—4.
BD epevsusny B (=2, —1), D (3, 6) ysirafasr B%wr& @i
GaErLrgt. ‘

& BD-&r gwerur® B S y—6

—2—=3- -i=%

(S-g1) ~T%==5p =—09,



CsrHser 19

wrHf 2

(1, 2), (=3, —=5) (2,3), uysraflsearrst Howhs
p&Casremr ST pHSECasrHEelr wremeu?

A3

D
8 -3.-1)

: uth 11

B w&sGsreamrsmap ABC stard Qsradriredd, dsdr pEHE
Gsr@ser AD, BE, CF. @mg D, E, F BsyG» BC, CA,
AB-&r B0 Yeiraflserr@io.
—34+R2 —5+3

D-&r gpws Qasrdossr

2 2
(@-8) D(—j, —1)
. " x—1 y—2
AD-6ir Fusrur® T+1= 271

(-8 2x=y.
Auor §NGw BE-sir swsrur®@  5x = 3y
CF-6ir susrur®  3x = 2y
-2, Qumsaled Qaul @Fgisw@aarred (Intercepts) Smme.
1607 FOGTUNL 19 2T S &ITemTed :
ABP Gar® wpwiisdr A, B yeraflsafisd Qeur B erer mith,
OA =a, OB=0>b ersirpib, @& GCarliy.srecsr Lerafwmr e
P-g (%, y) stedrgib Q&reira.

: | L :
o> \ 8
Lo.b \
x 0 = A\\x
{a,0}
13.
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H&ECey,  (x, ¥)s (3, 0), (0, B) yereR@sarTed o bs
Q&ECaETemr et LFLIL ST TLOTEGLD.
¥(O0=b)+a(b—y)+0(p—0)=0
bx + ay = ab.

AT .
St =1

APfgrG o

0X, OY puiia®r OA =qg, OB=b 35 Geu (B
Cariig gudrer ydreflaener germar P-g (X, ) steirm
Q&ireir Goureh,

1Y

y1
_ ap -3
Rrig OM = x, MP = y.
MA =g—X.
AMP, AOB auy.Qeur$s Wp&EGCaramr IS o S5e0re
- MP_ OB
MA T 0A°
S, By
a—x a

(91-8) bx 4+ ay= ab,



Gar@paser 2t
FSTLTLCg. &or ab-wrsd uGSsrd

¥,
e Ak

wrfd 3 :

(2, 3) anfl&Qasoauh Gar@ OY - Wplhisgn Qau@s
g OX- 1piissn GBS STy s QoL ki
QuilwsrAer, & Cariln 6r FLO6ET Ul g.&wd ST 6T .

A\Y

B

2K

{y
uLio - 14
Ame 2 OA = OB.
OA=k erefleir, OB =2k.
Sp5Beu, AB-eir sudrur®
g

8% Car® (2, 3) anfié Qebaiswsd’

2 3
Et o=t
7
(o-g) 5p=1; k=’2Z
o Gariigeir Fwedrur® QZF + %’—7 = 1

(o-g) 2x+y=T7-

-
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SHw QST allg U HeawflFLs

wrFfl 4 :

SpuBisefsr Seooute. (— 2,

3) eaunf&QFsvsvith

Garig &r ugHmw Jlydefl 2 : 3 saaéECGspurlt 1NN Ner
Garilig &1 Fsrur® srerer €

(— 2, 3)-; P srareyih, OA = a, OB=0b erarayib Qsreiras.

paGsy, A (-a, 0), B (0, b) syeL0.
AP _ 2
PB 3
P-eir gpuwisCrioser
3a 2b

5°5

VL0 -5

3a 26

2psGal, ——2:—--—3——,3-—5—
S { P b
Loa=-3, b= 3

AB-gr Fuoerur® :{b + % =1

) Y
hedt=s S (e
3 2
(@-g) 9% —4y +30=0

TN



CarHas oh

| leafldahis Cosmiyhe ooryd GCrigsss
GEr®, I&ECar® x puFCzr@ WpLulsghd GCareawbd
Baupfer qpeoid CHTLIg.6ir S1OTUNLIp.5TE ST awTe0.

with 16,
‘ G P8mis AB-$@ suepuud Gpigsms Gar@ OL
== P eT6Hr Gib, XOL = ol eTer Pith C\BIrevsrimed
OA = psec ol
OB =pcosecol ¢« Vs gl
g * 10 6} s I .
2% QBariliger FweirLir(® OA + OB = 1

- G ¥ -
(si-a) p secel + pcosec o 1

{9-5) xcosof+ysingd=p

Goluy : Garlyedr op A2oulgih p-sp BevswrsGe

A
amA XOL Cararmg OX-dmhs Gwurs ST hsred H&F
Fwearur® b HB0&GSHerd Qurmsgih.

Y
\\ B’ V/
L wats
Pl PN
X o AN » ’V A o x
y! " ¥y

() | | (i)
ety 17,



24 W SOSTIO ey o Sl GiE’

y rsl:
A o dv ,'-i:_
x‘\ p/}) o G A/
x\
st B \JJ K
= 8 L
yl
y! .
(iii) (w)
urth 17,

stéboor HEvsEnEEL Gariiy.6ir FLo6Tur®
xcos o +y sind =p.
4. x uitsn@ Carewd § sTisg ¥y JusHe
CaLl@$ gian® c Gphl&@n Cartiger gwsrur@.
¥

B x* 0 A %
x_~A of *® - -

f’,ﬂ‘”
Y y!
i Gi)
Y y

(\i) Gv)
A uesd 18,
| (10), (V) Ldisefieh ¢ wyd, (1), (i1i) L risefed X-gpuid
et QuLBS HWTHSL GHY WAOILDLWRT.  sTEOF



Csr@asr 25-

aenESeNaId  Gpwikiasefsir Q@L@ﬁ@m&r@adr penpGur:
— ¢ cOt f, C sTGT 6TeMNEDH STEWMTeOTLD.

Garili.6r Funetur® — 5551:—() 4+ y

(3-51) y =xtan g 4 c.

tan § o0 ubd m THTHY TWPSING PSS,  JhHSWIT D
m, ¥ 2pwsSCasr@® GCasr® WpPL9&GL G&nmgﬁm BmEmE-
emwd (Tangent) GH&GLD.

Cariy.65r Fwerur® ¥ = mx -+ ¢ 6T b eu(HLd.

5. Ax +By + C =0 suwarur@®@ o GCasmiiylarGu
GO&EGD eTar Bl mia|S5o.

(%1, ¥1)s (X35 Y2)s (X3, ¥3) Yeirefaer Qéaiosrur® SH0
9@ RuBigamyudsd e srarer eTaTm GaTsirGeurid.
& Axy +By1 +C=0 '

AZ; + By, +C =0

Axgs +Bys + C=0.

@& swarur@adr apCu Y — Y3, Y5 — Y1, Y1 — Y2~ hoo-
QumSED su@lb QBTMEBHETSE FoL 19 63T

A [xy (Y2 —yg) + *g (¥g — Y1) + X3 (y1—y2)]=0.
A-&@& adrer Al §ebevGuwistsir
%1 (Y2 —ys) + X2 (3 — y1} + ¥3 (Y1 — yg) =

Sograugt  (F1, y1), (Xo» ¥2)» (X3 ¥3)s  yeirefiserrsb:
Imups pECarewr FHr Urly SSTeNLTGL.  JpEBeu,.
@b glystefsend @Cr Gsrilgd e ar. @ efwbi@asny
ufed apedt g Lysir el elr sTOSBTL D weu apst mih G Gsrity sb
Bmousre, G elwnigaamr o CarCLwrg:.

A9GEsrH Yap

- @ ewmigeuemrudsd o_eirar P, Q ysrefisafisr puis.
Qzprdvsdr (X1, y1)s (X35 Y2) sTars Qarairirsd

Ax1+By1+C.-() :
Axg + Byg +C =10 we (1)



26 DpWSDSTE el 61 SewflGl

PQ-;3 R, K:1 psaaa@spul ONssred, R-&r pws
Qs rivaer
% + Kxg 1+ Ky
14K ° 14K
B yeir ofluth uubiGeassnyuded G)wrndesr
A (x1 + Kx5) + B (y; + Kyy)
14+ K 1+ K
(o-8) Ax3 +By; +C+K(Axs + Byg +C) =0
K-air iy stgauruign §é sC@our@® (1)-gpsd e airamio
wrgh. K-t wiysesgy Gpifdowrs P, Q yeraflss
anfl§ Qasdguh Gariliy.cd o_srer Lerafiseaflsr opwsQsrSvasir
aimh. opsCa, P, Q Quigauamyuld Qo yerefisdr stard
QarerLrd Sjeupop HeursGn Gsrig ister Ljsreafssr
Srsgin Qe cuBiGumrulss AmEGL. sTarGau, Felt
ewbi@ ey @ CarCrwrgt.
6. @ILGLL Garin Sl Qurpds eredsd A, B, C
B&oQuishT ST T GLD.
Ax + By + C = 0 Garily.6r ‘m’-;é &Srewr y == mx - ¢
UG LILIg. 6T (RSB Cauahr(Hib.

+C=0.

OGiur m—--—-é —-—-(—:'
é’ @é‘ = Bs Cc = B

84 Csr® ¥ HuHCasr® 45° &milipSwLulsir
——% = tan 45° =1
A e —B
Quayb, B& Car@® y-PwsHed QoL@ aar® S

Rl % =5 - C=—5B.

o ECGeal, @& Carig.ér Funsdrur®
—Bx 4+ By —5B = 0.
(Dgrougl) x—y 4+ 5 = 0. ,
Qeusury  GPOEOCL. @ GCorilig.eT  FLETLIFLKG. s 6T 6T
ARS8 S ST Gwigdiih. '
x apuGECar@® 45° enips y P Qai® Sl B
S-gpit ApO9&E@n Car( RETHISTT 2. .Q(H.  hHMSWITED,
gadeaurgp Carl@asn 96 HWower Qgrii (Set of
. Constants) o_er@®. svworpi wjeornder Fnedruriig.s aypLo
HeuQer® HECwa ASrL (GG L R Car@ o (®H.



 @sr@assir 27

I 7,1; Blasrgid e Csrilydr swarurityg dortt LusbGaum
Spured sorGLrn. e LG au@LOT D :

(1) y=mx+¢
@ F+i=1

{3) xcosbel—i—ysin d=p
(4) Ax + By +C = 0.

©Pss Ao ysrellsafdr enfié Qedgib, IJdog GPH55
CursGar® GPsSs GCarawrsmsl Wplsss GHSS
yerefanfsd Qasvgun ereirug Gursrp @@ s @OUUr@Gasr
o mrw sm Carlger swusTuringed Sepdr Qsrifupp
B sTomser Epe@Ln.

BIETSTaig wuens Bidu wHompw aumssefGasveorD
B sTarsGar aor. BHreTEToIG aumSUTh ApsiTmy 6T ST & 6T
" @LG9eih b apsTmer @F T ZTSCOsratT(H UGS
BB sTarser eufSFQFiieord. THSHESTLTE, B b
SUGSHSTL HreTSreaugl e ur(
Y == — éx-—-g 6T6HT [} 6u(HLD.
B B
s A C , 2 i "
ang  — g=M —pg=¢aap O&TarLred (PG aImS

Wrer Yy = mx -+ € eupld.
C . Ax By . .
— C @b ughpredd — -5 — F = 1 evelr @ Gu(mHLDe

ahng — A=0 -'--g = b eréiry Qaraurired E)rair_reugi
%20 ¥ 1 o |
uDSWITET -+ - 1 eugpib.

A/ A2 + B? gh6b sugssred

MET S x+-————~__f’_y:——-—~-- c 6T 65T I QU(BLD
VAZ 1 B VAZ t B2 VAS o Bs 7T SO0
A

= O % % in P N .
8 ol eTaUSE O&retTL-rsv, sin of JA3 TBa

- p oTord @PSSTeL [BI6T &1 UG 6. 6N IIT T

A2 + B3
LR LI
VAT T B

x cos o + ysin ol = p augpLo.
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Ba@v, R uMSIL LHOWH UMSITE LOTHDEOTLD 6T Di
@] PLI6OF L.

glow uemsssr. (1) (%, y;) ywaflauflé Qeoaub

GOSS ‘m’ smile) iz 2 mLw Carilipdr Fwarur@.

y=mx 4+ ¢ erars Gariliger Fwadruriigduwd QETer
Gsuridb. (x; 1) afwrs @& Gar@® Gadeusrdd B§& FLo6T
uTiged X1, ¥1 SewrbiaGeucor(Gi.

Y1 =mx; + c.
(2-81) ¢ =y, — mx;.
o &Cou, FSTLUT® Yy = mX + Yy — mX, 6T 6 DI QUGLD.
(@-g) Y—n=m(x—%1)

(2) (x1,7)) auf OX @@ § Canawrd APEGL Cawiiper

Ferunr@.

P (x, y) erérgub, A (x1, y1) erebrgnd A-uiedGhgr
P-udsir Qardv r ersirpiud  G@rsir@eurtt. AM-g¢  OX-&@&
Bowrwrseyn, PM-gp OY-4@ 8 %mrwirsa]n aismnys.

v
LA
A ™
/\9/.

x of *®

¥ 3
wiio —\9
AM = AP cos §, MP = AP sin g
Qi AM = X — X1, MP = y — y;
& X==Xy=rcosf, y-—y; =rsinf.
B)é Cariliy er Finedrur(®
X=Xy  Ye—y1-
cos § sin ¢
Gk tan § = m erefler, y — ); = m'(x - X1) eTsiT g GaEmrel.
19 67 FLosTUT( QI(HLD. :
Geusumaswred PS5 B yeh afisefidr aufsF Qesbgin
Garilig e FeaTurly.S&mé Stewrsvrid,. qTOHSIIGSTLL TS,

7.
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(1, 2) (3, 4) @Pss Bw ydrefisedr stard GererGeurid.
@aritig.er sriie) ofsh ‘m’ ety Qa@rebrird (1, 2) euf
Bé Car® OFsoaugrsd e Fwsrur®
y—2=m(x~1)
(3, —4) yered & Cariin.cd Gwdsedsr
b= 2 =m{3=—1}
m=—3
GGSH‘I:.lq_GBT FuoaTur® P—2 = =3 {x— 1)
(S1-51) 3% +y =75
Beumsurd @Nds ysiel (X1s ¥1)-0655 s Cariiiysbd
BméGh Yerel g6 fidr Qardv Gzfwenflssr o qarsrﬂuﬁ!m
SHWSOSTIOSBT sTaflS D &irewwrsorLh.

DEmeY X = Xy 4 rCcos . ¥ = Y1 -+ 7 sin 4.~
wrHifl 5 :

(4, 1) yeirafloud ¥ GpuwiSCasr(@ sniq 135° Apnis@n Car®
suif S0 yerafludedmba 3% ==y = 0 Garily.6r Qsr®v srerar?

(4, 1) aufl x QpuSCsTH snlg. 135° ApnI&GG Caritiy 6r
%=—4 _ y—=1
cos 135° ~ sin 135°

5. @ECasrin.eb (4, 1)-0pha r Oardvdsiiured SupdgLa
yerafuldelr pwsOsredvadr (4 4 r cos 135% 1 4 7 sin 135°).

: B oo e, l;)
(o1-8) ( V2 ‘3 NG
3% —y = 0Gar® (4, 1)-6\9@,&3@ @a‘s Gar@eonf r Qsr¥vs

Fioer ur® =,

SLLired G Dedr (4 2 1+ —\—/-2- Lysirefl 3% — p = 0-6b
[GEIGTHE ‘
(- ) (Lrgg) e
S N2
4

¥ ,',x—.xl y—*yl JG——xl .__3’_'3’1
@My, TR L W Casrily. &w —— T W

sTair g T Sl G o &TH. QEig 13 4+ m? =1,




30 SHWSQGroV augou Sawilgl

9. Ax+By+C=0 GCar@®, P(xlv yl) Q(x29 yﬂ)‘
yerefladr @)% &g Carliylor oF geaiuy Ifsg0vars
GG,

Ax+53 0 =0
ww-20

Ax 4+ By + C = 0 Garily.8or PQ, R-0 Qo GQuearajd
%% ~ K erarayib @asnsijcsm;rm.
i 5 A%ouded R-6ir hu1 50 sr&ossr
K¥% +x1 Ky + 3
K+1 * K+1
Ax + By + C = 0-&0 R @mdseBsir
A (Kxg + X%1) | B(Kys + 11 +y1 —
T K41 + K+1 Fo=4
(S-51) K (Axs +Byg +C)+ (Ax; + By +C) =0
K o= - Ax1+By1+C
Axg + Byy + C’

AtrECsHpd : 1. Axy + By + C, Axy + By, - C
SCr @ Pumiwgni QuLideasr K-ar wflis G puretb.

op fouid R, PQ-&@ OaualCu @mésin. «psCa,
Axy + By1 + G, Axg + By, + C 9Cr gy wgrler P,Q
L'Gﬂstﬁ&m Ax 4By + C=0 QGariy@miss 96 u&&iﬁ ;
SATUTGSLD.

A%ribsppd : 2. Az + By; + C,Ax, $Byg +C
wrgiutl. §BueLwsridsar Ax 4+ By 4+ C = 0 Gar@ PQ-g



Gar@Hssir 3t

Qau@ib ysirel R, PQ-sr o drefi@mssn. b Houdsd
P, Q ysreflmsr Ax + By + C =0 Gariysdr G Usss
ST GLh.
orifl 6 :

y—x+ 2 =0 Gasr® P (8, 9), Q (3,—1) yeirofadr &)
@hBariiy & R-ab 3:2 erirayh gaafldh WN&GL eTar Bpias.

Q (3,-1)

uuf)- 24

= K ersirgy Qa&meirs.

.RQ
2 : .3K+8 —~K 49
R-6r &bug@;ﬁw%uasmK T K1
R gpargl y=— % + 2 = 0-b Qwsselsr
—K4+9 3K 438
K+1— K+1+2==0.
(-g) —K+9—CK+8)+2(K+1)=19
. _ 3
S K=3

R 3

R0 = 3

g

Q

'unrglrﬂ 7:

3x =2y =1 Ganrnpe HpHidar stHic ussSH e,
2x—3y =1 Carnpy pHdsr sbr usssPain (3 2)
yerafl a.er® erar B pieys.
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WwapCsrily &ér sudrur® 3% — 2y —1 =20,

Ax, + By, + C, Axg + By, + C urgiuci Gplujomiw
srudariAx + By + C=0 Gariny.sr G usssAsun (X1, Y1),
(X2, ¥2) BGSGI0-

p SIS 3% == 2y = l-air Sy — 1.

(3, 2) QL-H& 3% — 2y = l-6r Ay + 4.

2p5Cau, A, (3, 2)-b 3x=—2y — 1 = 0-58 Lo
uEsSHH W @6 o 60T+

ab;ﬂuﬁh_{ﬁg] 2% == 3y — legir @iy =— 1.

s 2) @G B 28 o= 3P o= l-gir oy =~ 1.

e_%as@m.l, (3,2)-1b, gpPHuyih, 2% = 3y —1 = 0-&g Cr

udbadhded 2.6,

uiipflasr 4
1. Wereumh CarBseflsr erilea) of smisedr wrams ?

1) 2% —5p=1.
2y 3x +4y - 2=0.

Xy _
3) 4+ =1
(4, xcosol + y sinol = p.

2 Geraumh ysreflsdr aufl§ Qesbgud Gariiy er s
ur g dords &ir e &
1y (3, 4)(—35,6).
(2) (o 23 4)9 (0’ 1)'
(3) (2& - 6) (""‘ 3, 7)
{4) (=1, —2), ("‘" 3, “""‘4.)'

3. (1,1),(—9,5), (6, — 1) ysirefaser @(Sa' Gariig.ed
2_srQsuer Boe]s.

4, Aeir oumeh FLosTUTHST Qo BSsiar®  umalug
TS, apwmSeTed 19 péEn Glsur..@gglm@&%’maa SHFQW S °

(1) Tx— 8y = 15.
(2) 4% 4 5y =12 =0,
(3) 24y =6.

(4) 547 +8 =
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5  \Qeireumpit Gar@@ensr FLosTurLg &ord ErErs :
() (—1, 2) auf) —8 sriue] af g0 o_mLw Gar(®.
) x pusdd OCaul@®s Gar® 4 19 pL19é @b,
(2, =3) sufl§ Qesoaud Csr(.
(3) @d, (2, 7) ysrafasrafé Qeogin Car@.
(4) p =75, o =135 e Gar@®.
5) (2, 5) anf @puiisid FLQM_BS SiawrHaEsr
Oplin9segn Gsr.
6. Uareumn awsrur@sdr xcos L +p sin Jd =p
aenEdG DS @ ‘
(1) 3x + 4y = 15.
(2) 12x — 5y + 10 = 0.
7 3, 1), (5, — 1 yereflssraufly Gasvogih GCar(®
@pwiEafe Fudal.HS g atrGisdrl D& @h erer B mieys.
8. et ©PSs yerefserred wwps  pdGsimeurd
HeMesr LSSBIEHTES STETd
(1) (2, 5)- (39 2)v (09 - 3)
2) (—1,2), (3, 2), (—3, —4).
9. (1, 2), (2, 3), (—3, —5) yerafsarTsd Hemwjs s
QGarewr 56T pHSCar@ser (medians) wrmar ?

10. 2, —1), (1, 1) yereflser 3x 4+ 2y = 6 Carily Ms®
2P USSSHD o aT[H, QoI THTLIMSE ST VTS,

11. (1, —2), (3, 1) yareladr Qeursgn Car® (4, —1)
(—1, 1) yerefadr Gowsgh Carindwr oS sSSajliig
19N& G ?

12. (x4, Yo) Bouysreflanfs Gesbaud Gariln 6r
Gpuisefam_inlL ugduldsr pEUL el QuikiGeausny

x
ﬁ%—i—’%zl srar Bpeys.

13. gpuiisdr Sorlule. @G Csriugdr ugdsow
{x1, 1) &w ubsrsh 19issrd, GCarTinedr swdrur®
x P

3% 4+ T 1 erer Smieys.
3
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14, 4x 4+ 3y = 12, 4x 4+ 3y = 3 @@Curasrar Gsr@sass
SepLlsd (=2, —7) anfié Qedgih om Gsriger Berid
3 srooflsir, b Gariily.ar FarUT.&ord Srer 5.

15.. (3, 5)s (4, 6) yerafseranfs Gadgud Garii.er
FusTur® erarer ?  Spubiseiisr oL dule. §é CariGu
ugdulsr Ber ereirer 2 QU ugHow x = 10 Car®
T sEeCug. 19N&EG0 2

16. pur@ Grrfowellsr puisselsr el Curi
%C08 ol +ysind —p =0 Gar @y ugduledr pEOLTaR
BuIEIG) LT DUIS SHir 00T »

10. @@ Car@adr Gal @b yerefl.
Car@aefsir swarur@ssr ax + by + ¢ = 0,

@ %+ b1y 4+ ¢y =0 ersirgy Qsrer@eurid. @& Car@ssr
Geult@Gib yerefuder pwHQsrdvsst H& Fsrur@seafish
Qurmbs GoualrHib. Bp5Cat, Q& FusrurHsdar ell[HelSsred
Qsus.(Bib Lysirafuieir QS0 STeVS&TE Srewreomrh. Ceul Hib
Lysireflenu (X1, Y1) 676 Q1 QT audrimed :

ax; 4+ by; +¢ =0

aixy + by1 +¢1=0

X1 J1 !

beqy — bye~ cay — cia  ab, — ayb

steor Beu, Gau” (Hib Lysiref ( Sy

Gy : ab; —a:b =0 erafllsdr Qe @b yerefluiesr o
Qardvasaisr WHLLD QUI@eT DPSTS 6T DSI.

ab; — ayb =0 ereoflsir :g — 757‘-11 b fould o Csr®
s@ph EGurasraramer sTerpl 13gpaus UGHTH B pieuds
u@i. '

11. apary Car@ad @Oy ysrelleufles Codagn® sﬂﬂ.
Gar@sefsr swarur@sst ax + by + ¢ =0,

a1x+b y+e1=0, ax+by y+ca=0 erabrpy
O ErerGeurin.

B ppaGarBaesin Cr drefafs Qass, apedrmeug

Car® wasd Bo Gar@sdr QuU@nh ysraflafs Gedgigd

Couatr®Lo.
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NN as GarHssir Qau(Hid yysirefiumeus

bey = byc cap — 12\ 5 e i
(ab1 —a,b® ab, =arb eLpesT (136U i @dﬁm';l..lq_é’o SGlausTs

bCl o b]_c cay ¢4 _
92 abl——alb +b20b1——-a b+c2 =B

(91-g1) a3 (bey — bic) + by (car—cqa) + ¢ (aby—a1b) = 0.
wrgifl 8

2% + Ty = 25, Tx—2y =8 Gar@ssr Gean (Hid qmwﬁ
wir i ?
Geuelm susrur@sr 1HeNSsr D
2% 4 Ty —25 = 0.
Tx o 2y — 8§ =0,

. 2 SN
756 —50 — 175 + 16 —~4—49
X _ vyt
(I8 —q56 =159 - 53
x =2, y =3

QeuGib ysiref (2, 3

wrHfl 9 :
5 =3 =9, x + 6y =8 Car@sdr Qaun’@Bw yeiref,
(3, 4) yerafl Heweu oufs Qesvgud CsTily.r ewsrur®
sTeiT 6T ?
ppopamr Sx—y=9, x4 6=8 Q& GCar@Gssr
Qaul (b yerafllemws  srerGeusr(@b.  Geusils  Fioasr
ur@s&r HSsred x = 2, y = | 6167 pI ou(pLD.
QsuL B yeired (2, 1) Speib.
araxr(Seu, 2, 1) (3, 4) yedrafissdianfs Oesogun Gar®
srewTsd Coustr(Bin.
1063 y—1 _%—2
I ser FLosTur(® 2= 5 -3
(o-g) 3x—y—5=0
wrHdfl 10:

X—6y+a=0,2%+3y +4=0, x +4+1=0
Gar@assr oGr yereflauf§F Gasdrmsd a-6ir wAliy errar ?
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2x4+3p+4=0x+4 +1=0 Cor@sdr Qo (Bin
ysirofl (— ! g) aor @F swdrur@str  GAsaE
&1 GUOT GO LD,

@Lb apsirm Car@aesn  Gr yereflaufsdE Qasbaugred

( — ~5, 5) yerell pasp Bariiiyd RBSGSD.

13
[, 3._-~-5-+a-0

a = 3.
12. %, y-sr %wGg vHiysses@o p (ax + by + ¢) +
g (a1% + b1y + ¢1) + r (% + bgy + ¢3) = 0 248 p,q,r ©1%
Quisirsér srewr @uewrfler ax+ by+e+0, a;x-+byy-+eq=0,
agx + by + ¢ = 0 Gar@asar @by yaraflaufld Qadayb.
' ex +by +¢ =0, a1x + by +ci =0  QGar@aser
Qeu” @b yysirefl (X1, ¥1) sTeord Qasmebrmed, .
ax, + by; +¢=0, ayx; +byy; +¢; =0 w (D
B wsGasrhseue G ydraflanfs Qesrmed, apsrmeus
Garirar dg¥ + boy + cg = 0, (%1, y1) ouflé Qs Beauair(pin.
DB DETS AgXy + bey1 + c3 = 0 ereirp B piouGsuair@ib.
paxtby4-c) + glayx + b1y + ¢1) + r(agx + by + ¢) =0
srebeor X, ¥ wAIYsesGh o Nwgrselsr p (ax, + by; + ¢)
+ g (1% + biyr + €1) + r (agxy + bgyy + c2) = O.
ax; +by1 +e¢=0, a1 % +by1y1 +¢c1 =0 ypelsir
r(agx; +boyr +¢2) =0 '
“ G X % by ¥y 43 =0
Sp&Cau, Gy X + bgy + ¢2 = 0, (%1 ¥1) aufi§Qesbayih.

wrgdlfl 11 :

4% 4Ty =9 =0, 5x—8y +15=0, 9x —y -+ 6 =10
Car@adr 9Cr ydreflans  Qedvaisr tar - Hpieys.
pUx+Ty—9)+q 5x—8y +15) +r(9x—y +-6)=0
S Py 4, T BQuarssr  srew Qugnoridsr @b apsir
Bar@sah @Gy ysirafloufs Gasbaub. : :

p=1,9=1, r = —'1 erevflesr
P (4x+Ty=9) + ¢ (53—8y + 15) + r (9x—p+ 6) ==
AsCar@asr @Gy yerafl aufld QFsousr. o
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13. @@ Car@aaflsr Gevluii Coramrid,

Y!
pLD-22

Qe  Car®seflsr gwdrurasr Y = mx + C,
y = mX+ €1 eTermIh  Sjeweu X JpwSCSTH 19 p s @b
Carewriise 0, §1 6767 HILD QsrerGeurth. pECeu, m = tano §,
my = tan 0. Qeuelp CarHseaner Gemuli— Garewrih P
6T 60f1 60T
¢ =40—01
tan ¢ = tan (§ — 81)
_ tan § —tan 6y
= T+ tan g tan 0,
_ m == 1)
= U+ mm

m—m
o e g™ § e
¢ (1 4+ mml)

HursCspph : Qeuslp CarGasr @HEUTSTS Bminder
Djeup Pesr Gew_riuL Carenr 5HeT Jjerey SEITEUTLON LD
tan ¢ = 0

= I ==dy
C - 1+ mumy 0

m=m
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<p&Gesy Ax + By + C =0, A1x 4+ Byy + Cy = 0 Gar@asir

A
poCUrers QEUUsHO — [ = ~]—3—1~ e85 PmS B
C
Gouetr(Hr. o Qaretler, WasHBErL g 2T y = —p¥—pg oer
U AL, DT M’ = e g DhGLo- B or HNCus
5 Ay Cy
Erpatrreug Garily dw y - — By X ~ B st ml 67T HEy6v,
6T M == Al. '
DS B, . R
Bsueim Caraesh R@Curars BwUdsr B: ol
y By B
YR m R

Bésaajadar K erord Qarebri.red
A; = AK, B; = BK.
258, Ayx -+ Biy+C, =0Casr®m K (Ax +By) + C; =0
6T 63T [ G (L.

(@i-51) Ax + By-}-%:o

% -~ D srars Qarebri.rst Carilig.eir FwsstLr®
1

Ax + By +D =0
SH G, Ax +By+ D=0 @Gar® Ax+By +C=0
Carly@isE @omwriurs o_ardi.
sTarGou, Qo Car@sdr QBCUIETS  HDLWUSHE
Sieup Blsir  FweTurBaafisd eratr o mo 9ol G Geup pisnin
Gmpasrp Curgin. Qs @ Casrl(@se @@eCursers
Bméew wHOMEw Carily &r & wsr LT oS TET 2. ML
w1 1or B Hew HEur S,
wrHfl 13 (2):
(L, 2) anfl, 3x ~ 2y + 7 = 0 Garl(Bs® poGurars
@({55@:&1 B&ritig 6 Finssrun® sresreor ?
X2y 4+ 7=055 a0Cursrs ,@@asgrm Bar .61
FweaTur® 3x — 2y + K = 0.
8)s Car® (1, 2) auflé Qasdsugrsd
3—4 4+ K=0
K =1 ‘
p5CGou, Gauatry w Cart i o #aTur(® 3x —2y + 1 = 0,
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wrHfl 12

2% — Ty = 20 -6@ @olursrs y pusHso — 7 Q" BS
Siewr® 19pnisgLo Barilig.er Fusrur@ wrg ?

2% — Ty = 20 -6 oGursers ApsEn Gariig &
guwagrur@® 2x — Ty =K
B)& FLoedT LIrL1g- ST % + _—_X—K- = 1 6TeiT QY 6T(QSOOMLD.

2 7

3 > . a Cl K
opaEGal, ¥ QpupHer Q@ serH = — =

—_— = =]

7
K = 49
erer@au, Garii et swarur® 2x — 7y = 49,
A% $8spod 2.y = mx + ¢,y = my X + ¢1, Gar@assir
sgpst  GpiéE@Ssrudet &ECarHsafl dr  GenL Uit
@arewrtb 90°.

cot¢p =0
1+ mmy
(S-8) - my = 0.
14 mmy = 0
2paBeu, mmy; = — 1.

srar@au, HBGCsr@ser sapdr GCpisGSsruisir e b BHer
o’ seflsr QUEBSGS QsTMSE = — 1

Ase@d Ax - By+C = 0 -4 Cpidgssren Cariig &r
Fwsrur® Bx — Ay + K = 0 ersirp staf S swewreorio.
wrdfl 13 :

5x + 6y = 20, 18x — 15y = 37 erefruemen Gpr@SHid
QarHser steor Hmieys.

WsH CHETLg.6r ‘m’ = =— —‘Z

S raug Garily.6r ‘m’ = 18

paCau,  Heusilm Cari@® ‘m* saflsdr QUBESS
Qgrens = — 1.

L Geueip Car@aen Cpisacsss GarHossr.
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wrdHfl 14

3x +4y +28 =0 Garlype GpigssTs (— 1,4
anfs Gaeoayh Gare g sr Fuwedrur® ersrer ?

3x 4+ 4y + 28 = 0-4@ Cpi@HaTEGL Gariy.ar Fudrur®
4x — 3y + K = 0.
@& Gar® (— 1, 4) afs Qedagrd —4—12 + K = o

;. K =16.

oo QGeuetdrig s Garilig.edr guetur® 4x — 3y 4+ 16 = 0.
wrglfl 15 : :

3% =2y +9=0,2x+y—9% =0 Gar@asaflo.lucL.
GoBGsrewrid wrg 2

’ ek g
WapCariy.&r ‘m = A
QrevLraig Garlig.6r ‘m’ = — 2

B&Car@aaflsr et Gsreord ¢

: —1 717
c. @ORGsrenr ST jerey = tan (Z)
@mp Ao Car@seiar e, afGasrsaw S
S6IT DJOTEMEUS T 6UOT GOF LD,
(2,3)

I
A5 135"

/. 3Xy+5=0 N\

ULID-23
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wrdifl 16 :

(2, 3) ysiraflauf 3x — y + 5 = 0 2 air 45° Apnis@lo
Car(Hoefler Fwarur(® srarar 2

Sssmaw Carliyer erliey of b m sTel Qi QBTRHTLT6D,
gt FusTur@ y—3 = m(x — 2).

3Xx—3y+5=0-ar ‘m=3

o 3 — m .
- tan 45° = 1+ 3m
3 — m
(@r-g) 1= 13,
sodm =12
|
Ll —2

| wospCariy.ar sudur®y — 3 = L (X = &3
(S-8) x—2y + 4 =0

o_3—m
tan 135° = 1 T 3m
3 —m
apeug Cariy ar sudrur® y — 3 = — 2 (x —2)

(o-81) 2x +y=T7.

14. @55 Q@ Car@sst Qa @ yaallahs Codaie
Camiiger swerur@.

©efss Ao GCasr@asisr swudrur®@ ax + by +¢ =0,
a1x + by + ¢1 = 0 erergy Qarsir Geurh.

ax + by +c +K(a1x + b1y +¢1) = 0 sFwarurlig Sl
uridGumrib.

Qeig K s@m 520 uwesdtr

Ba pmuy s swstur®@ (Equation of the first Degree) s
starGau, @ Cariy dwGu @pHsé L.

(X1, y1.) Qaul_(Bib Lysirefl 6T ar&LISTTITL_ M50,

a%y, +by; r¢c=0, a1%; +b1y; +¢c; = 0

. axy +byy +ec+K(@x, +byy +¢1)=10

2paC@eu, ax + by +¢c + K (a1x + byy +¢1) =0
(x1, y1) sulfi& Qasospin

K-ar w@uyseégs s (x1,y1) aufsQeogin uss
Car(Hser aumLo.

wrHf 17

2x +y =8,3x —2y + 7 = 0 Gar@ssr Qsur (B Ljsireit
auf dx +y— 11 = 0-4@ ouCurarear Gsrigedr  Fwer
urig Joré T S.
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wasd Qm Car@sdr Qo @i yerafafs Aedgih Carl
19657 F 1065t L (B
2% 4+ y=-8 +K3%x =2y +7) =0
(o) Q+3K)x + (1 —-2K)y +7K—8 =0
B&sCar® 4x + y — 11 = 0-6@ poCurars Qudsedar Geu
Car(Haaiar ‘m’ ser swiors GBHscd Cuebr(h .
o 2 4+ 3K
oo ] 1"‘:: 2K_ - 4
fagg) 2 - 3K = 4—38K
3

(arg) K-

<p58eu, Ceustdrig. wi @asrrs;u;.sz'n' &FLossr U (B
7x+y——8+11(3x—-~} + 7y =0

(-} 28x + Ty —T74 = 0
wrgifl 18

3x — 5y 4+ 11 = 0-4@ Cpigssrs 5x-—0p =1
3x 4+ 29 4+ 5 = 0 Gar(hssdr  Qau @b ysirall anfié OGasbayb
Bariiy.er swsirur® e eor ?

5x —6y=1, 3x+ 2y +5=0 GCar@asdr Geu (i
Yeiref anféQadaib Gsriiyer ewearur®,

56— 6y —1+ K{B3x+2y+5)=0
G+3K)x4+{—=6+2K)y +5K~1=20
B&6Csr@® 33 — 5y 4 11 + 0-8@ Cpigdsrs QmSsedsr G

ol Garl® ‘m’ safldr QUBSGHS0srams — 1 @b,

5+3K X%="’"1o°o K =45

T =61 2K
pHCau, GHrig.6r Fwedrur{d
5% — 6y — 1 4+ 45(3x + 2y + 5) = 0.
{(9-5) 5%+ 3y +8= 0.

wrdifl 19 :

3% 4y +1 =0, 2x 5y — 1 =0 Gar@ssr Qe (b
Yeraflanf gpumsellsdd oo (s gGorHsdry - Gpd
is@ Carii.er Fnsrur srsrer ?

3% 4y 4+ 1'=0, 2x — 5y — 1 = 0 Gar(Hassir @aw._@mqsﬂsrﬂ
aflE Qasognd G&rilig.6r FweirLr(
334y + 1 4+ K (2% == 5y — 1) =0
(@-3) G+ 2K+ (—4-5Ky +1—-K=0
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(K +3)x  (=5K—4)y _
K—=1 = "TK=1

(<1-3)
(-a1) Kf——i + K—-y—'_l =1
2K+3 —5K—4
K—1_ K-—1
2K +37 —5K—4
-2p&Ceu, CHTL 19 66T FiosirLir(®
3x=—4y + 1~ (2x—5y—1)=0
(9-5) x+y+2=0
wrHifl 20
X+2y=0,4x4+ 3y =5, 3x+y =0 Car@sdni uss
wrss Qarar psCsraorHar QeFrGsri® evowh {Ortho
-gentre) eredreur ?

(o-s3) K=—1

*
¥
B

4x+3% =5
U0 - 24

A, B aufiéQesbpid QemGarBssir wsmpGuw  AD, BE
sTerd Qameir Seumth.
AD, A anfis QedaugTd, BSET FLGTLTE
X+ +K3x+y)=0
p&Cai, AD-6ir " m’ = — lefpjl—fl
AD, BC-4@ Gpigssre @nmdsedsr AD, BC Gar®
‘m’ sefldr QuEBSGS OFTme = — 1,

3K+ ¢ 4Yy
iy K ( 3)'""‘1
(9-5) K=— %
-Zh&CBau, AD-6ir Fustur® x -I--Zy—-g Bx+y,=0

3
(S-g) 3x—4y =0,



44 Dp iSO BTIO 6u1g.8 &anfl BLe

@ bior SNGuw BE-6r @6t @il & swrsortd.

BE, B aufié Qecoaugred ojseir sosrur®
4x + 3y —5+1(x 4+ 2yy = 0

4l

342

AC-s5T¢m"*' = —3 '

e

(S-g1) 1 =-—3
s BE-gr suwsrur® 4x +3y—5—3(x+42y) =10
(o-5° %= 3y—=15=0.
AD, BE Qemi@Gar@ssdr Gau @ uysrefl O CQFtiGari(
ouwnrgh. psGa, O-6dr BpuwStardvsdrs arewr
X—3p—5=0,35—4y =0 eustur@adr oAGeldze

BE-gfr ¢ m> = =

Goueir(p 0.
O-sir QpuGdgrdvssr (—4, — 3).
wrHfl 21 :

x+3y-—10-—1 X+3y=—=20=0 3xe=y+5==0"
Xy —5=0 Qar@sdw’ ussurss Careawe. Ber
FHrS5Her apooauamysailst FwdTUrLy ud SraONs.  Djenes

(?‘i 7Y udrerides Qe Gowar Hpeys.

2 2

D U 4+HY—20o=D

T R - &
Q =% _ -

i 0
w 4 ~ - /// X
+ <

~ ]
= o FE ~ =
] - e O ¢
® - ~ o
ol _ - ~ it
A X+3Yy-1o=o B
uLd - 25

AC apeosusny A supfié Qeedausred iser FsTUr®

x4+ 3y—=104+KBx—y+5)=0

C-61 SpwS0srdvaer X + 39 ~—=20 = 0, 38 — y =5 = §
guearur@ sdr alBal Ssred Hemi_d@Ld,
711

C-6r GpwSBrBossr (Tv b
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AC, C aufls Qaseusrsd

+3( ) 10 (*m~—+5)u0

|
2 &Gsu, AC.er efu:mutr@ X4y —10=13x~y+5)=0
(o-51) 2x =4y + 15 = 0.
BD apwausny B aifid Qasbaugrd st Fwsdrur®
(x +3y—10) + A 3Xx =y =5)=0
D-gir Dpuip Qpr@dvsdr x + 3y — 20 =0,3% =y 4+ 5=0
Fwsrur®asr slBedssrd EmL.sELo.

D6t oputSesr&ossr (%,
BD, D anfld Ggsbeaugred

.5—1-3’1;)~—10+A (3 -»-- )no

0% A = 1.

ap&@su BD- 6t eweituir® (x-+3y—10) 4+ 1. (3x—y-~5)=0
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5. 4y—3x—a=0, 3y —4x 4+ a = 0, 4y — 3x—3a=0
4y — 3% +2a =0 QGarHaarrd youps ISy ST

... 202
ugoLy — eTer Bpyejs.

6. 3x+4y=0, 3x—12p =0, y =15 GCar@sermsd
DidHs WwECsrewr SHar o 6r snwowid wrg ?

7. x=0, y =0 3 + L . 1 Gar@serred HymwHs
Wp&ECETer AT @6 swwuih urrg: ?

8. (2 3)s (—2, —5), (— 4, 6) yerefsearrsd LB S
Qp&Carawr s Aer o_dr eniowid (— 1, 2) srar Bgieys.

9. 8w Gar@sensr et L. Carewr 05
Ix +my +n=0 Car@® sFwudsrs WNsGL. @l
Car@sapdr Qa@rpedr ewdrur® px + gy +r = 0 sTstrﬂso‘r,
o drwselr sustur®@ (px + gy + ) (12 + m?) =

2(Ip + mg) (Ix + my -+ n) ereor Roeys.

10. 4y +3x—12=0, 3y +4x—24 =0 Car(Hsaflsir
B iiuce. Garaw $Hér Fuda g &or wLraes ?

. 4x—3y+1=0, 12x + 5y +13 =0 Gar@ssfsr

et Corewmisepdr o HudmEG0 Carewr $ Hedr
10 Qeuetig uiler FuaTUrLy Srd Srebrs.

12 X=yp—4 =0, Tx+y+20=0 Qar@saier

feordule. CorewrsHer Fwlaniyseflsd RETY o SHanfs
Qs Giear A nas.



3. @rie s Car@ser
(Pairs of Straight lines) —

1. @psir Pasrys8sd Ix + my + 1 = 0 9@ Cariy s
. @PS@Ower Horeuliin’i gt.

(x+my+mn (% +my+m) =0 (1) e&odr
uritig g urit@urh. Ix +my +~na =10, Lix +my +ny
= 0 Gar(Haaflsh o_srer ysrofisefiar opwsRsrdvsdrs iy,
& ST yereflsaflslr puStsrdvossr @§FFwarurigst
Qur®BbST- 5@, B&F sudgtur@ Ix +my +~n=20,
I1x +-my +n; =0 Gar@sdré @H&Hm. (lx 4 my + n)
(hhx+ my+n) =0 FLO6GOT LT L 1. ST =9 50 % g dlEn sb
ix2 + (Umy + 1im)xy + mmpy2 =~ (Iny + Lin) x
+ (mny +-myn)y + any = 0 eredrmi QU (HLa.

il =a, Im + lym = 2h
mm; = b, ln1 -+ lln = 2g
. Ry = ¢, miy + mn = 2f ereoflsr

B sns s Car@seaflsr ewsirur@

ax? + 2hxy + by? +2g8x + 2fy + ¢ =0 e T LT
arieoeds Gar@aeflar Gaips sFwdrur® X, ¥ S mEus
Bwun & swdrurr@. ax? + 2hxy + by? 4+ 2gx + 2fy + ¢
= Qersir@p CGurdrp @@ QurgiiiumL. Gmuy & Fwosirur(
(General Bquation of the Second Degree) @riem & Gar®
&%ré @Pss & sudrur@lx +my +n, Lix 4+ my L+ n
sTer @ H Curedrp RHuU.& ASorser (Linear Factors) Greairiy.eir
QUBESGS OBTmSWTEGLD.

2. ax? 4 2hxy 4 by? = 0 ereirp @GULE SFOURFSTEr
gwdrur@ (Homogeneous Equationof the Second Degree)gy
aflé Geodgib BrlmLs Car@adnrs Ghs .



62 Spw ST ey s Sewflg b

2h a
ox? 4 2hxy + by2 =b {yi —%—+§xy+5x2} .

o

. a . . .
BRGmy +mg =— T, MmMg=, eI Q (AET L TR

“ax? -+ 2hxy 4 by? = b (¥ ~— my + mg Xy + mmax*?)
= b (y — mix) (y — maX)

ax? 4 2hxy 4+ by2 = 0  eswdrur®@ y—mx =10,
y — mgx = 0 srairp B Car@adws ePsew. QacddnpGar®
sEph apdaufs  Oecguoressursd ax? 4 2hxy - by? = 0
soarur® apdefs Qadgin Brlors Car@ssns GHs@LD. i

‘ 2 a
My ~+ Mo == o= »b , Miag = Z-
my = —ht VB —ab b /B2 - ab
b b
12 = ab ersirp BMBSTOSTET My, My sTeXUSTUDHHEG Gows
wHliyssr aumh. G BEvuisd y — mx = 0, y — thgx = 0
Quiids Qar@aarrg. h? < ab stsrPEHbored y —myx = 0,
y —mox = 0 apulsd Gar@ssr. pED, Jeva (0, 0)
Quoalty Lysirafuded Qe (Bt

Ig==

~

3. pSeaulF @mgm Grismes Gar(seflsr seoild
sans swarur® Ix +my = 0, hx + my =0 SpSL. G
sy soLs Gar@aefisr Gaips ewdrur® (I¥+-my) (I1x+m1y)

e 0. (O-st) H1x? 4 (Imy + 1ym) 3y + mmyy® =0
@sE®w, axd + 2hxy + by? + 2g% 4 2fy +¢ =0

Bipuig.& sudrur@® pdaufé Qsogin Qo Cor@safier
@i s FwTUTLIS G®E S X-6r Qseg g = U, y- o Qxag f=0
srasranipiiy ¢ = 0 srarpi QBS55d Gauetr(Hio.

\/ 4. ax? + 2hxy + by? + 2gx 4+ 2fy + C = 0 @uf_ml,.&
Car@aafidr FOAUILTS QBESTE
abc -+ 2fgh — af? — bg? — ch? = 0.

8)& swarur®@ Grior.s Car@adns GSONI@RUD o7 607 gLh.
B& Car(Haer Qeu.(Bib tysiraf (X1, Y1) er6d Db Qamweir Gsuri.
opuiisafiar Gurafdor{Direction) wr pBLosd opHemu (%1.91)
yerefd@ Lorpms.



Griee & GarBaeir 63

(%, ) yeirafiudsir apuis@zsrdo Furppsard (X, y) s

o pHledr
X=X+ %1, ¥+ yi.

yAw spwisadre Qurpsgis GCsr@sellsr  awerur®
a(x + x%1)2 + 2k (X +x1) +y1) + b (P+31)? + 28 (x+x1)
+ 2f (y + 31) + ¢ = 0 srébrm ouHid.

(@1-a1) ax® + 2hxy - by? + 2 (ax1 + hyy + 8) x +
2(hx; 4By +1)y + (8%12 4 2h%1p1 +by12+28%; + 2fy1+¢)=0.

yiw pHanf GaGar@ser Qsousrsd X, y-or Qs
HEHLB 6T T gl gy ILjID ssfremions 555360 C aueutr Hid.

L~ axy -+ hyy +g=0. ¢))
hxy 4 byy + f= 0. )
ax12 + 2hxyyy + byi* 4 2% + 2fy1 +ec=0  (3)

e, ax1? 4 2h%1 Yy 4+ byi? + 28%1 4 2fy; + ¢
= X1 (ax1+h‘vl + &1+ yy (hxy by + fy + 8x1+fy1+e.
&g i +e=0
{1), (2) swarur@edr ofHeld 1T
% on_ 1
Hf —bg ~ gh—aof — ab—h?
Coxe = Ef-- bg _ gh—af
e —h2 V1T ap—hs
BBl sssw {(4)-60 FLrSSer
£
;-%Tf =+ e—0
(si-51) 8(hf — bg) + f(gh — af) + clab — h3) = 0.
(@1-g1) abc + 2fgh — af? — bg? — ch? = 0.

: Qur gL BGuy & sudtur® @rieords Casr@adrs
" Py or RECarBedr Qan B ysiraf
hf — bg  gh — af .
(ab — B g hl) O

Grie ab = h® st Bohsred Qe Bib LysireNudsir PG
Gardusdr erawanllsddurgn. @b  Bdvudd GarHeseir
)T Wi 60T SHRUILLT G LD



64 A SpWSPST H el 61 &6wfl B

fesrG Yop

ax? 4 2hxy 4 by? 4 2gx + 2fy 4+ ¢=0 (1) L& A%w
&6 @Fevtry.6ir Qubdss OBrameurs GwhsrTdEF Flodrur@
QoL & Car@adnd GisG stary HnsdGeEb.

Bé suaruriemi. X-6r QuUy.§ FuaTur-red &b Eer
ax® + 2x(hy +8) + (by? + 2fy + ¢) =0 sigrm TGO,

_—(hy+g) = J(hy )2 —a(by* +2fy +¢)
a

(1) Bouy.d Avraer E)Feorig. sor QU@esaasu QST SIS
Bmds

Chy + g)2 —a(by? +2fy +¢) Qougs Csroswurs
Bmsss> Ceuedtr(Bun.

- @s%r (k2 —ab)y? +2(gh—af)y + g% —ac adrmy
srgaseord. @ @f Qousd QsroBurs Gosrd
(gh — af)* = (h* — ab) (g — ac)

(o1-a1) alabc + 2fgh — af? — bg? — ch?) = 0.

a = 0 sréirmsd abc + 2fgh — af? — bg2 — ch? = 0.

5, ax2? 4 2hxy + by? 4+ 2gx + 2fy + ¢ =0 QoleaLé
Cer@alkrs GHSsTD ax? 4 2hxy 4 by? = 0 SHauf @&
Car@omsd Qlmura CarGsdns GHéGh.

ax? + 2hxy 4+ by? +2gx + 2fy+c = 0 gPé@n Car@edr

Ix+my +n = 0, hix +my +n = 0 erarmsb,

ax? 4+ 2hxy 4 by? +28% +2fy4-c = (Ix4+my +n) {(Iix4+myy+m)
sl = a, mmy = b, lmy + lym = 2h.

@pdonfl Ix +my + n=0,011% +my + n = 0 Car@sepse
@) &wrwrer Gar@aafisr @mmum@ Ix +-my = Q, :
I;% 4 my = 0 G

Q&Caraafisr Caiis ek ur®
(Ix 4 my) (lx + myy) = 0.
(S1-a51) lllx? A4 {Imy + Iym)xy + mmyy2 = 0,
(S1-z1) ax% 4 2hxy + by3 = 0.



Ariomes CarBsdr ) , 65
orHfl 1
2x2 4 3xy...2y2 +7%x + 9+ XK =0 sudrur@® K-sr
o1ih wAHOEEG B mLd GarHsiwd PSS 2
8& susur@ Griod Bsr@s2wd GHSGL ersowd
OIS elr .
apdanf 9& Gar@sem hée s Curerer Gar@seNsr
Fusiur® 2x2 -+ 3xy — 2y% = 0.
(-g) (2x—¥) (x+2y) =0
=08, 2x2 4 3xy — 22 + T+ 9+ K =0 susrur@®
@rﬁ’&@w Qar@aer 3x—y + A =0,% + 2y 4+ B = 0 o,
2%2 4+ 3xy — 232 + Tx + 9 4- K
= (2x=—y+ A)(x+ 2y +B)

%, y Oasepbadru, amg@uuﬁﬂmum BpUPDSID
g Ty 5T

A4+2B=7 L. )
/_—-~B=9 . (2)
AB =K
1y, {2) a’-msurunr@aam' slpailggrd A = 5, B =
=3,

B¢ sudur@ GHEGH Car@ el gsso‘ﬂ;,%ﬁsuﬁé SFLoeiT LT (B
2=y +5=0,x+2 +1=0.

wrHfl 2
; ax2 3 2hxy - by? = 0 Gar@safleb gearfer sriuey efsid
 wpQmsir Pleir eriliey ol 55T QoL disTas B 9esr 8h2=ab
sTeir mi Bl pieys.

ax2 4 2hxy + by? = b (y — m1x) (y — max) ereir(med

2h
m1+m2==——-75', m1m2~——g'

ax? 4+ 2hxy + by? = 0 @HsEw Csr@essi
Y o mix = 0, ¥ — mox = 0.
Qug, m = + 2myg
5.



66 ‘ W SQSTEV auig.ou B0l GiE

m1+"72='—%? 3m2=_~2;’-
mimg = g s 2mgd = % .
2(=%)'=3
(@1-31) 8h2 = 9ab.
wrdAf 3 :

(%1, 71)-8@HS ax? + 2hxy + by? = 0 CarGsmse
auemryd  Cpigsss GCar@Gsalisr QuUEBSSH Qzr s
a%;2 + 2hx1y; + by,?

v(a—0b)2 + T

ax? + 2hxy + by2 = 0 suwarur® pHanfs Qehain B
. Garily &r Fuarurrg star HpelGeia.

ster Bmieys.

ax? 4 2hxy + by2? = b (y — #1,X) (¥ — MaX) eTEAT(B6L

h
wmy 4+ 7y =—%,m1m2=ag.

Casr@ser y—m X = 0, y—mpx= 0. {x1,)-8@5H Bé Car®
S@dG ey CpiGssié Car@salear QUEBESS QBTmS

=71 = mixy | Y1 — MgX,y
V14+m? 1+ mo?
= N1% = (M1 + mg) Xy + mimeXy®
v (1 + m2) (1 + me?)
_ 12— (my + mg) X1p1 + mymg %3
V1 + m3me® - mi® + mp?
0= Oy mg) s - mumens?
'\/ (mymg — 1)% + (m’x -+ mg)?
g 2h
N A o Nt b Xy

WG

0 Sl 2h31yy + Byy*
of (8= D)2 4= 4h%




ArrenLé Garfssr 6T
-wrHfl 4

ax2 4 2hxy + by3 4+ 2gx + 2fy + ¢ =0 opSuaeBwmhst
&0 Oprovudsd@mseh Griames Gar@serrullsr
ft — g% = c (bf? — ag?) srrgl Bpe)s.
3id Car@aser Ix +~my +n =0, [1x +my + m =0 ereirge
Qe rer@aured,
Il =a, mmy = b, Im; + Iym = 2h, in, + l;n = 2g.
mny + myn = 2f, any = ¢.
< Huded(m b s @& Carhaend e auemyin @srdssr
R -+ By
VITEm” T yh? e m?
., m__ m?
S pme T LY
(@i-a1) 72 (L2 4 my?) = 8;% (13 + m?)
(-a) 1212 — %% = mny® — my2n?
(@1-@) (ali+mb) (nly—nyl) = (mny+myn)(mey—mn)
(o) 2e(nly = nyl) =2f (mny — myn)
(@-g1) g2 (nly — n,1)? = f2 (mny — myn)®
(-g1) &2 {(nly + n;1)® — 4llynny}
= f2{ (mny;-+myn)2— dmm; nny}
(2-51) 22 (4g2 — 4dac) = f2 (4f2 — 4bc)
(‘:9'_@) g% — gcg? = f+ — bcf? .
(24-g1) f*—g* = c (bf? = ag?).

Qﬂﬂlﬂ 5:

ax? 4 2hxy - by? + 28x 4+ 2fy + ¢ =0 Qurgidemi.
Beuy& suasrur® Sraw® on Curarar CsrBslns Ghd
st h?=ab, bg?=af? ereirgb 55 GsrBsaficr Gevi_ ..
& .
Gard 2 a (a-+ b) sTedr gl Beys.

“ax? 4= 2hxy 4 by? 4 2gx 2y 4 c =0 Go Cer@elvé
BP0 abe A 2fgh = af3 = bg? = ch3 =0 S DIt fé
Bar@adr g Gurerararasureder ab=h% (2) ot D 4- a5 e g



68 w051 aly o Sanlgh
U@ﬁnﬁsb AmSCGeyh. ab-sgs udd hl-g (1)-& FLréddr
ch? - 3fgh — af% = bg? — ch® = © e g QuLh.
af? - bg? = 2fgh.
(si-g1) (af+ -+ bg?)? = 4f2g%h®.
«= 472g2ab,

(si-g) (of* — bg®)* = 0.

af* = bg®.
QurgtiumL. Geund s ur® SBEGD g@ Gursrar
Gar@sdar Ix + my - n =0, 1% ey By = sTer

Qe Gaurib.
2x3 + 2hxy + by2 + 28% + Efy + ¢
= (Ix + my + n) 1% 4+ my + ny)
g =12, h=1Im b =m2, 2g = 1{n + m),

of = m (n 4 m), €= #ny.

PSuIApHs Qs Carfs@sS suemgujis CpigdHs Car®
safisr Bor Gauppiemind Gzrins G Gar@aatier e Oumie.
Qprdx wirGLo.

AepLoule. Qgidvd = S »__"_1__—:__—:
JI2+ m? A 1% md

:2
4 ~-—-c)
s »}(a F i 4 (83— pe)
T a+b a(a+b)



[#})
=]

Bl &Csrissr
wrHfl 6 :
ax2 + 2hxy + &y =0, Is + my = | Car@ssrred o

@ B o %

wjih wpéGaremr ST Lo W—:@%}mﬁi: e T Baays.
Ix + my = 1 Gua®. 8%% + 2kxy - iy% =0 Garfslw

Qe (b yeirafdssir (x1,01) (F2,y2) eTend Qsrer Gaurih. apd

Caramrsder @B &y op@dd DELLsTD  @ged uFoy

I(x1yg — Xo¥y1) @0 (¥, y1) (%2, ¥3)  yshrefser

1 Xg

ax? + 2hxy - by? = 0 QGar@ecis Buiugrsd ; > pue
1>y

é.

. x42 X, . . . m.  w
a ( ) 428 = 4 b = 0 susdrury.er Sfejsarrg
y y

Ix 4 my = 1, ax? 4 2hxy + iy? = Oswdrur@saiis X-to
Bésauml 0Tl re V1. V2. § SamEELsuTii.
= 1=my
i

X

a(l = my32 | 2hy{l —wm ,
)

(o-g1) y*(am? — 2hlm + F12) + 2y (Al — am) +- a = ¢

. _ a
.e yl.VS R amé — 2hlﬁ1 - [312

Y
waGarenr sSei Lyl = 1{X1Yg — Xay1}

= ’§V1yz(x-1 - x,)
A 41 Yo
L R .- S 2 /B2 —
il Ol prarogs +/h ab

Wk —Tab
am?® — 2hl + bl%



70 W SOSTE alg.a1 Sewflgin
wrdfl 7 : |

axs + bx2y + cxy2 + dy? =0 ePsGL Car@saiisy Gm
Rar@sdr suaps CpigssTs HEHHSTH a2 4+ d® 4-bd +ac
= 0 eTar Hpeas.
axs + bx%y 4 cxy? + dyd = d (3 — mx) (y=mgX) ¥ — mgx)
TerEOsramLTd, GCar@sefsr FosTur@ser y — mx =0,

a
P —gx = 0 Jy— mgX = 0, nymgMmg = — 7

ETRTE ST eUFLD.

B Car@aeid Qm Car@ssr sgper  CRIGSsTs Qs

St meur. '
& mhyg = — 1.

a a
mimiaity = == a ' Sy = ~d.

ax3+bx2ytcxy? - dyd=dx? (X —— ml) ('X — m2) (X—-ms)_

x x x o

g- @0 udd My-gg FLTSEST SoUpupid &6 aTor G,
Je d(n'ls)3 + C(ms)2 -+ b(ms) 4+ a8 = 0.

a\? a\2 a
s af - C(—r) b(.:)-—‘l- = (.
(=1-31) (d)-t— 7 + = a
as ca? ba -
st atgre=o
{=y-g) as + ca? + bad + ad? = 0.
a = 0 ereofleir @2 + ac 4 bd + d? = 0.

vilipHast 8

1. K-er erb 0@iyse 12x24+7xp+Ky3+-13x—y4+3 =0
Grrees Gar@sdns gHnIGDL? bz wdiou K-air
wHourss Csr @ Car(hsafsr solssalld swaruriy ks
& GO B

2, 2x2—xy—y2— 10x —2y 4+ 2 = 0 @QrieoLs -

Qar(Hadns @PSzred A-dr  wHlspuud, B&BarHassir
Deur” (Db Lj6ir 6 eHILILLD ST 60 F.



Br oL &Car@ssr 71

3. ax? + 2hxy + by? + 28x + 2fy +c =0 esuwdtur®
SPAB CarBssr y gpuSHsd Gleuig o 2fgh — bg? — ch?
= 0 erebrm Hoieys.

4., x2 +5xy + 42 +3x+ 2+ A =0 Fuerur®
rrors Csr@adrs GPudy.sdr A s iy ersrer ?

50 X2 =2 +x—3y—2=0 codgur® Qrords
CarHadns GP&GL aar Boias. o Gan @G ysref
wrg ?

6. x243xy +2—Tx~3y +1=0Qreom_& Gar®
a%réd @GPa@n eraor Apeys.  (1,2) af Qeupise oo
Gurarer Car(Hsafsr Fwarur® ersrer ?

7. 4x3 +12xy + 92 —6x—9% + 1 =0 RBCUrS
Gar®@ @rewrg.sr swstur@®@ aer fpas. @& CarBsefsr
B tiul. Qgrdv srerer ?

8. x2+2xy +y2—8ax—922 =0 ¢on Cursrar
Bw Carpsdrs GALIBL ster Fpeys. QS CarBeefssr
Qe Qsrdv ereirer ?

9. x2 4 2y3xpy + 3y? = 3% — 34/3y — 4 = 0 Fusrur®

206urg Qu Car@adrs @PNIGn star Boays. R& Car@
sofler Qentu’L Qgrdv srairar 2

10. ex2 4+ 2hxy + y2 =0 QarpsarsEe opd o
@piGSSTS QUEDT LD Car@seaflsr | Fuesrur(®
bx2 — 2hxy 4+ ay? = 0 ereor Agieys.

11. (¢, d)-OmEs ax? + 2hxy + by2 =0 QGarHsensS
ausmFud CuiHda1s Canpsaflsir Foarur( srerar 2

12. ax? + 2hxy +by?2 =0,xcos A + ysin A = p Gar®
ST M bHS pECarenT 55T BHSCEFLH lowid, p-er
&S wAiysio x(atan A —h) +y (htanA —b) =0
Garily.cd HsEGL star Bae)s.

13. ax? 4+ 2hxy +by2 =0, ye=x+c¢ QCarBssrrsd
c2y/h2 — ab

S®IpHS WPECsrewr SReor uyoy LN T 67
a +b-+2h

eTer Hpieds.



72 D wSG S sy SevflBib

14. ax3 + 2hxy + by? = 0, a1x2 4 3y Xy + byy? =
eoudGh CGer@aesedr 9drg Grawep@d Ourgisis
Yaohsrs

4(0:&1 i alh} '\hbl o hlj)) = {abl — 015}2 6T 61T ﬁ@asqa,

15. ax2? + 2hxy - by® + 2g% +2fy + ¢ =0 @rtlem
CarBadrd @;ﬁuu”npm Gieweu Giasel (Hid L]f'ﬁ'éﬂ"-&o(/m <55 d G0
g(a 4 B) — 2 == g8

ab — h2

Getul. Qgréoulsr Eeug. 57 60F

Hoeys.

16. 12x2 — 20xy +7y2 =0, 2x—3y +4=0 Gar@®
Serréd Semwouth aECsravia BEHEBsrL®  oww ST
ShuwihQBTEVE LTS HIT QTS .«

17. 12x% + 7%y — 12p% = 0, 122 4 7xy — 12y% == x — Ty
—1=085 sroCar@ssr 9@ esHrsHsr udsmasi Tar
Bopiejes.

18. @m Gur@sprpdmpulst o wpeveasay lx — my =1
Gar_rsajb, Huusshiasr ax? 4+ 2hxy + &5i* =0 2erfswis
o @ehsréd  Sjgsr wpp  apesisny  y (b — hm)
= x (am — hl) er6t1 g1 Hoies.

19. ax2 4+ 2hxy + by2 = 0 Gar@aser, (X1, y1) yered auf
Bé Car@aars® aimyujt @ Curg Gsi@sdr, ZubEo
gemowjib o Curg profompuisT opd e QFeors apso
uspyuilesT Fwarur® (2x — x1)  (axy -+ vy + 2y — i)
" (hxy 4 by1) = O eraveyib, @ CGurg prhdlenpud s
iy 20 T AW o Dy

ZVh‘ 2 __ab

20. ax2 -+ 2hxy + by?42gx + 2fy + ¢ =0
ax2 + 2hxy+by? = 0 Gar@aserred Sjewwuyd pm Gurg BTH

sTerelh B pieys.

Aeopullsst  LFiLy 2\/7176:-;- 7 T Bpieys.

21. - (ab — h3%) . (ax? 4 2hxy 4+ by? 4 2gx + 2fy)y -~ af?
4 bg? — 2fgh = 0 susiTur@® Arion.d Gur §52ré GF 550
stooreib, &% Car@ssr, ax* 4 2hxy + b? =0 Gardser
Qup@sd oD FrHFoY POFTLG] FSIFOTuEGISE
(Rhombus) (@ — b) fg + h(f? — g2) =0 siawrapd Apeys.
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2. ax? +2hxy + by =0, Ix +my =t Ger@serrd
Seowis welarawddes GoriBsri®@ evwmnd (X1, Y1)
oL X1 Y1 a+b -
sl = m = amd — 2him 112 T Bgeys.

23, P8 = %% 4 Bxy (¥ = %) = 0 sudrur® sbopsir Fud
grlie) e_miw WsCsr@Gadméd GlléGbua Bmeoys.

6 ax? 4 2hxy - by? = O svaur@ GEsgd Bilmid
Can@oalsar Salurl. Caramb,

ax® + 2hxy + by? = b(y— myx) (¥ — mgX} sreofeiv
2h a
Wiy & By w7 e 5 My fg= B

GarGaailadr seohdzans Fwarur® ¥ —ayx = 0,
Y — mgx = O SyGib.

s 8)&Car@aaficr avDu i Goramd § sreflsr
1My == iy \ 2
tan2f = { —
1T+ m ma

(n11 +mg YE—mdmmy vip
—1

T 4 my mg)*®
ah: - 4a

Sy
(' +35)
4 (h? — ab)
RCER)

2y hE—=ab

S o tan ff = == a+b

0 opaGsrasrwrudst -+ @Pujh, 0fGaTawr wrads
— @Puyid CinH Qs ireirer 1 uBib,

GOy = ax? - 2hxy + by? - 2g% <= 2fy -+ ¢ + O Fwar
ur@® Griennd Car@adrwd @M Cndsr

tan § == == %\/h_dl?—})ab S § Carfsalar eIl

Garemr Lor @G-
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‘/ a4+ b=0 aarme cot f-efler wHIYSF SeTaTOrGD.
. g = 90°.
58 gm swarur@ GHEGL Grimeé Caur@ser ST
CrigssTaspeiu s.@ILT@ 32, ¥2 @ebbledr (AL YL
Sefl6ir o BSQASZTER & & 6T QTN GO,
T@ssSeTLIE X2 — y? = 0,i1ax? - 2hxy — oy2 =0
FuaTur@asr siaper Crigssrar Gsr@sdné GHéGL.

wrflf 8 :

(x + my)? —3(mx —1y)? =0 Bisgn GCar@ser,
Ixt+my+n=0Car® Qupmsd owhs GPSCaTeTD
FULSSPEIL- WS eTeor Hpie)s.

QarGaafler Fiosrur®

(Y Ix+my+n==0

() d+mydx+m—143)y=0.

(3) U—myDNx+m+1ly3y=0

(1), (2) Car@seailssr enir. Garewrd
I(m—1y3)—m(I+my3)

T¢I +my3)+m(m—143)
= == tap~! (== \/_3) = 60°. ~ evevg 120°.

& (1), (2) Gar@sefisr FeoLir. GoibGsTewriy
= 60°.

SuorSNCGw (1), (3) CarBaoflsr emr iUl L. SDIE
Barewrn = 60°,

= == tan—!

o apaGarenr s Ser apsir@eug Garapribm60°. paGal,
W& Gareanrih FOUSSLPEHL-WSTGLL -

8. ax?2hxy+by? = 0 gALA@r Car@aaflsr @ oL
R . i . < . . .
AL CaraumrEmss FUURETS@LW Car@Gaaflsr Fwaur@®
ax2 & 2hxy + byd = b (y=—mX) (Y= mgX)  eTEMGT
2n a

~m1+m,=—-—-5,m1m2 =—b.

BéCar@aaflsir goof Szeld FsTur®

S X = 0, y — mox = 0.

feupfeér @erlulL Garersgs Fubanly &efier

L0 65T LT (DS .
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y—mXx _ y—meX  y—mx _ _ Y—mpX
VItm? YU+ me? 1+ m?® v U+ my?
FUOQ g seflshr  FwdTurasdr 26 FweruTiiiged
TRI @D, S
y—mx Yy —wmX y—mx | y—mex )
V1T m2 g1 + mo? } {¢1+m1 41+m2 }
PGS0

y—m1%)2 (P == mox)?
(&Q’)g+mz !+m;z"=0'
{a-a1) (1 4 me?) (y—m;X)2 — (14+m12) (y+mgax)2=0.
{-31) (M 2—my2) (x2=—y2)+-2(mymy—1) (Mmy—~mgz)xy =
(@-a) (my + mg) (%2 —3) + 2 (my mg — 1) xy = 0.
my + mg, My Mg~ wALmU PG FLrsdér Funblauiig
&R FasrLr(®

bel (x2 — y?) _‘_,(b—-i )xy = 0 svsirpi sugmid.

X% — 8
(ore) T35 =7
SloamLrog Ppon—

Y
Sy A,
\.\ / €
\ / i
/o
.\ /
Sy2E e
b - A \ x
7"
5] - N
F d r/ \\ "
F/ /
B
&
WLD-33
ax? - 2hxy + by? = 0 Gar@Gaaisdr gofssalls swer

ur@® ¥ — mx = 0, y— mgx = 0 ercileir, m1+m2._;_%lf,

a
mq mg = b.
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s Gar@Gasr x oHusGsr® Uputsen Corawdisedr
81, 2 erevflsir, my = iun §y, My = ian §y swlan’ygsd X
. % b
G SCasr® O plnisein Caremrdis s QL“;—QE 5 + b1 5 4
TS STEMTeri. Sinay pdeugfls Codbaynisred Sjeuppar
FlosiTIT (G 6ir
_ §1+8; {“__. -+ 02
y = x tan =5 3y == x{an )
Biig 0, 4 6, = 280 steviistr, FwGenli saflelr gwdTur®@
y—xtan =0, y -+ xcotd =0 pPpse-

s FuwQeann sefld Grips Fwerurd

(y—xtan ) (y + xcot 83 =0,

(SI-g1) ¥? — %2 = xp (tan § — ©OL §)

- Fatn g coj b
RS CTY e
~ cos 2 6
=T G2
XE—yE L E
xy tan 2 ¢
s R 0;‘ -ﬁ’ fan 6 2
3 fa S0 0y + da) = 1 — 1an §y tan fo
LIS R
T l—my mg
- 2k
_ b _ 2
1 __zz a—b
—p2 —b
& FQeulig Gafler Finsl tir(h G X o g-hw
-y _ %y
(@-g) " =

wrdlfl 9

(Ix 4+ my)2 — 3 (nx — 1?2 = 0 CanrBasr, x+mytn=
Canr® Boupmsd Sydups  wrsGarenrid awu&&@pmumg
n? e, ;
s BT GO (B ] &,
4/3 (12 - m?) g Boey

(R sudasrrsHsv wrhif 8-l urissayd.)

6FET MID DS Ly —
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A

©
il - S4

(Ix + my)2 —3 {mx—Iy}2 = 0 GarHssr <p S ailflE QEsbad,
@é Qar@sdr OA, OB eadrp Qarers.  Sawsu
Ix - my +8=0Cur@® sy RG FOUSS tp&Garemr SansLl
apendcndsr, AGB = 60° apaaqb, AOB  Garewr s
Futiaig sefd spslT 1 PQ-&® @EUr&TSayD,
wpo@sTn AB-&@ Crigdaranh HESsed CoalrBL.
O anf AB-& Cpighbsrer Garig.ar suarur®
‘mx — [y == 0, AB-4@¢ polursrer QGarii.sr Fwustur®
1x + my = 0.

& A&B = 60° hSa|b, A63-66T FunGla’ g seaflsr
Gaips sustur® (Ix + my) (mx—Iy) =0 sretr flprdssr OPQ
FuusEs updGaramorgn. 04, OB Gar(peeflsir Fwsrur@®
(3= 3m2) x2+4-8Im By + (m? - 312)y% = 0 gyELo.

: & 2416 IZm? — (I3 — 3m-) (m* —3I*)
4an AOB = = (1% — 3m®) +m-§—-::—3p—_~____

== ok v’ 3.
+ ®pGsrard AOB = 60°
AOB QGaraw 515 ey safldr swdrur®
X y2 _ xy :
(12 — 3m?) — (m — 31*) 4lm
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X2 —y3 _ 3y

B—m? " Im
(D-g1) Imx? = lmy? = [8xy — m2xy
(o-81) Imx® — Bxy 4+ m?xy — Imy? = Q.
(o-&) (x + my) (mx — {y) = 0.
&~ OPQ suués yasCsrewriorGia.

O-mpg PQ-6@ euenrujin CpigsHsisCari iy 6r
n

VI

(a-31)

ﬁmu’) ==

. o o s ) _ n?
WwsCasremm dFHeir Ly = NN D) & 6 oy

sTafl A D Smremreoris.
wrHifl 10:
pSanf Ix + my + 1= 0 CarCL.r@® sny- 45° Hpinis

&b Car(hseisr &wnearur@
(12 — m?) (22 = y2) + 4lm xy = 0 erar Apoys.

MALAD ~ 35

IS HEDGUS @m@aﬁdr OA, OB erargitr, Jx 4 my 4@ m &
Rar® AB srergh Qsrdrs.

OAB = 45°, OBA = 45° gposurd AOB = 90°,
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QA, OB-sir swsiurlsm_ ax2 4+ 2hxy — ay? =
6168 Y1 Gl eir sravrTLD.

AOB-gir Fudauily sefld arp AB-&@ CpiGssraayb.
wHAmerm AB-56 @BCUTST&aL QHaGSLA.

Fla g sefiar swarur®@ (Ix + my)(mx and iy)=0.

(@i-s1) lm (x2 — y2) = (12 = m?)xy.

— y2 y
(S-g1) 12—-m2 im - e (1)

AOB-sr FnQ euL’ 1y seflsir snedr ur(®
x8 — 2 Xy

i 2y
(1), (2) sunarur@sdr ol er
2a =12 —m2, h = Im.

OA, OB Gar@eefldr sweruriiiged @b m,@uqi&w
FL-TGAET BjFer Fwerur®

(12 —m?) (%2 —y2) + dim By = 0 Y.

9. ax2 -+ 2hxy +by?2 +-28x +2fy + ¢ =0 (1) &Fuwar
ur® Griem-& Car@sdeds Gounlgedr abe + 2fgh — af3
— bg? — ch? = 0 sToré sar@Lrin. & sSC.Glur@ HH3v:
Quienfledr (1) Fwsiruir® en’i_th, &LLDL]QQM_!Q_ (conic) Gursirp

2@ udTaimymus GNEGL.

- 71

Ikt my =1 (2) Ger® G w&rmmw’azw A, B tyeir afl s afish -
e Gounard Q&rer Gaurw,
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ax? + 2hxy - by? 4+ 2gx -+ 2fy + ¢ = 0 ousturiig or
Ix + my = | sudrurti_red suug dsrar FunsTuri.rSaEDsv,
ax® - 2hxy 4+ by? + 2 (gx+ fy) (Ux+my) 4 ¢ Ix+my)?= 0
(3) eredrmy eumd. s wpdafis Qadond FHe Csr@
s%ré GEmABin. Bugeb (1), {2) sudtur@sefss Qur@gs S
ayeiraflsefer Gprisdsrdosst {31-gub Qur@Haid.

apECeu, (2) Gar (1) aulwrasorsow Qo (Qd Lsiafl
&7 HHCWI® Blwrss aupd Gar@slr (3) gHIIGWL,
=s@su, OA, OB Bardsalr @rifs sudrur® (3) 2pGd-

Qariig.er Fusrur®@ Ix 4+ my +n =0 eofldr. OA, OB
BarBaeflsr &weriir®

- | 2
ax? 4 2hxy + by +2gx+ 1) (’%w ) te (bilW ) =0

G-
\&Dﬂ‘ﬂlﬂ 11

p=mx 4+ c CGar@® x? + y? = a2 e’ Smz Goul(ud
st ofladw g ARuwr® B)%wrss eumd Car(Hssr swst GpiF
©spruler 2¢? = o2 (1 + m?) sreiryy Hpieys.

y=mx+ cBar® X% + y%2 =02 oL Smp Geu(Bid
yeirefl@sr A, B ward QardrGaurid. OA, OB susrur@® srewr
x2 4 y?2 = a? SFaTUNLL. Y == mX + ¢ K60 FOUG SIS
& sGauer (o,

DA, OB-ar suwsrur® x2 + y2 = ag(L’_‘%ﬂ_{‘)’

(a1-g) ¢ (x* + %) = a® (y — mx)3,

(o-a) (2 —a2m?) x2 + 2a?mxy + (c2 — a¥%) y? = Q.
A& Car@as suepst Cpi@isr s Cauabr(Hid.
T n o x2-6r Qaep + yi-sir Qagy = 0.
ooe% = a?m? 4 2 — a2 =0,

(o-51) 2¢% = a% (1 + m2).
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wrHdl 12 :

ax? + 2hxy + by? = 0, Ix+my=1 Garasrrsd Jm0hs
 psCarenr SHST FPHYIAILL. DLUWISHLTS &I TS

v - 37
OA, OB Gar@saflsr #wsrur® ax? -+ 2hxy + by? = 0 srawayid
AB-éir Fusrur@ Ix + my =1 erareh Qards. B& Car®
sarred Smwps wECsraOrSHE aHm el JpAeufE
QFbougred. Feir FwsTureoL. X3 + y? 4 2gx + 2fy = 0 -
CeTerd  Qareh Goured.

Ix+my = 1Gar® Geut oL smz A,B sreiasiss Qeauy sir,
OA, OB Gar(@asefsr swsrur®

x? 4 y2 4 (2gx + 2fy)-(Ix + my) = O.
(o-g1) (1+2g0) x2 -+ 2 (mg + fDxy + (14+2fm) y2=0.
B Fwadruriig o ax? 4+ 2hxy 4+ by? = 0 @ einfig er

1+280 mgigl 1+42fm
a h -~ b

@elQleur @ samaunyin K stardQ srerGeurth. »
1+ 2gl =aK, mg +jl =hK; 14 2fm = bK.

. _aK—1 _ bK—1
o 28_ l 92f"— —‘m ~ -
m@aK —1) (bK—1) _
; T = gp = hK.

[

m2 (@K = 1) + 12 (bK — 1) = 2hKim
6
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(o1-s) K (am? — 2hlm + bI2) =12 + m?2

_Bem .
am? — 2hlm -+ bl%

_aP4+m)
i — ohim 1112
l s
b(l2 4+ m?)
am® — 2hlm & b1z~
of = e

» K=

s 28 =

al® + 2hlm — bI2 al + 2hm — bl
(@-o1) 28 = I{am2 — 2him + bI¥) T ame — 2kim + bis

Buoror SNGuws
np_ _am+ 2hl — Em_
2= am? — 2hlm + bi2

. 6ULLL GMLOWILD
(@a—b)l+2mm _ (a—Db) m + 2hl
{ = 3(am?® — 2him 4+ bi2)*" (2am¥—2him + bi?)

uflpflaser 6

1. a®x3 + 2h(a + b) xy 4 b%y? =0 Garpasi
ax? + 2hxy + by2 = 0 Gar@aGerr@®) FLEFTLeMLILISNS
Aoseh aar Boes.

2. (a— by (x2 — y2) + dhxy =0 Gar@assir, h(x% — y%)
= (a = b) xy Car@asr Gmau Sbapdr @aTy  LHOWmET Bl
e tiul L. Garer 6 FRMLIE SOTTGLD sTer Bpieys.

3. 6x2 4+ xy=—12y2 — 14x 447y — 40 =0
14x% 4 xp — 4y2 — 30x 4 15y = 0 Qewer Gy Ljeir el eufi&
Qeogih Gar@ssr srarayb, ‘WsDH Fudrur@sé Car@ssr
) T LT 61,5 657 CarHsGarr(l FEFSTIIN DL WIT 6T65T QLo

Speys.

4, x2—4xy +1y8 =0 Gar@ser X -y=3 GCar®
IR IGTEY Simwps GsGarari  FULUSSPOL.WIG STET
Bpeys.
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5. @@ suouss wpsGarawriddar pOSCET B eniowih
apHwurseyn, @ ussb X +y =1 GarLrsaynd Gl ddr
ST e Sariu uS shisafer Fdrur® srerar ?

6. ax® 4+ 2xy - by? = 0,Ix + my 4 n = 0 Gar@serrsd
Gymouib pdGareurih QetiGsranr @@ s&Efmp wdCsrswr
wrdGhuspENu sGour® srerer ?

7. ax2 + 2hxy + by? +2gx 4+ 2fy + ¢ =0 swdrur®
(%, y1)-60 Qan_(@d Qi Car@sdrsds GHSsred @S Car®
seflsir Gemiu L Garenr $Hsir F0blai’y Seir

(x— %2 — (y=9) _ E—x1) @ — 1)

a—Db h
@& Fwlaiysdr, X pud Hupmed Jowups WS
(a—b)? + 4h% ca— g?
o b — b3 sTeor Bpas -

eTeor Hmieys.

Barewr SHedr LFliL v

8. (a -+ 2hm + bm?)x? + 2 { (b=a) m — (m2—1)h } xy
+ (am2 — 2hm + b) = 0 Car@sefisir GenL . Gsrewrid
m-s1 %SS! wHOIYEGD WIBSssTanmg sar Hpeajs.

9., ax2? 4 2hxy + by? + 2gx -+ 2fy + ¢ = O guapsir Cpif
,'@5‘511'@& B Carhadrs GOl o HulBmHE S e

3 2
Qo Gib Lyeir afludsir Qzroudesr L. 'Zﬁ——ie TR Bpiogs.

10. 3x2 4+ 5xy—3y2 - 2x + 3y =0, 3x — 2y = 1 Qeaup
Hedr Qurgds Lerafialr B HCurH Gewrdsaumn Csr(Hser
Seper Cpigssrs e er erar Hpe)s.

11. 3x2 —~3p + 32 + 2x—3y +4 =0, 2x + 3y =K
@eupPer Qurgts yaraflsdr gIHCur® Horsaanmn Csr®
&ar peer Cpigdsrs Ponidr, 6K? — 5K + 52 = 0 erar
Bpes.

12. 6x—y + 8 = 0 Gar@ 3x2 4 4xy — 4y2 — 11x 4 2y
+ 6 = 0 Gar@adsr Qi@ ydrafla®r oHACur® &owrss
aum  QGar@sdr PpumsCarrH SUFFTUN] 2 DI WBTS
@@&@’amm Bpie|s.
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13. Ix+my +n =0, x2 4+ p? L 2px 4 29y = 0. Geweu
Qaul@uw yedrefladr IHCur@ Hewsse Car@eefsr
suaTur® arsdrer ? @& Car@adr sibgpsi CHIGIITUSH
Gl s_Gliur® srsdrear 2

14, x2 4+ y2=a2 e gded, Ix+tmy=1 s
ur® eew  praw oS Sm  45° OpoSicndesr
4{a? (2 +m2y—1} = {a% (I12 + m2) — 2 }2 srar Apeys.

15. Ix 4+ my =1Q@ar@ x2 + y2 = a? au’L_gms P,Q-6b

. Qeui’ig @b P@Q == ¢os~1 oTar Dgpeys. Hitg O

<h Suwir@io,

16. 3x—5y =2 Gar®, 2x? + 5xp — 3y? + 3x — 5y
—2 = 0 Gar@Gadr Qe @i Lsiteafladr < HCur® B) Bwr & @1
Car@aefidr Fusdrur® srérar 2 @ps bri GCar@Bserres
S prpflomp pelure srpdap star Bgas.

17. @p#. 2x2 — Txp + 3y2 + 5% + 10y — 25 = 0, B&
Car@ser Qeu’Gib yeraf, GéBar@adr x+2y—>5 =0 Car®
Qe B ysirafiser srairp Qf prergh soCurg Briflenp
Q6T PlsiT W darserr@ih star B giays.

18. Y2 =4da(x+ a) audwouenyorrws y—k =m (x + 2a}
Car®, A, B ydraflasiiev Qauiger AOB Caremr5Heir .
Qau’ig&5%ré araws. Hig O <pSwrgih.

19. 2 geryenw @@ Carly.dr §m unSwass sl G g eft
ax? 4 2hxy + by? = 0 Gar(®ssir o Dt G minder,
GCarny.&r pOUYdrafuldr Qutigeuany (ax-+hy)2 4 (hx+by)?
+ (ab — h?)I? = 0 srar B preys.

20. ax% — 2hxy -+ by% = Q, XCosL+y sin f =p
Car@seanred  Semowd  W&Gsrei  ewudswruGds
a h b
T —2cosol 2s8in2y 1+ 2cos2 L% Boisys.




4, aulL b
(Circle)

\@ aumruap :  Havdydel gt Al b Lr@s Asrdv
e wi @ Yerafulisr uidiGausny bHIOO LsTallenis el
LorSa|ih, bS5 WIBE VSrEOmLl JHTOTEHYL ClETeadri. alll. -
07 @G, ‘ '

@ L SHler susrur@: apwiissr OX, OY Csr@ssir -
Al sder muwd C, anle. QpF 7 Hh5é Qarsh &.

13

-y 54 Q‘/\i ’)
¥ \C r-dipL
%
]
x! o v M N B ;
y! M
wLw-38 (XS J_\GF\A

st eusngudsv P yeirefl (x, ) etewrd Qardra. OX-&@ CM,
PN Car@adr Gpigssrazeyn. NP-&¢ CL-;3 Cpigd
Sraayn ausmys., C-or (puwS0srdosdr (h, k) stars Qsreir
@eaurid.

CL = MN = ON — OM = x — h.
LP =NP—NL =NP—MC=y—%.
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CLP p&Ganemr 5860 CLS 4 LP2 = Cpr2.
aarGeu, (¥ — h)2 + (v — k)% = r2.

GOy el ST Dpey & hSa|d, EHLOIWILD B HILIT SN LD
Bwuldsr Jjger FwsTur® x2 + ¥ = a2 GG,

3) alLgdar Qurgluerd swarur®: (¥ — )3
}-l— (y — k)2 = 12 anlL$gu& swsturiindor olfls S TG o
X% 4+ Y2 — 2hx — 2ky + b2 + k% =12 = 0 erslir QUL

@Qiig — 2h, — 2k, h? + k% — r? Gupipen uded
2g, 2f, -8 wpopGu I, ML SI6T FLOSTUITL-F &
X2 4+ y2 4 2g% + 2fy + ¢ = 0 eypd @& FSTUTL GO
(1) x2, y3 Qeupder QEpssser (Co-efficients) e&wior@.
(2) xy-ar Qaqy asrarib. QHaGa, A@GULY-L QU SIILITHL&
suwssrur@ (General Equnation of the Secomnd Degree)
SSFraugl ax?+2hxy+by? +28x+2fy+c=0 @ L Smss
@GPider @ = b, h =0,

L7a) x24+y24+2gx+2fy+c=0 swaun® g, f> c-sv AUwS 5
LHTARGED @@ ALLGH%E GHEGD: G Fosruriig.Sord
Gt suorgy erapseoria i x2 + 2g% + g% 4 ¥ + 2fy + f?
= g24fi—c. (I—g) ((x+82+0+f)? = («/@’ﬂ'f'*‘-—ﬂi‘
8 susturteoL. WHuGHE swarurBur® @iy &
h=—g, k=m—f, r=82+f—c o35G, @& swoeirur®
(— g —f)-8 @wunrseyd /g2 + f2 —c-; Sproresyd
Qaresri. L $H&wrsd GPHSGIWD.

ane 22 + f3 > ¢ aFTPEhsToSTST BISHHG G
Lﬂﬁf“;l eu@h. g2 + f3 = c erar Guitler QI wHLLE
S@TOTOTGw. b HEoudsd e et i (— g, — f) yenafl
Qur® @arpuGn. Bspel yaeflau b (Point circle) svevr o
Quuwii. g3+f2 < c erafllelr, prSHer A0S & DUt T Gio.
b fAouled @& (— & — f) duwSgy Quul s efiujsous
&pudor el orGL.

@ eULL 6T  swaTurLIgsd Sgpsr  Opri-fi}
@ebeors & fr ¢ pOwetrssr  apsSig  o.er. Hwp
Dpesd 56 ndliysar Cer@sds stamanil il Gog P&
FusTur® GH&ss QFduicord. @aens HH euli-GHer
QurgitiuemL.& Fuarur(® sTer U uBi.,
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R it sussrw epsTm sCLGOur@sst Geuet (b,

PaQamrsTHelBHESD & f» ¢ SLBAU n Fwarur®

Coreirgih. BF & w6t urHeEdw eGelSm 8, f, ¢ Srereortd.

wr gl ®/
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L SHer eovwwis (— g — f), oy = 4/8% + f2—¢-
Ix+mp+n=0 eaurLpwss sr@Iuwsldsr (— & — f)
-0mpal Ix + my + n = 0-5@ suengujib Cpie5S5s8sri 1y 67
Benih SpOFUTGSLE. ‘
—lg-—mf +n —
= TEam o —VEEP—e
paBau, (13 + m2) (g2 + f2 — ¢) = (— lg — mf 4 n)2.

wordldl 1§

K-ar et wfuiysens@ 4x + 3y + K =0
X2 4 2 == 4% — 6y + 9 = 0-&@H CarHamFLr@i?
L SHar Fwsrur® (x — 2)2 + (p — 3)2 = 2.
opsBeu, DT epowid (2, 3y, oyar = 2. (2, 3)-68mbse
" 4x 4+ 3y + K = 0-4@ auepui CrpigsssGsriigdr Berid
2-apas G@rdsr 4x + 3y + K = 0, sullLpemass QgrBid.
' tx23 2323+ R

T = 2.
17 K.
(or@) = FX=2

s K= — 27 oebeogs — 7.

wrHAdl 12 :
X2 + 2 —2x —6y +9 =0, x2 +-y2 4 6x— 2y + I=0
ML EISEhSS @ Leh ofudefm i sl euenguyd O gn (Bsusny safler
. Bermiser 1 : 2 gaalled Qmbsred, D Lysh eludedr Gk @Gmeng
R L Quer Hmpeys.

@ yeirefsow (X3, y1) st p Osreirs.



102 2 WSASTEBO ag.ou Sewflgd

A\
(%1, N)-A@ps olLdsmbée  sopyd  Gsrg
sumpaefcr Berdsst BrGe 4212 T ¥12 — 2% — 61 49,
W X112 -+ P12 + 6xy ‘-‘Eyl“’"?' 1 ﬂ?@&"
VEI T2 —n 9 1,
VR E T e 1 2
(<i-g1) 4 (%2 4y13=2%1—6y1+9) =x32+71%2+6%,—2p; +1
(=-g1) 3%1243p,2=14x1—22y3 +35=0
(%15 P1), 3%243y2 — 14x~22y - 35 =0 e‘uu...‘sﬁm
sUGuUrgiD Gmdssd Geelr @b,
SpHBar, (X1, Y1)-6r BwiklEseny
X% 4= 3P2 e 14x = 22y + 35 = O ereirgmith auLlL tor@1.

wrgd 13:

(3, 2) aufl 2% + 3y — 5 = 0 Gariigguor (1, 1) @LS&s
Bigrh eu’ L GSeir suwsir@ oved eur?
X% 42 L 2gx 4+ 2fy + ¢ =0 anligfsr sFusTur® srard
Qs e Geurid.

(1, 1) @egms Oar@L OzrGaumyruisr &Fwdrur®

t4+y+ex+D+ P+ +e=0

(@-8) x(1+ 8) +y{1+f) + g+ f+e=0. @& sundr
wir.iq-Zor
2% + 3y — 5 = 0-Gaur® GiiTig.ah &%é_ ! ";‘f g +__f5+”
(1) erefrgy sugpLh. '

(3, 2) suli @b Guiugre: 13 + 6g + 4f + ¢ =0 (2)

(1), (2) susrur@ar elHeldSsrsd

12 29 39

g=—= f=—ip =7

psGeu, et $He Fwdrury

7x% -+ Ty? — 24x —~ 29y + 39 = 0 gyoid.

wrflfl 14

X2 4 Y2 —6x% 4 + 5 =0 nli 35866 @pSuldphs @
susmyuph Ciar(Heusmysaflsir Fiosr Lr(® sreirar ?

(X1, 71)-8@hg, S =0 &5 sampyp @;ﬁfr@&umo'amﬂdr
Fugrur® 58, = T2, B
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Ay S =x2 4 y8—6x + 2y + 5
§;=5
T =—3x+p + 5
QarHsusmyaafsdr FLoT LT
(x? +y2 —6x 4+ 2y +5)5 = (~3x 4+ ¥ 4 5)2
(-g1) 5x3 4+ 5p2=30x+ 10p+25 = 9x® 4 p2 L-25—6xy
= 30x + 10y
(S-g1) 4x? = 6xy — 4y% = 0
(i-g51) 2x% —3xp —2y? =0
(@-g1) (2% + ) (x=29) =0
' QarGessmyselissr goflld sais ewadrur®
24+ y =0, x=—2p =0

‘/@/ (%1, M1 3-60@Hg %2 4 y2 - 2¢% + 2fy + ¢ = 0-&@
meFyb Gzr@umrscdar QG rE cromsEgd (Chord of
Contaci) swsrur @ SramiHeo.

w1047

T, Py Q Hswsu ByBeo (X1, Y1), (X9.75)s (X3.¥3) sraord Qe elr &,
P aQL-sm5 QardHaieny

XXz + Y2 +8(x A+ x2) +~ fly+yg)+e=0  ..(1)
Q G-59$ Qg1 eusmy

XX3 + ¥¥s + 8(x +Xg) + f(P+ysd+ =0 (2
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sl Csr@uorsesnd (X1, y1) afsF Gsdeaugred
X1 X3 4+ Y1Ys + 8 (%1 + *g) + F(¥1+ ¥3) +¢=0 (3)
X1 %3+ 13 +8x1 + %) +F (1 +7¥3) +¢=0 (4)
(3), (4) @pev P (X2, y2), Q (%3, y3) Lsir eiflseir

X1+ + 8+ 2)+HfO+Y) =00 o

ST S SIEwT60NLD.
PQ- &ir Fusrur®
X1+ 8+ x1)+F+y) +ec=0

@ % yeraflyh H%wer&Gasr@bd (Pole and Polar)
auamyump. P anfis Cast b s Car@® au L $H%r Qan B
Q, R yarefll-$gs5 OasrGeusmgassr Qeul’(Bid el aflulssr
Buiigumy P-dr ZitwmsGar@ (Polar) ersirpith, P giluwrd
Gariiy 6r gl&wriyerafl {(Pole) ereirmih gn@in@ib.

"@ X 4+ y2 4 28x 4+ 2fy + ¢ =0 alLEmzE eving
(%15 y1)-6ir GIEWECaT@-

uLw- 48

P anfs Qedogis Car® aniLsS%r Q, R-cb Qe (Bib
sTerajb Q, R QL isid Qar@uerssr QalBn e afl
T (h, k) sterayib Qa&rst Geaurth.

T-ar Quikigeueny P-sir gi&wrd GarL_r@i.
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\,

Y SR
A

R
]
!
j
/

/

Ay
l

7/
‘ 0
UL ~-4-9

T-Bphg sumruld Qsr®aenyaailsr GQss@Epratr QR
pemawrsd QR-6r gudrur®@ xh + yk 4+ g (A+x)+5 (k4-p)+
¢ =0.

@s Gar@ (X1, y1) enfs Gedeugrd xih + 3,k
+gh+x)+fk+y1)+c=0

s s @uur® e.awewiur.  (h, k) aoCurgih
¥+ + 8 +I)F S+ yy+e=0 GCsrige
BGssd Geuatr@uw. 2psCear, (X1, Y1)-6r H&wsCsr
¥x1 + ¥+ 8(x+ X))+ f¥ +y1) +c=0pen Qg
(X1s 1) BLrd@d Osr@aemy, (X1, y1)-8@mHgH eusnruh
OsrGetsmgaenadr Qer® praww, (X1, y1)-s Si%uwrsEGar® & s
e sweirurBiselr peirgEursd Gulusmad sreoreori, Grn
apsr b Gy Car® srdTusng stafllfed BAmpieusorid. 1xy, y3)
anlL 5H&r QauafllGu Fuuuisr st GidwmaGar® Ssr®
Bredor stedrugih, (X1, y1) aulcsusmrulsdd Holdar  =ysar
SEmERar®@ (X1, y1) QL$ss @si(eer ssTugnd
&[5S D LT 60 il « ;

A,

P-sir gi%maCar@ Q-aufié Qesrpd Q-oir Hwwe.
Gar(m P-aufléd Glesdaub,

sutti.th X2 4+ y? = a? srefrpu, P, Q ysrefissir (X1, ¥1)s
(Xas ¥o) 6reir gutd QT 6ir Gartirth.
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P-6ir s1&wrdBar® xx; + yiyy = a3
83 Car® (X9, Jg) sulflé OFsveusred
Xg X3 + Y201 =

pa8au, (X3, yg) yeal xx; 4+ yy, = a2-sb QmdG.
Sesreug Q, P-6ir H1&uwrd Cariliy & EmSiGLD.

V@l’ gl%w ui yareflsear (Conjugate points): Qo
Aeir el @meir et Peir H&wrECasrH wHpHereufsF QaFsr(med
B0 yerefasr g dwr Qi yeraflaer sreard gpou@b.

1% Qus Car@adar. G CarBsener qeair Psir giduwro
aerefl wHA@ETHd Guodsr, ECasr@sdr FEw Gus
San@sar {Conjugate lines) srarrd gnpliuf .

@ ULL-SDGE STTHES R Gariiyer g%wrl ysrefl.

%2 4 y? = a?-q& enips Ax 4+ By 4+ C = 0-ar &1&wors
@) er efl emud &7 ewr Geuentr (B onard @ sreir Geumth.
Ax4-By+C=0-6r g&wrds yeirafl (X1, y1) star&srsirGaurib.
(%15 y1)-66r H&wm &Csr®B xx3 + yy; —a? = 0.
. Ax+By+ C =0, xx3 + yy; — 62 = 0 @& susrur®
adr @Cr Carily.2ud ghsgh.

1_ N a?

AT BT T°C
Aaq Ba?

Sp&ECar, Xy = — o h=— < -

2 2
Ax+4+By+C = 0-ér gidwriiyeraf (_. ’5(‘:’, - ?gv

£ :/ (%1, ¥1) (X3, o) yenaflaer x2 + 32 = 02-g9& sring
K wir yirellastrgh@iu sl @iur@.

(%1, 91)-61  G1%wEBar@ (xg, y2) oufé Qasir@sd (xl, 71)»
X2, ¥2) Siloor Quih ysirofEeh srerd et Gurih.
{X15 y1)-601 g1&wr&Car® xx3 -+ yy, = as.
8& Car® (X2, o) anfié Qasvaugrsd
X1Xg + y1¥3 = a2,



PATAMIIRT) 107

@ Ix+my+n=0 hLx+4+my+n = 0 Car@assr
X8 1 y° = gi-mé& snihg %w Gus Car@asarzshe odu
&= GOur @ .-
8w Car® seysr et Hair giduwr i sirafl Lo B S 68T Hlsv Ep
Geir, @b CGar@ad GSwr Gub Gar(H@mer eTeF eMeOF
wgsBGsrid. A
X3 + y2 = a2-;& erips lo + my +n = 0-6fr S1%uwrcs Lyeireofl

- 2 2 .
...I?T, — 7_"_:11__) @ Lydrefl llx + nmy + 1y = 0-0  @ymls

2 2
ﬂﬁs&r.—l_{}ng. ., mntiar + np =0

{o-a1) (I 4+ mmy} a? = nny.

oy . s o . *
el 24, gPss yseflow BEO ydeflures Garer.
BT EEl 6ot & 10 6or LI (e
%8 4+ y? + 2gx 4 2fy + ¢ = 0 suili-SA6 prevor gpedr Hedr
BEOLdaf (X1, Y1) sTomd Glamsir eurid.
(%1, p1) anflé Qedguid Bronfldr Fwesrr®
X — Xy y - Jl1

cos g sing

Ahe @b prer x uwitsr@ IphIsEn Csrenrid g,
(X, ¥) (X1, 1) B0 yerafuler GeoLiul L Qsrdo r.

-]
WD ~50

)& Gariig s OP = r staflsdr, P-6r  pwsHIsrdv ssir
(xy 4+ rcos §)s(y +rsin 8). @ yerall e’ eusmyudsd Bwh
greéd (%) 4+ rcos §,2 + (y1 -+ 71 §,% + 28 (X1 + rcos 8)
4+ 2f (1 4+ rsing) 4+ c=0.
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(2-g) r24+2{(x,+g)cosf + (1+f)sing }r + x,®
+71%428%) + 2fy1 + ¢ = 0. (¥1, Y1), PQ-oer p@uiysiraft
WrSeoned @& FuSTUNLT® eumib r-sr wAoyser G
Sjarayih Lrguli. Ry o s warars B GL.

(%1 + 8)cosg+ ¥y +f)sing =0
cos § u+F
(d1-z) 5ing= "% Tz
Brenfler Ewsrur®
.. WU e 4 §
cos § sing
¥ X _ cosg
y =y sing
= f
B X1+ g8’
(O-a) x—x) 5+ )+ =)0 + ) =0.
(@-g) x% + 1 +eGE+x)+f( +n)+e
= x12 + 312 + 28%; + 2fy; + ¢
(3-8 T = 5,.
woglil 15:
X2 4 y2 4 4x ~ 6y + 9 =0 ol SHeir provrssr =

~

(1-31)

pwEGCsr® tan—! ; Garewr ezt 1Ipodcnlar ojeup Hsir

B@UIL 6T ofl s EhenL_w @)Wkl Galsny 6TeT T ?

Sipsmau  pra@ardar  pOUYdral (X1, y1) ererg
Qe Geumrid.

B ewfledr &ost ur(®.

X1 + 1+ 2+ x5 —3 (0 + 1)+ 9= x,2 +y,?
+ 4%y — 6y; 4+ 9.

(D-3) x(X1+2) + y(y1 — 3)—%12—y2—2%, 43y, =0.

B&ECsr@ x PwHCsr® Wpils@ Csremrtd tan—1 z .

X1 + 2 3
Tn =375
(o1-g) 5%+ 3y +1=0.

S (X y1)-6r Quiigeueny Sx -3y 4+ 1 =0 DpGid.
wrflfl 16 :

x2 + 32 =a? el $80 (h k) ysrefanfs Qaedbay
prowsefisr pOOLsrallen g Buik@asmyuld % d Sreirs.

(hy k) suflé Qeevgud proemesr Bssr pHULsTeR (X1, Y3 )
v 65T M) Q& eir Gourid.
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(%1, y1)-8 BOULsTalwrsd Qarevdri. B suofler Fsirua(®
xx1 + 1 = %12 + 1%
B& Car® (h, k) euf& QFsbousmed
hxy 4 kyy = %12 + 312
(%1, y1)-67 Quisgusny X2 + y2 — hx — ky = 0.
@a (0, 0), (b k) ysrefllssr aufiE Qe @ ML
. aFELD.

25.) opdeow MOWINTSES  QESTEIL. 6 JHEOFULDiw
a\HHer swatur® x? +-y% = a% Qi anFId P
areirp @ ysiral @55, OP, X @puwsGar®@ Uplts@s
Barexrid § sTard QETers.

Y
o)
e
! 0o ™M x
yl
uL10- 51

P, a7pzd Sréd anlLsHod QEUimind SET X pwrd
Qgrdv = a cos 0, y pwsPsrde = asin .

Ao Qriisaficd x2 4 y2 = a2-0 GOSEWL Lsiraladar
(%31, 71)-d@0udbesd (acos g, asin §) eréry GHNI_e0 stafl
SIS QHSGSLD.

(acos 8, a sin §), (acos ¢, asin ¢) ysralsdr G &wrd
@ Garily er Fuerur@.

X-—acos @ . y—asing
a(cos § — cos ¢)  a(sin g — sin ¢)
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— -+
(91-g1) (x — a cos 0) 2 sin 6—2—?. cos o-i—q)

= = (y —asin §) 2 sing-2-¢- Sin0—12—<,2>
0-2—¢ P AUGESTO X cosa';? + y sin

L3
o4
e

2sin
= @ cO0s l_L-;_j) CTET I QU(HLE, '

p* yeirefl paips ‘@ yereNGuir® epeirgiig.er °f° Lpeh ot
WL 5815 QarDsueny Al & @G-

‘9’ QLSS Qar@eusmy X cos § + ysin g = a.

‘0’ QLHsd Qar@euemyulisr sweruriy durd 950y
popurayh srawerd.  (X1,)1) @-355 OCsreusmy
XXy 4+ yy1 =03 QBig X1,y Qupiiet uld BrGs
acos @, asin g ooy FLTSR6Ar ¢’ QL5855 Qrdousmy

xcos g +ysing=a 6T 65T I su(HLD. L G Ser
susiur® (x — a)2 + (y—b)? = R? erafler, euli_gSsb
BmEEw yerefuder  pwSdsrSH0amer (a4 Rcosg. -
b+ Rsing) opobn. gl gy au’i $Hsr Ozr(Houcmyd
Fwerur® (x —ajcos § + (y — b) sin § = R op@ih.

26 ABC wp&Gasrenr &6
& [ DISILL D sueny b Si,
& O o eu il ool S Ssor
opFwrs @G sl $
Seir swerur@ x2 4+ y% = R2,
AmEe R apmisulir.  apenp
wr@. - @i, yéECsrenr 56t
& adr A(R coss, Rsind )s
B(R cos 8, R sin 8); C (Rcos v,
Rsin ) ereirg Qarerereori.

uL15-52

@i S (0,0), G pGsGsrci@® svwwn {§ R (cos oL
4+ cos B+ cos 7), 5 R(sin ol + sin B + sin ¥) } o,
SG
Go~ ¥



antiib 1y

O-61 SpwHNsrIvS6T (X1, y1) steoilshr, G-6ir X aput S T8
____2 X 0 + X3
==

(2-3) & R (cos ol + cos B + cos ¥) = '%‘—

s xy = R (cos & - COS B 4 cos 7).
@eisur@p y, = R (sin ol + sin B 4+ sin 7). @arug: yeredl
esrt sowwih (Nine Polnt centre) N ereofler, BT Ui
Q@rdvssir ;-{-(_cos oL + cos B+ cos ?) ;(sin o 4 sin B
+ Sin 7) pGo-

R (cos ol + cos B + cos y) = 2h, R (sin of + sin §
+ sin ) = 2k eaeaflar, G (3h, ik)» O (2h,2k), N (h, k)
G LD, gerug  Ldraf L pHar ewndrur@ (x — )?
+(p—Fk2=1R%.

wrHf 17

x2 4 y? = a? S Heir GG el e.
Qar@eouemry ugd BEHULH sfulsyr Quiigaey erdiar ¢

NG

8

L L
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AB-ér pOOysiall M (X3, Y1) eTe0rd Q& reir Geurih.

P (acos §, asin §) QLssd Osr@aumyulsr ewsrur®
xcos g + ysing = a.

85 Qsr@eaiemy X pusms A-pd Cleurlig.er A-gr Spuid

a
Qproosdr ,(“‘cos‘a’ 0) |
o - A ; g
Buaur@p B-dr opuwdcsr&os st (0, T B)

. a 5 a
2% = 0} 2y = s o
B¢ sudrurBaansdnhS § e IS D Ber
a2 | a? “
B Yoy =]
l s 2

' . 5 1
2 (Xys y1)-6T Quibi ey o s 5 =

udpdassr 10
. Geftaumn  anli Bisafnsr smIowWiLh, 2}, F S &
BT TS 2—
(1) &2 4 y%2 —6x + 2y — 39 = 0.
(2) 2x2 + 2y? + 6x 4y = 0.
3) 3x2 + 3% ~—5x—6y +4=0.
(4) 3x2 4 3y% 4 4x =8y — 41 = 0.

2. Qeralmd YsireflEsr oLwLTsS Qaridossr hoFursd

Qar i e L BiGafler FuaTuriy s &rers m—
(1) swwb (1, —4), gpeop 5
(2) sowwnd (=2, 3), @por 7/2.
(3) sowowibd (—1, —2), ey 3/2.
(4) ewwwnn (3[2, 712), spor-6.
3. Wdreumh  yereflasrenfs  Gadgub  enti S
FUSTUTL 1. 20TEH ST era ‘ ;

(1) (0, 1), 2, 3), (—2, 5).

2 (1, 1, 2, —1), (2, 2).

(3) (ls 0)9 (29 3)’ (3, '_1)-

4. y=2%p =3x, =15 + 4 QGar@aserred owhs
apHpansL & suosdrur® srdrar ?

=2
N
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LD
5. (2, 1) yerefouf puiisdrd Qsr®w anle msTS
BT IS5
6. opuBislbrupp 3x — 4y = 12 Garilg dorud Gzr(@ib
AL STTE ST S.
7. x2 4 y3 = 25,2x% 4 2p% — 4x — 3y = 25 aul L& sir
QarHOwear Hpajs.
8. Geraumd el L Bisefler FLETUTLY STé SIS : —
(1) <pd s (1, 2) ysrafismw wWIOTSS QST
auit b, ’
2) (2, 3) ysireflenus spIorEs QaErar(H, X Jpuwd
g5 O@r@n e ib.
B) x+y=6,25+y= 4, x4+2y = 3 Gar(aermed
Sowhs WSGsTT ST GHpeIL .
4 (=1, 25, (3, —2) amfl x =2y Garlnysd
ewwd FOEGL auL L 1b.
(5) (@ —3) (—2,4) uysrefstr @QEmseh
@ariiy Sor el or&d Oarebr UL b,
6) (6, 1) yeraflmw eoworss  Geror®
5% 4+ 12y = 3 Garliy & Qar@i aulLo.
(7 @, 3) suf Puasdrs Qsr@Hid e,
(8) HJpAIAmpbeH Qzrdv 5-&@ JLUTED JpWib
SH%BT5 QBT antith.
(9) PpuBsTS QsrHL a QLN eI LD,

9. x2 +32 = 400, x2 4+ 2 —10x—24y +-12=0
IspeSTH UL ST sTar Hniays. :

10. x2 4+ y2 —A4x— 6y — 12 = 0, x2 + y2 — 6x+18y +
26 =0 yppOsr®H subiselr st [Hmies. '

11, we susspwrg (— 1, 2), (0, 0), (6, — 4) ysirafissir
X+ 38 —5x 1+ 2y—5=0 eulr 556&r 2_sr, Qeuefl, oL
eeny <r6ir Hleud Heb TG R_6m 6TSTLIMSE &IT 6T & .



114 SpWSQ ST ey ey Sl B

12. (7, 1), (6, 4), (=2, 4), {5, 7) yeraflaarred JjwwhHs
Brpfemp @ o' profopusr Hpia|s.

13. 9o ydrefdedppg 4x? + 4p? =9, 9x% + 92 = 16
AL BISE5sE UL Qasr®uamysefisr efdgem 3 : 4 erefler,.
DtiLysir afludesr GuibiGaleny 6T e 6T 2

14. 96 qqfrelﬁuﬁleﬂ@rr'bgl x2 - y2 - 4x +3 =0, x2 + y?
—_6x+5=0 alLlsams® oMmyujd Qzr{Heasnysefer
Aazh 1:2 car Qods U yeral Quibigloruledr,
yeirafuler Quii@amr @G I L-Gwer Apes G el b
HeiT emLOWID, ZhEOTEDUIS ST 6T S ‘

15. (1, 0), (2, 0), (3, 2) yereilsafslmbs R LG
§16@ b Oapr@assyaefadr  Borhissir BrGe 1, /7, 42
erm;ﬁ\qgunﬂsur L SHer Fwdrur® ereirer?

16. (xx. y1) ysieN@edmha x2 + y? = a® g5 G570
6D B 6T auenyuler, b QFrEHousmySsr Sjeup Peir
predr T PP  Jmwps yé&Caremr$Seir Lty

a(x;? 4+ y?—a?28
1V Tl A erew &.
X124+ 13 Py

17. m-er erid  wHOysHSE Yy = mx Gar@®
x2 4+ 2 —6x—2y + 8 =0 el 59 %S QrHid?

18. 7+ x = 0 Garly 56 podursrer x? + y2 — 4x:
— 3y + 5 =0 an’rL sdar OprGeuenyser wiremnsu?

19, (6, 3) yereflanf gpuikisdrs Qsr® eui Bisefler
FUGTUTL LS srars, Gd s isafsr (6, 3) QsHd
Qar(Housnysafes Fwsrur@n srovs. Qb @@W@susmu'as@a@.

S8 pH aumguh Cpi@ogs Carig.er Bermiser o
T&uT ;ﬁuma

20 (B qeimﬁuﬁlsﬁ@;isg x2 4+ y2 + 2gx + ny +e=0
L $56@ euoruyd QsrBsusmygsrt Sbapsi Qmﬂ!@ﬁﬁws
A wder, SLieir afudeir QuIBiGeleny &1 6T ar?
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Ggreossr (d, 0) pSid-

P-eir &u,&@gw&u&ﬁr (%1, V1) sTord Q&Eweirs.
SP2 = (xq — a@)? + yy*

uyaudmw SHar eowd QZrdvs 50 e = 1 JhSWT O
SpP

—

PM
(-g1) SP2 = MP2,
(@-g1) (31— a)? + 3,2 = (x, + a)?
(S-g) y % = 4dax,;
P-dr Quidigeausmy y? = 4ax.

s uradrwsHdr Hlwrer eswstur® (Standard
Equation) @b,

& swarur® uradmusdear PN? =4 AS.AN eauges
seolpll usrur@id. A yeirefl ureulmrwsRear @pw (Vertex)
sraraid, AS-eir BrAwrer ASX g (Axis) erareyb
g PO LD, o

4, y2 = 4ax ugedwwid AMFS® : X-aT WAOLS Gop
wrs @aadedr y2-er indliyn JsuarGp G msEr sedsr x-ar
Gomp wIAOYsEEEG Y- wHoysdr Sspuler  JpGi.
opECGet, @redrLraugGl, ApSTGEISGI ST oL L_risafied
&]coo.iﬁ(l)l'&l@ A-6ir Gt usEsSBHd auSreusmy ZrrHl.



146 ' @SB a6 el Bip

3-8 AOYS sararQuallar y-er Al Sererrgl.
. <2paCeu, audmraumy X HuSmS A-cd Gou (B

x-air wFOy eramanilefd@s (Infinity) smué& GFds
QFsbsv y-6ir LofiL] SBIBIGTLOTELD.

subrausmyullgieirer  @sueurmp (X, y) Leraflégn e HF
Boowrs (x, —y) ysrafl sudsrasengudsd Goousred pusCsr®
ugreurund g FeoLwsr@n (Symmetrical).

Fwsgruriiy s 0 wHnI&r x-&G5 Gar@ssred y2 = 0.
Ssreug y-6@ 0, 0 wIAoysar eumaugred X =0 Gasr@®
sudrsusmyemit @Cr yeireflwrssr (0, 0). (0, 0) yeiraf saflsd
Qo @u. PsCai, x =0 GCar@® urudrwssms (0, .0)
8Lba s OzrHwd

x-&@t ue wALYsAITE QEr®sS, SAupipe GCpi
Blowrer  y-ar wHoysdré sreavwrs. Geupmed I Pub
ureudrw 6T o_weaud WPHUGSH L GH0 ST,

\/5 Gogaaid (Latas Rectum) : PN-sir B2 sulrsusmysows
P'-6b Glouly. s PN, P-a&r gSgrud (Ordinate) sTErayib |
PNP’' P-or QrreLé @gsgrub (Double Ordinate) sreoroqd
o oG,

S enflé Qesogud LSL' Grieors g sruh Cersoid
{Latus Rectum) ererrsu®Bib.

SL-gp l erards Qawewrimsh L-sir puwbQzrevssr (a, 1)
L y? = dax-eb Qpriusred,
12 = 4qg2
o SL = 2a
<ghaCai, Gprasevid == 4a

6. uradrusdldr YPuUSMS x PuTESD, D HET
apSrlesai1S QzrHalmyenw y SpuuorTSe|h  Qsrer®
Sjgeir ewdrur®  ¥2 = 4ax  erer HpeGeyib.

uyeudrusSesr e wdil ysreaf : (a, 0), aper (0, 0), yund
¥y =0,2 19i5Car® x -+ a = 0 steord Srewrsoria.
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uradrwsdsr Seds Q ysrefeow  (¥1, 1) sTHrE
Q&I &

A

YE

w15~ 69

Q-ar @dgruwrar NQ-dr B8  adwasmyow  P-sb
Haur’ g e
PN2 = 4 AS. AN
w2 4axq
QN2 < PN2
< 4dax,y
12 < 4ax,

BuiwrdACw Q (%3, y1) yerell uraBrusSsr ypSHGL
Qeir 312 > 4ax, erer  Hpieusomh. apaGes, uFaudruiid
sor3H%r (Plane) @uurawrst YNE@G0L. @@ UTSSHdar
yirefsés ¥2 < 40%, wppl ursddsr Udralsensd
¥2 > 4ax, sudmreusmpuisr yireflsepde y2 == 4ax.

7. SuiHdw x uorsepd, o ulis Garilg w ¥
S WILDF S LD Q&reirer, Ly eu e & Sleot Fuwerur®
¥2 = da (x — a) FPpGb.

PuGHowr  x  spunorseph, e wdfigdrel S el
SWSHESG — Crigssrar Gariigduw y SpUIOT SOYLD



148 W SOSTE aug o Sewfl Bur
Qarreirert u;rm&vrm;sﬁs&} suarur®@ y2 = 4a(x 4+ a).

¥y2 = —dax sweérur@ Gourh Gure AX'-2 G WD T S
Q&revr ureIdrnrGLo.

™~ Y

x 9 OJ A X

y!

[+
w0 - 70

Y SpuSS%T QHWITSe|b, X QpuidSér prl-smns Qsr@®
ausrUrSayh, 4a-p Cpremursa|n Csreair. Ly sHer
&Loeit ur®

x2 = 4ay @i,

2paGal, | Gariudmis Osrqvuldr Quouy, -4
Cpigsarar ' GarilydGHH L0srvEGs5 s6 Caupul®
Quisgh @@ ydrelusr Quiigaumr, ! GsrigSor
opuursen ' Garlgdqw - p@mhesss  Qar@eusmy
wrae]ld Qareir— uyauSTwLorGLa. .

(Px+qy+ r)2 = K(qx-—-py +r') &msﬁfu:n.'.xq.?m‘

px+_qy+r)*__= K g =gy - 2t
Vp® + 4% VP 442 \. VP2 g%+
6T(UQSEOLD.

6T&T Ml

a¢ ermsérurr@ R UradrwusHdrs GREGL. QO urdw
wiBer puib px + gy + 1 =0, LS55 Ozr@eusg

. K
- 1 =0, 5 6 K .
gx = py + T Gprasvgfer Herid VT ShGLh.
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wrgfl 1 , Ty
@
(3, 4)-gg e ulin yerefwraseah, 2x — 3y + 5 = 0-@
o ulis Gar.rse|n Qereftr,. uysudrwdHer FwaTur®
sT6iTEOT 2
uraudrngder ouwud Osrdvssse = 1 ‘
LTS SIts L6 oflSEns G6TD P (%, ) sTesrs @areiras.
. 2x — 3y + 5)\?*
(x=—32+(—4%= (W)
C(og) BEx—32+13 (-8 = (x—3y+5)°
(-5 9x2 + 12xy + 4y% — 98% == T4y -4 300 = 0.

wrgfl 2 : ’

y2 — 2% — 6y + 5 =0 uraudrwsder apdor, o ulid
yerafl, 2 ulisCar® BEoup DO ds ST 6ubT S

Y2 = 25— 6y +5=0

(9-g) @ —6y+9—2r—4=0

(o-g) G—3?=2(x+2)

(=2, 3) yeralsg opHow wrpdsr, yiu Spukissro
Gurpis s uradrwudHssit suwagrur® Y2 = 2X @p@w.

apSurulsir SpWSOSTEOS T (— 2, 3)

! | :




150 | SpwHPSTE w1 Sewfl Bib
3, |
S-68r B WSO ST SVE 6r (-— 3
' 5
o_19i&Gari iy ér sudrur® x + 5 = 0.

ulipdser 12

./1 Ve=ax$b o0  urcadrusddvs GO&SGCwer
Poieys. ser pr&mm, Luﬁ]rruqeirsvﬁtﬁlsb‘r 2 WSQSrIvESHT S
G IT GUIT 6«

2. y= ax? + 2bx + ¢ e ureuw mg@&m& & P é@unear
Poeys. oser Gprseow, e ulidyedrefl, aplor, e uiidk
Gariliyy Srd SIrenrs:

3. Spdser, urudrwhisefdr @dor, e udidysrad,
2 uli&Gar iy s Srears
(1) 4y = %2 = 2x — 11
2) »¥»=8+9
(B) Y2 +4x—2y+3=0
(4) %2 L2y =4x—3
() x2—4x—5y—1=0
6 (x—1p8 +@p—22=3x+y—1)~.

§

8. y?=dax ugudrug Hed (x1,)1) GL-sgs Csr@
QUMY & EWerur @.

P (%1, ¥1) ersirpnd SshH@ s Op@adEw : ysredl Q
(X2s Vo) eT6iTMIth QBM6IT S,

PQ-&r sudrur@®@ y — y = ;2 ;1 (x—x1) . (1)
&
(X1, Y1) (X3, ¥g) ursuSmusHed Gmliusrsd
y1¥ = dax, o (2)
Yot = 4axq .. (3>

- (3)- 8 (2)-Omps sPssTD
y).g "‘y"“ = 4“("1 - x!)
Y =— y2 4a

(Grd) s Tx "t
B wHieu (1) FLrEdedr PQ-6r Fudrur®
: 4a
y —yl == = (x - xL)

Y1+ Y2
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Q, P Cur® Opnmhd Qmduish sB@B@ Bt pUB ST
x‘ = X1, Yg == Ya 6T&)T$ @5“’6’?"6’7‘,

P @Lsad QarBouamy SmLs@Lo.
4a
B Fudrur® y = y1 = , - (¥—x1)

2y:
(@-g) yi (P=y) = 2a (x— %) A
(@1-81) ¥y, —¥,? =2ax — 2a%, P
9 c;a—@?’mfw“,)

(9-g1) yy1 = 2ax “"Quk — 2ax,
< =Jox ~;-,Amcl —~2a%,, {(2) @® }

P LS5 @gw@mmyuﬁ)m FLosir @
,=2a(x 4 x)
Ao E5H o —©0,0) Qs Osr@Geueny
0=2a(x+0)

(o-) x=0.
(21-51) Yy Spubd.

9V y = mx + ¢ Gar@d »2 = 4a® uraudrwied Qo Hibd
yereflser.

Qo' (Gib. yerelsener eearg P arerd  Qsrsit Geurid.
Car@w uraudrwepth P anflF Gadaigred P-dr  pud.
Qardvsdr, Gar®, urudTwdsiE Fusrur@seid CurEGhs
CouatrGio. paGeau, Beel@m cudrur@adr OGS TD
. Siaysst Qaul@u ysraflsefsr opuSClsrivserr G-

"mx + c-gp Y2 = dax  sweTurilipd y-5G FLroB6r
(mx 4 c)% = dax

(- g:) m?x2 4+ 2 (mc — 2a) x+c3=0

Az x-o Qouyd susTur® Hadldsr [Qshe DG
Siejadr o_ar@. Saupmp X , Xg eTeord QET6&. X1, X2-80
Yy = mx 4 c-s0 F@H Glasrr@uxmsur @b Al SEEs 9 sr,@rr
Beowrer ndlyser mx, + ¢, mXz + C.
<p5Ceu, Qeul (B yadraflsdr (x,,mx, + ¢), {x2, mXy + €)e
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10. y = mx + ¢ Gan@ y2=4dax upaudrugimss Qgr@
aspEeiiu sL@our@.
m2z2 +-2{mc—2a)x +¢c2=0 e (1)
FLOSTLITL.Ig.657 Sieysedr Gar(d ursudrwepd QeI Lysref ‘
sofledT X pwSOsreévaEer sTsir il WpHUGHuDsh &etrGLmid
uruSrwsHodr y =m¥ + ¢ Qzri.Gsu G (B @
et ofls@pih pearpiu@®n. b Adoulsd jeud Pler apw S0 sy
&6 FLOLOT GLD.
starGeau, (1) Fwsiruriiig 6r ﬁxfa,as@;nb FLoLor i,
4 (mc — 2a)3 = 4c2m?
(2-&) 4c?m? — 16mea 1+ 1602 = 4cim?®
a
_m

y = dax uyeudsresd Ssir Casr@H sy FLoasT ur(H

C =

a .
Y = mx + 7 HS0.

11. yemx + ¢, ? = dax-25 QT QSTQGSH v
SUSASTLO &L S &SI,
y =mx 4+ ¢ uyudbrwudHdr P (X, y;)-d OsrGun srerdk
G sreirGeurid.

& PT-6ir swegrur® yy, = 2a (3 4+ x,).

2% —yy, + 2ax, = 0

mx—y +c=10

BHemeu Cr Carin.ar FwdrurHssr.

2a 2a%,

T e

o — 1

c

2a
(-31) 7, = X, = i

(x1, 9,) ureaulrwsded Qohusred y,? = dax,

4a? c
2p5Cau, - =4a't71

C =

3=

L Pess sosrevma (2, 20
6T Al S0 G T B0 S (m‘i’m)

-
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12. g ydafl@adgis uradrwilne 86 G‘gw@
ey &er 2 etor @ o7 e B mie)s.

ureudrwsSer swdtur® y? = dax, yeral (X1, y1)
eTerd Qe &,

" y2 = 4ax-6if Opr@eusmyuler FosTur®

a o s .
y=mx + % 6TeurS Seur GLamib.

1

B (1, 71) P Oaciwd y1 = mx1 +
(%1, y1) ouf& Qecogith Gzr@eusnyseflsr ‘m'-ser Q& e
urCLred Emrd@. (1) suearura. m2x;—my,+a=0 (2)
sTET Ml 6TUBOTD. A BHLig.& FLETUTH hOSBWITD M-SE
Bo wdHiyssr suggn. peaidaurm wHiysgn GprBSvwrs
@ Opr@uemy o ar®. RBsCau (X1, Y1) uf Qo Csr®
sueHF S st 26T ([H .

13. O (%1, y1)-NmBEg y2 = 4ax-5@ aumryd QzTG

mm;&aﬂm Ferur@. )

(%1, ¥1) aufld Qasoguih G:BITI'_lq_GBTv Froasr ur (.

e Xy ¥ =0
cos § sin §

= r eT6lr ; @Q&reir Gourtd.

gs Gar® uraulrwdoms P, Q ydiallsefshy OQaulig (@ed
OP, OQ parmusdwl (AeTou@mld FOSTUTLILTH SaTdE
& eorid. (Y1 + 7 sing)? = 4a (xy + r cosg).
(ag -g1) sin?g.r2 4 2 (y, singr — 2a cosd)r
+ 1% —dax, =0 we (1)
Bb5éE Car® uruSTud mass Qsrired P, Q L6 aflssir
@arpiu@in.  Ip HAoulsb OP, OQ Beriser Fwotor@Ld.
& (1) suastur (6 Qo swus Siayser o_&r[H.
(y1 sing — 2a cosg)? = sin2g (y,2 — 4ax,) 2)

B& euwsruriigEd (X, ¥1)-0G5S uraudTwSHSS
eenrijid QgrHeusnysaflssr GUre&H&Bws &rewreorid.

cosd, sing-s@0 LS BrGan 2!

=g (2
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FLr&Rdr, P-embs urudrussse eyl Qsr®
SUGHT Hafl6dr FLaghr ur Ae_d@Hd. Q@ g (B sueny Sei e
Fwarur®

{P1( —y1)—2a (x—x1) }2 = (y—y1)2 (y12—4ax,)

(a1-g1) {1 — 2ax — y;242ax,}2 = (y2+4y12—2py1)
(r1® — 4dax,)

{ yy1 — 203 — 2ax, — (y12 — 4ax,) }2 = {y?—dax+y.*¥

— dgx; — 2 (yy1 — 2a x + x1) }2 (112 — 4ax,).
ang, T = yy1 — 2a (x + x1),
S = y2 e dax, Sy =y;2 — dax;
6T @ QErabrred, Qsr(Haimrsafisr slosrur®
(T —S1)2 = (S + S; — 2T) Sy,
(a-g0) T2 = S5,.

wrdf 3 :

e ulisECarly fdpsgh ‘L,sirs!ﬂassrﬁsﬂ@;i;ga uyeudarict &
SIEG ousmyun Qar(Heaumyseficr e i’y (Sain'swrm
90° st Bmieyss.

2 uliéBariy.er susdrur@ X + a = 0.

o 19i&CErLig edBEEn Lol 6T e @nw 0T
&&r (—a, k) erard Qarerersord. (—a, k)-e0mbs vyurwd
Si&5EG ausnyu b OFrHeueny saflstr =i pe FLokrur®

§Sy = T2
(@i-51) (% — dax) (k2 + 4a2) = {yk —2a (5 —a) }*
(S-21). y*(k? + 4a® — k2) + x2 (- 4a?) + ... = 0.
(D-8) 4a%y? —4a2 %3 + (e = O

y2—sm' Q@ep 4 x2-6r Qasq:g == 0

& @56 Car@asafldr evtiu L. Garswrie QFmG 5T
LOT @G1LD.

14. ugadruggsn ywallls HuERsrass y2 = 4ax
FSTUTL 360 t-67 WS wHIYsGL X == at?, y = 2af
Qurmbgit. &Gy, wreudTwSaH yerafuler. Hud
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Qsrdvadr oGy wrgy yrdlwresr (vatiablej t- e GO~
Quigud. (at2, 2at) ysireRemw ‘* sTeT6d LOFL-

t2>4+00

t-»—0c0

uLis-72

ureudrwsder apdor t = 0

2m Ysrell uyaudrusdsr CupuaSulsd Qaunidr ¢ iBmse
wrsah, SPLuGHuisd Qs ¢t GMPUTSHYL BHEGL.

15. ¢ QLFzss Qzr@easoy :

¥2 = dax-eir (%1, 1) B-595 Qzr@eusny
yy1 = 2a (x +{X1) re1007 S SRRrGLmip.

BrIG, X1 = at2, yy=2at srend QsrabTLrd t° P-S515
QgrBaumyulesT Foerur® aumLd. '

& P GLsas QsrHaiomy v
¥ o 2at = 2a (x 4 at?)

(S1-8) =%+ ats

N

‘ GLSHS @ﬁm@mmuuﬁlsﬁr Friley of s =

t= Qg:r@susma' SpwsSCasr @ Wpni&gn Casremr gﬁsor'
adfimsms wran (Cotangent).
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16. 1%, 42" @Lsmp Osr@amyss Qo @b ysrafl.
‘1%, *ty’ BLsss  OsrBeauamysafsr g o6t ur (s sir
Br@ew yt; = x + at,2

g = x + ata?2 BpGLD.
8§ swarurGadr NGl Ssrd
X = atyts, y = a4 (i1 + 12)
Qau(Bub ysirefl { aty to, a (1 + 1) }

17. %y, 2y’ yaraflladn @Q%ws@EGn B,
{at12, 2at1), (aty?, 2at,) ysrefadnr GowréGuGasr®

P - Zat;_ X aty?
iatl —2at;  at1% — afz?
" y - 20‘1 X = aty2
(era) 3%a; f (f1 + 12) (1 =43
2 (11—12) Aerevws Pactor) a]as;u (Esd (S&In_q.m FLOGHT LT ()

y — 2011 ‘ x w— at1
T2 T ThFts
(a1-g1) (¥ —2aty) (11 + t2) = 2(x — at,2)
(@-a) y (4 + 12) = 2x 4 2at; tg
1 *to° yereflser ‘1 Yeralul_S& erpuirsd §)b Bredr
T GL-sad Qar@auamrurgn. o955CGa), @& gudruriy.
11,t-5@0 B 1- FLISEE ‘I’ BL_Fa515 Osr@Heusnyuder
Fuerur.

yE = X 4 at2.
18. ' QLigs QeriBar@.
' QLsamsF OemGsr® (at?, 2a1) anf ‘P [LsHd
QsrBoumys S CHieSasT@L.
+ @Lssb Opr@acrddr orie ofsb =
‘4 QL5515 QehiBariiiy dr grie) efsh = —1¢
QErIBsiri iy sir Fuerur®
Y — 24t = —t {x — at?)
(G-9) y +ix=2at + at®

19, 4,y QLSS Genbsr@ad Garl@b ysre.
117 St9® QLS QEmGsr@seaflshr Fwerur®asr HrGe
¥y + x1y = 2aty + at48 i
Y + Xty = 2aty, <+ ato? @G,



FalbL] Qeur’iy seir 157
B& 106 LT H S BT afl(Bef & 1965r
X =2a + a(t12 + t1t2 + t22), y == = aty ty (1 + 12)
5. QEGasr@asst Qeu G yeiraf
{2a + a (1% + ty13 +.192), — atyts (11 + 12) }-

20. ugeumrwsHeir Fleo UMTLGSET:
e ¥

R

x T z A g CIE

e ¥

LB ~TE

B uL S B uFuBTSSer FwnsTur®
y2 = 4ax ererd QEmer Gourid
Ax, Ay X,y SpuBSerTGLD.
uraudrusder g A, @@L S5s Qsr@auemy Ay,
e_uditigsref S (a, 0), 2 13t&CGar® KK' % + g = 0 @pe.
PR = SP (susmywemp)
uraudsrws g P-or Qpusegridvasr (ar2, 2at).
1. TA = AN.
P gL 5515 Qar@eassny yt = x 4 at?.
TALSSH Y =0, X=AT = — a2
. TA= AN.
&5 Cau, P-6r iy 50srHeusnysow (Sub-tangent) A suwworsss
NS0,
ST = SA+ AT
= a + ar®
=a(l + )
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SP = 4 (at2 — a)? + (2ar)?
= a(l + t8) =
. ST = SP.
3. TP-&@ SV Bri@ssn@Eh.
,@és Car® x = 0 Cariiy % QB Grss yt = at?.

(o-g) y = at.
& Ve-sr QSO ST BV & 6ir (0, at)

s . y _x=0
SV-ar suerur® Bt ™ T
- (3-g8) y ===t 4 at.
& SV-gir griiey ef gib = — £.

TP-ar griia) efsh = —i
. Qeusdm Gar@sailsr arue) ofsl QuUEBSEsS Csrms

- ()

=—1

5% TP-upd SV-ub sidgper @pigdsrar Gar@ssrr@id.
2 aGal, S-Bmhs urudTusSesr Osraimrsd CpieSs1s
Car® suamyudsit, Jyssit g WAL S5 @gr@mmyuﬂm
AGESL

4. g WSCarawsHear ussmsd UradTLSMSS
QBT SFer &pmea b e @iiysrefl anflé Gleoayb.

pud - 74
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8-68055 5 ABTHUMTEEHES syl CHIGSSS Gar (B safier
Sng-seir apand 515 QaTBaucruisd BBSGD-.

S-8mHa PQ, QR, RP-&@ sumpun Gpieszis Gasr®
sofetr Syaeir Cr Gariiys Hmsse8sr PQR-er & Do
L ib S anfi§ Qaogid Qesusins Gari@®s Czrppsier
s%owrpmy (Converse of Pedal Line Theorem).

5. SPT = QPW.

SP = ST ersr ot HpuefCenib.
SPT = sTP = QPW.

6. PSH =90°
a(t® —1)
H-6ir QpuwSQsrdvadr §— % — 5
S-er HpwH Opreossr (a, 0)
a(t? — 1)
t(—a—a)
1—
2t

s HS-6 erile) afsid m, =

P-air S Qsrdossr (at®, 2at)

2at 2t
at? —a 12 —1
1—17 2t

T T

SP-air erite] ef o my =

mmg =

= —1
PSH = 90°-
7. SV2 = AS.SP
PSV, SVA up&Q@arswr tiseafs
SVP = VAS (peiGourm Garemr i 96°)
SPV = AVS (SPV = STP = 00°— AVT — A Vs)
=~ PSV, SVA ey Qeaurgs W&Carewrtiser r@ih.
&5 SV? =AS. SP.

9y Fbembasr@ (Sub-normal) LI B5geirenw g.
PG-a1 sustur® y + tx = 2at + at3.
5 G-6r pusQsrdvssr (2a - ats, 0)



160 B SpWSOSTo auy ou sawh S
2.4 QFRICET B NG - AG — AM

= 20 + at? — ar?

= 2a

= urd Gprasuid
9. SG=S°p

SG = AG — AS
=20+ at? —a=a(l + %)
SP = a (1 + *) (uebry 2)
SG = SP.
10. st Crigssrer QTR aumrEer Llﬂn‘&@&lﬂ_ly.w
Qmu@m
vy, ‘U Q5515 Osr@euanyassir
yt, = x + at, 2
Yig = x + atgy?
Qe gbaper Cpigdsrs HmwrnIsr xl tl_ W |
' L 2
(S-g1) ¢, ta=—1
Qpr@eusmradr Qeu @i Lsirefl { at ta, o (t; +23) }
(o-g1) {—a,a(t, +13)}

Y ydrel x+a=0 (-5 o wWisiCsringd
BGEG0.

11. 28 sreaow (Focal Chord) mieflsaflegs5 QsrGiaeg
&6 2 WllT&GaETLig e Qe @ud.

4
s
1
1
1
|
i
1

— R G e - o wan

uLo -75
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o @i prelr PSQ asre. P, Q ydraflalmw “f,°, ‘f2°
sTeré Qarad o, PQ-dr swdrur®
P2, 4 1) = 2x + 2at, 3.
S, PQ-6d @miusred
"0 =2a+ 2at, 1
S bt = —_1
P, Q @Lbsms Osr@uomrsdsr Qui (G yeref
{ at, ts, a (z, + t2) }.
{y-g1) {—a, a(t‘ + 13) }
Ao yerel x + a = 0-b JmsGib.
s Qe yeirafl o wlisGariln o o 6rersy.
12. uga%rwidlsr @parm Qsr@audrsaTed  mks
p & G & i goer & el b QemGar’ @ owvud 2 \i&6sriiped
B®m&ED (Stciner’s theorem).
2 % e’ 1yt yareflselgad  QarBsusoysermsd
Sy ps psGsranrib DEF erem & Glaneira.

uua -76

D-6ir w30 srSoser
jottg,a(t, +12)}
EF-6b gwsiur® )ty = X 4 atg?
o EF-&r ‘m’ = 1

i3
11
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D-dGEs EF-6@ eoeopupp  DH Bpigdsidb
Qarilg.er *'m’ = — iy
& DH-ér sweéiur®
y—a(ly + tg) = —ty (x — at, 15)
(21-31) ¥+ tgx = a(t, + ) + at oy (1)

@i wrHfiGu F-8mbs DE-45 auempuyth  Gpf
G55 &Cary & s ur@

Yy A4 togx =4 (tg + 11) + alyisty -{2)

(1), (2) Gen@ssir Qant@ib ydrafl QeiGar () enom
10K @1D-

(1), (2) srsrur@sdr A@NMS5md,

% =—a, 5 =0, +ta 4 ts) + atifgls.

: QemCsri(® sowndHear opwS0o oo dr
[—a, a(t, + tz + 1) + at,ta1s]

@paGou, QERGsr @ oot x + =0 Garigd,.
Sagrang o ulisbGarin.ed B wSEn.

mréhﬂ 4

S eufié Qeoogud prawr P QS35 QsrBauanyd@:
emGursrs @mLder 5renflsr Barh 4 SP ererr Hmins.

P yedreRl ¢’ eremeyd P
BL$as Oor@auarss 906
Gurarer Seuf praww QR stearefo,
Q. R yeweflaer ty°, €19’ sTEETayLIn
Q& eir &.

QR-6r Funsirur(®

y (ty+ te) = 2x + 2anls

QR, S auf§ Qosbaugmed

26 4 2at, ta =0
(@-g1) ttg=—1L ..(1)
P @Ldsd Qar@aiamy

yt = X + ai* e
B3Csr® QR-4@ GCUrG s
B DS ULT D e
1 2

ok o
1 f1+ts wein - 17
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SP® = (@~at')?* + (2a1)?
= a® (1 4 1?)?
QR? = (at,? — aty?)? + (2at, — 2aty)?
a® (¢, — t3)? (11+12)* + 4a” (¢, — #,)%
=a’(t, —1g3)? {(t, +12)° +4}
=a {8, 1) —4ta} {(hh +22)* + 4}
(2-eB@ha t + 12 = 2t (1)-dGhs 1.tz = —1. Qi
wBoijadr QR2-6d LT & T
QR? = a? {412 +4) {4 + 4}
= 16a? (1% + 1)?
= 16 SP?
4 SP.

!

f

QR
wrgfl 5

o_1itsCariyédd d Barh Gent@d Gsr@ausnyaeafls
Qe Bib Lsrefluler Quii@ausor (¥? ~— 4ax) (¥ + a)2 = d?x*
et Apeys.

SiSsmen  QprBeorssr PB, PC  srarepd, B, C
yereflaer 1, % ©1g°s P yerafl {x,,,) eravejb Gorers.

x, = at ity (1D
Yy =2¢a (3; + tg) -~-(2)
PB-éir gusrur® yt; = X + at;¥
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g f2-—1
5 Qe GHwHIsTIROGET {._ a, ..ht‘_,__)}
. - art — 1)
Bsiar@p R-6r ZHwdsrdoser {-— Py gt

“

alt? ~—1)__ a(r,® —1}

a3 d= 1, 1>
(@) dit, =6t ty—1t, — it + 1)
=a(t —t3) (1 42 1,). Gy

{1)s (2), (3) susruradfic@nba 1), 12-3 5D HS.
A2 1% 122 = a3 (1) — 132 (1 4 1) 12)2
ds x,? 2
(@-a) = =" {(L+,2—4} (1411))
$ 25 4xq 4 X,y 2
- - el
(9"'5’) d?xxg == (yvl"’ i 403’;) (Xl + a)?.
(¥15 y1)-6ir Quis@eusdy d x? = (p2 — 4dax) (x+ a)2.

wrfHf 6
¥? = dox uraBrwsHpe G Lsraludsd 555 suemruyb
@z (B eusoy & afl ot G duc @i gwr b Lrmd

sTemuETAT o aefs, yeir efiud sir Burng ueng
¥3 = 4ax = tan? ¢. (< + a)* eraw Bmisvys,

@ED Yop—

yereflslr  apwbRsrBossr (x. yy) ererd  Qarsra.
¥? = dax upuBTw s S O brH ey ud B FLo6iT T (R

y=mr4 -’% st d sesr GL.mib.
N&Csr® (X1, y1) aups Q& st (1350
a .
1= mxy +’E

(D-8) xym2 —ym+a=0 (1)

(X2 1)-0p85 cumryh QsrHanrssiir m'eSr (1) suer
AT LT D &I 60T 6UIT LD,
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' sofleB | a
Djsmed 1y, Ity sTeofledr, my - mg = %’ mymy = ;T,,

Qor@eusnysafisi GeoLtiulL Carew i ¢ Bpenswaed

1y ~ niy
tang = ,, '— A

(1 + mime) ;%g;aﬁngj both &ides-
tan?2 ¢ = (7"1: ntZ)E

(1 + mng.?

(my + my)* — 4nmymyg
(L + mymy,*

n?__ ‘a

Toxy? X1
(7]
(=)
ot daxy
- (xl + a;z
(S1-g) 3,2 — daxy = tan? @ {xy + @)%
N (X3, ¥y) Yot ofludslr B i susey
yt — 4ax == tan® & (% 4 a)?
By ciwLweu g§ (POH—

yearefudsir @pusAsriosdr (xy, y1) sereyd (X1, ¥y)
@mps s G prHousngasr LFudTwbms 11’y g 46D
QarHOweat ey G s x.

xp=attg' ¢)]
i=althi+1) e )
1, QL35S GOzrHeusny yt, = X 4+ aty?
ty’ A Yty = X + at,?
[OERELC) msm&assir Goduc. Gureorh O
1.1
s o tan g = AN PR &)

iy
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(1), 23 (3) mmurr@mf‘eﬂmw fs t2-@ Ssppis.

(1 -+ tlf')g
(_lg + tl)" — 411t’
(1 + t12)2

72 4x

S e B
1y
' (1 * 2
(2-g1) (*1 + @) tan® 0 = y; % — dax,

(%1, y1)-6ir QudiGaemy
(x + 0)% tan? @ = y? — 4ax.

@ = 90° erflelr (x + a)2]= cot? 90° (y* — 4ax) = 0.
{(21-21) x+a=0.
wrffl 7

y3 = 4 ax upauSru S sbapdr Cpiessror CrmiGsr®
- gelr QeuGib yerefudeir Qubigeusnys Fwer ur® er6rer 2

IFsmaw QeiiCGasr@asefisr g sdr 24, *t3’, srarajb
Semeu Qe (B Lehafl X1 ¥ sTameyh G&reh &.o

5t1°s %" Qr-Sanéd QeniGar(Hasir
¥ + xty = 2at; + aty3
Y+ Xty = 2at5 + 0!23
Slenas Qo (BHb ysh aff
{2a + a ()2 4 1119 + 15?), == aty15 (1) + 13)}
&L Xy =12a 4+ a(? + fitg + 12%) s ¢)]
'yl == e a’1t2 (tl + tg) ...... (2)
QehGar(Hissir ghapeir G;ﬁﬁ@gﬁwm&mwsb
(— 1) (—t) = =1
(S1-g) hiyg=—1 2Tt e 3
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(1, 2), (3 Fustur@safed 555 f1. 12-28 SBH DS,
%1 =20 +a(t?—1+12)
=a (1,8 + #53) + 6.
y1 =a(ty +12)
;2 + 792 = (6 + 252 — 23t
= (ty + 12)% + 2
(o-g) P = 742
(@i-g1) a(x; —a) =? + 22
(@1-g1) 71? = a (% —3a)
(x,, ¥1)-6r ) winii@ aeny
y2 = a (x — 3a).

wrdfl 8
' owm urmdrwidsr PQ prer B@0S5 GuIrd gL us
prder P, Q QL 551& QFuGasr@asdr Qe @b s afudsr
Quiiguay uFudTwdIar 90 RQemGasrLrgn  srar
Bosys.
P, Q yeraflassr °ty°, ‘I’ eTeir pib, GG QFGasrHassr
Peur.Gih ysiref (X, Y1) sTETOD NS RCRYT g1 R
xy =2a+a(? + tita + 152) e (1)
Yy = - atltz Qtl + 13). seeass (Z)
PQ-éir ewsirur®
¥y (’1 + tg) = 2% + 2 atlts.
PQ-éir Guré® B0 sgreanauired
2 :

il - = B&06lwesr
A Haowelrdur K erarsdsrer.red
2 _
=& - = (1

(1), (2), (3) swsrur@safl@nb S 1y 1~ HSHDS.
Xy =2a -+ a{ty + 1) =11z}

=% +a {(é)z e by }
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4a
& a!1t9=20;+ Kz"“'xl

yy = —aty ty (¢, 4+ 1,)
. 4a 2
- (""2““"&2"*‘3‘1> T

2 2 AR
(arrg) »n +(—'K) X =12a (""K> +a _K) .

o (X1 ¥1)-6r QuitiG ey
2 2 2 a 2\®
(ke () ro (-,

adg — é @0 Lufsh T-g FL.r&E60r

¥4+ Tx=2aT 4 aT® ereir gy eumd. &Cxsr® (6T2, 24 T)
AL sat urudTudear QehEsTL- TG,

‘ (%1, y1)-6r QuisgGueny uFudrwsdar @ G
Gasrr@lo.

/' wrgdl 9
ureuSrwider WSl s5s QruCsrewrd Ipinls@h:
pravraafisr pHuydrafisdr Quibigsuamyuisns asravs. & H-
Brevr ser S aih uyeudTw AT DpwdSed ALl L af
afié Qersb guQioar B peys.

Wil $58 QomiBGsranrd 9mis
O5@w Erebr sefled s 1 PQ eredr piid,
P,Q yehraflwenr , *1,°, ‘¢, 1657 i Qs eit &,
PQ-dr  p@Oyamen T (X1, y1) sTond

Qa1 éit Gourib,
52 1,9
% = 5’.1,._4?:5:,. DL CL R R — 1)
2at, + 2at
yi o= m_lAz bl i R OFy Es) I ¢
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2
AP-gir gmie) o gib ;3 AQ-éir emie] efpb = -
1

tg
PAQ = 90° .. tﬁt— Sp—
172
(@-g1) ity =—4 03
1), (2)s (3) Fuwdrur@aeeflsh £y, o 83 SIGHOIS.

axy

2 o= i
1,2 + tg p
=N
l'] + t2 e a .

2ytg = (8 + 12)% — (13 + 1.%)

2 7y

91? = 2xya — 8a?
= 2a (X1 -——id)

(%15 ¥y )-66T Bwibi@suany
y¢ = 2a (x —4a,

B s (da, 0)-g e wiysdrefwranyt, 2a-g Cpraowrsa)d
Gsraire. @ uFusbTurrgi. PQ-ar swsur® Y (1y + f2)
= 2% + 2ulylg; 1ty = —4 ;. PQ-ér susaun(®

y (1 + tg) = 2x — 8a.

@& Gar® (4a, 0) s afleuf& Qo st b,

uflpdaer 13

1. y2 =4x uraSrwsdsd (1, —2) Gusgus 7@
owenr (— 2, 1) ye eflsuyd Qes gy dwer Bpeys.  (— 2, 1)-
MAeps uraSTwsHnde aoyuyb girw O prHaumyg udedr
FLosh Lmi g Sotd & 60T .

2. 9B uradrwsHd, Hpurd, QsTOGSH Do H P
@eLdulL Gai@aaitt ugsou WL sss Qar®
ausmy Glm Fuorsl GNé@ dwer B pe)s.

3. y? = dax uradnwsPeé o udd prewr (Focal Chord)
et far  mesflssr (X1, Y1) (Xg, Fo) siefler  X3Xy; = a%.
$1Y3 = — 4o’ sier fpeys.
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4. Y2 =dax uguBrwsHsv PrGso 60°, 45°, 30°
SWSECar® eripinisgn Gsr@uesrseisr QzTOSSS
BEHEG HHWHIGrdvsdr wremes ?  Iss Careveuserrs
{Geometric progression) G wpisrefiseailsir X gpw s sr o
&SEHD, ¥ uSQsTIosEl Hudswar Bpies.

5. Gmrem BiiHudd Qeuipu G Car@umyssr opud
Bar® Wpulson GCararhissr BHrigd Gorewrsisear @b
srar HBgiays.

6. wredrwssHm WemasdugHuisd P, Q ydrafllsel-SHs
Qsr@asmyssr pHwHBCasr® 30°, 60° TIpLTFSasred, W rpid
2 u3i&Car(Hid Qau’Bib ysirefl ol PQ Qacbgydwer B pieys.

7. (5, 13) ysraule@mppsr  y2 = 5x uraudmTwdsHsS
aenyuid O FrHeteny sefsr Fwe ur( sTerer ?

8, Yyr=mx 4+ ¢ Gsn@® Y% =4da (¥ + a) upsudbrussnzsd
Qasr@Gaspeiu stGour® easrer ?

9. y2 =da(x 4 a), y2 =40y (x+a;) vrudrwub
Sepd@ P-d5h 5 cuamyuyb Qar@ausmyad siaper Cpighsras
Bwiildsir, P-ar Gumigaaong pom CarGlier 5oas.

10. y2 = 8x wruSrwiPar P, Q ysreflsal smud
Qe Gar®ser (18, 12,-s0 Geanlnedr P, Q ysraladrdk
GBI 6OOF B

11, »? = dax ursudrudHear (21, ¥1) (Xgs Vo) QL-SHF
QetiGar(hser {xg, yVg) sufld GFel (Bsd

2 4 yiye + Ja? n+
Xy e 20 +y1 y;;@ 32 » Yg = — Y1)2 180212

star Popieys.
12. y2 = dax ursuBrwiHer Gom ysteflselsaud Qsr®
susmgasir (X1, ¥,) yehaiwieo Ga L1g v, L Lyeiraflawafi S

2
Qe EIBar® s6r (20-'-'351 + y—;—“._.x]:l-) et ofiudsd Q@

Quear Bpiays.
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13. »? = dax uyauBrwsHear ¢ ° Gr s Qealsr@
ugeudnwissmwg (atz?, 2arg) yearafudsh SadrGL Geaurlyg 6ir

2
g = —1 -5 star Bmie)s.

14. y3 = dax vra@rwiHsr P QL Ssmsé QsiGar®
uFaudbrw g Wabr(G Q- QuBdpa. P, PQ-ar pBHU
yerefl @Qepfier @isrwitissdr Hy8es yy, Yz sreulledr
Y1yg = - 4a? erar Bpeys.

15, y2 =4dax wurauSrwiSdr Cprsso  mouilL samé
QetiGar (B mrewflsir Berib 8a 4/2 star Bpeys.

16. y? = dox wreulrwsHer 4a, x  HpHUISRGrSBOU DLt
PQLEnd OQarGer pwsbdiw T aw P QL&
QemSar(y BSadrG urusrusmns Q-gib GQanlyesr, PT: PQ
4:5 aar Bpays.

17. upau@rwsSsé Qemlsr® SpudsEar® ¢ Cararhmas
Wpuldnber, g waudbnwdms dawBw Qau BB Gsrawrih
tap —~1 (! tan ¢) ever Hpoys

18. 2 = dax wupeudbrwsy P ydrell g5 QabiCGar®
a8 euemymus fedr (B Q-6 AaulB@Hpg. PQ-yu Q P s HF
Cem dan (B uyeaulary PwsCsr®H Brdsv §, ¢ Barewritsard
Apododer tan § tan ¢ + 12u¥g + 2 = 0 erar Apiays.

19. & uraudnwidsd Q, R ysralsaliss s Qsr@ asmy
Goir P-sb Qaulipar PQ2 : PR2 = 5Q : SR arer Bpioys.

20. wreuBrwsHer P, Q ys efseli.dmd QsrBHassnyssir
T-6b Qau B assrpar. P, T. Q ywailsaied pha ursudrud
QarGoueny ot mdE sumyuh CpiGsnd CosrHsailer Bar b
@dr §yGev py, p2, Py s1afish p1ps = p,* sreor Bpuoys.

21, y? = dax weuBrwdzy proystefseer @)redry &
G@dprwiiaelie g B Rpnms gZr IRty o @ 5rwib
aef el St (HSQOprewswrs Gulisr, zdp ysransr
Bowragr GarBu Yeidmw Ko ydieladr Giwrdai
BarGu poBursrarensy Quer Hpieys.
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22. 9w uraudSrwsdd S e wlitiysiief, X o uisCasr®
Spwdmg Qeu (b shaf, PP! @fF Qui e & @dsrun, PX
ularsueny enw el (Bib Q-6 Qauliyeir P! Q, S eufs Aesoay
Queerr Bmeys.

23. o waudrwidd easprodule.  Frofapud b
W n ubsBssT GpusHHo HBoliys eflssr euPpd O (med,
D DT 616HF W uSBAW 2pw G b Py BsuliLysi afl o Guigired®
Qasb pQuer Hgeys.,

24, Ix +my+n=0 Gar@, y? =4ax ursudrujimngs
P, Q ysrelasigyr, P, Q ysaladr ¢,0)-9h @bzl
Bl oy dar@u wruSrwdHos R, S yerelsafigyd
Qoullg et RS 6t &6 in (B nx — mcy + ict = 0 siaor § pey s,
PQ »w Advoydrall eupsd Qed@n RS- @ ﬁa‘muqmaﬂ
UL E blgst qbler Hpie)s.

25, p* 4+ 4bx = 0 uradrwd AzrGEueny o Y = 4a¥
ureudrwgams P, Q-0 Q= lygotr, PQ eir p@Uysren ulw di®
auang  y¢ (2a + by, = 4a?x arow Ppeys

26, 2 uisaGasrilyd@mbs y? = dar uFsuSTund eusBFUD
QarGasnyasaiisr B payiseallsdar GubtgGumy y¢ (21 + a)
= a (3x + a,2 ster Bpeys.

27. Tan f, tan §, = A0Qwean esrPmss o 057G
suenras QuaiGrudar, Qsr@atmysar Qs (B tysirefluddr
Bubmi@gaisoyuildnisd arars. @iy 0y, 03 O s1(HunFss
@i SCar(H 190 dd @ §HTewtiise.

28. B Qar(hHeusnyssr spwbCasr® Ipt@sen Gsrewr it
sofledt el BgQarems wWIGSH1ud:5, D5 50 D EsT
Qeul B Lysit eflud b E) s susny a__u_‘ﬂ:ruqmsrﬂ aufl§ G\Fet gIb
S0 CardLar floyes

29, P-eOmpa y? = dax-5@ eusmdFuld Q@ r{Heny-s6r,
WL ¢ g Qar® uomr GuHBH HWLbS WG s eur S FHHdr
wyoy ¢? ereflar, P-gr Guiigeaamy x2 (3¢ — 4ax) = dc*
s1a [Bim ey,



Galbl) Qe &Seir 173

30. @wapsr 45° Gw_Ouli. Qserewrapmiw y? = 4ax
uraulrwsnsd OsrGaumgast Geul (G yhofuldr Guisd
S ud & & &I TS,

31, puwsCasrlG Hrigdh Csremrdsdr EpiisEed Dm
Qa1 B ateny ®sil @oul G Lysirafiudsr b @oumyamud & 6T s.

32. 32 = dax upauBwwdSeuster @m ysrefsafsr X
2puHOs Borefidr gemy K:l eaerdeldear, o0 ydarafls
oldad QarBeusmysst QeaulBw Lysh eflulsdr Bwiki@ueny

1 )
2= (K7 4+ K — D2 erar Hpeys.

33. Ix+my+n=0 Casr®, y* = dax uyarusSsir
QenGarrapefNn oL Glur® sishar 2

34, wyuBrwsHsr P BLsSmms QemBGsr(H pwdH o
G-9ayi, Wi _&s5 Qar@Guwmrmus G'-u¥gyd Gul@
Epgy. AGQU' Ber egurpams suengullit Q-6 b &Hueny
sreorent 2 @i A uraurwd BT (upuTwT @b,

35. 1,7, ¢t,° ydrefsef S5 d OsrGuerss P-gib,
QoemiCan(Haer Q-guib Qou (B isirper. x - y=a Gsriigsv P
Bmbair, Q-&1 JuiGaimy @ LFeudaTuiid 6Tsor Hnisy 5.

36. ¥% = dax-eir prevrssr e ulisGasri g eufiF
Qo e (s, Djeup et Heflsar 555 QFmi@si(® 6T
P2 = g (¥ — a) sudr suswyulst Qau’(HGwer B neys,

37, pwsHpe poCursrer Gsril@Gliysh aflsel el n5 o
Oreudmw dhgud@ sushyuyld BarHuenyd CarHe dpsef _dH &
CeaGsi@ser Gouil(@Gw ydeflulear Qumigsumy sp Hdod
BarQi_cor B mejs.

38. puwisCasr® 0§ Gasrewrd riubHme@d Brewfilsy
Bellaefg gus QsmGasr(hes t-n~1 (2 cowll) &idlio]miu
GemGary 6b Gloul (B I Boie|s.

39 e wlidysrefl euif prewfer mafserrar P, Q uysaf
sall_s5d GehIGsrHasr ufsudmwihms BawiGd Py, Qy
gerafleaflsd Qs ger Py Qy, PQ @ Curer@ srevieyd,
P1Q1 = 3PQ siewayb Hoeys.
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40. y2=dax uradnwudder P yearafl$5é Qealsr®
uFeudrwSos e Bd Q-gub, PQ-gg el wrss GSredri.
Lt uradrusms R-gib Qagear QR sr p@EOLsraft
Buiigseny y2 (p? -— 4ax) + 6ia* = 0 sreor Bpiofs.

4l. y? = dax, x2 = day urau@rutissr QuC@Go ysrefl
(4a, 4a) starayd, Qeu BGEIGsTem b 1an~1$ eTawejd Hoiea)s.

4. “ty’s ‘tz® ‘tg’ ysreflaalSm0 uradwwd
Her QemBar@sarrsd AYWOGHS Wp5Bsrswr S Hr  LFlL)

a2
5 (1o — 3} (13 — t1) (= 13) (1 + 1o + 15)® over Bpioys.

43, ¥ = dax ursuBdmwSBar ‘4, ‘1’ yerafladw
B s@m Can® o_wdicysrafanfs Qasarmsd 1y to+1=0 srar
Soeys.

43 a.. @@ wadbrwsHdr o wiidydreflsuf preir Gy ebr
19 Zor e 1107 & G T L. euL L Gibafl 6T SR JCEYEY L ]
preuSrwdSer o aufé dFdaciar Hnie|s.

44. x24+yt=c?, y¥=4ax FupPer QurH SAsrHatwmy
uradrwsdsr SpwsGsr® Gpldsgw § GaTowsos
sia § = @ cos2f FLsrUr LT Srswrsorih sTer Boie)s.

45. y2=dax upaitmud OprOaumrsss 9pHuladsh s
YT A Cpi@H5sGarii g salledr GuikGaiay
x (%3 + y2) + ay? = O erer Bpiays.

46. y% = 4ox ugeuSrwsSd P QLdxd InEICETEST
Spupmg T-gun T-BobH TP-6@ CGpiGHsIs umFLiD
Car® P wluGur® Qewrsga Gsrilg dr K-guth
Qe eir, K-6ir Quiigauey y3 (y2 + 2x2) + 8ax3 = 0 ereor
Poieys.

47. y?=4ax urulwwSsr A el ausmrps AP, AQ
prawadr e orad Goredii. oL mdssr R-6b Qeuil(®
fqper. P, Q ysraflaall 5515 Qpr@uemysdr, AR B
SpwdCasr® Hrée 81, 0, ¢ Carowmiisdrd 9o inder
cot 87 < cot §a + 2 tan ¢ == 0 sreor Bpeys.

48. uredrwpBsr e wdilsrel uf priwr el rSd
Qarasr. sut-Lib o 19iaGarydusd Oer@m sTar Hpia|s.
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21 upalbrwgHear apdr g QemGar@ads Golgs ysrafl
afsQeamb. GoOgs ydellow (h k) eaoréderdrs.
(at2, 2af) QL s5& Qealsriy.ar gudrur® y-+ix=2as-ard.
@& QemBGar® (A, k) ysireflanféd Qsermsd

k 4 th = 2at 4 a®

(o-®) at® +QQa—h)yt—k =0 e (1)
Bs @hugd FwusTur® PosUTHd, GSSHG apsrp
Steyssr o _awr@. e @sulsurdt PG T Hi RAowrs
(b, k) suf s Qs@iGsr® Oesbaubd. op58su, (h, k) anf
anssrn QeiiGsr s QaebgiLs.

(1)-6r Sioyser ty, 1g, I3 6TOTE QETHTLTD *2y°, ‘fg°, “£4°
AL 515 QaiCsr Bsar (h, h) aufsF Qxedbgb.

(1) swsruremed g ~t5 +24 =0 - . 2)
26 — h
iy +taty + tsh = “—— ... 3)
k
i1l2lg = 7 %)

"6TEIT M Su(BLD.

(2), 13), (4) Qpri_iysdr @Gy ysreaflanflé Qesoeuir spsirgy
QsfBar(Haefsr LaTysST JHITIW B GoyLd.

-orgdl 10

@ ursudruSSedr apsir iy QemGarBasir RCr yeraftoufs
QEst (b, B&F QraiCariiiL iy Serrst I HS s Csrswr HHeor
BFOsCar(H entownd uraudTwS g pwSHd BpdGLo.

110 Sy’ “ty’ BlL-Ss1& QeriGar@ser (h, k) ysireflanfé
Q& sir (@b

ty + 13 +t3 =0 erelrp @psirugHulsr BmedGEyib.
2a (21 + 13 + 13) = 0.

‘11°, “fo”, Stg° yereflserrsd Semwojs apdGarewr $Hedr
BOH&Car® emiowdEer

2_‘5”1 - Zatg ~- 201‘

Y Bpustsrdo = 3

= 0.




176 W HASTE sy eu Gewoll b

& pHCE @enwund X opw b0, D> Breug Lrudrwd
Seir opusdgev Bmdbeb.

22 @® yselladlLgms Qembar@asr ugm SrusHd
QalLaspieilu el @uur@.
‘s 19" yeraflsafl-ss¥ QrmGav@asdr uymrwdsd
Stg’ G pgy Qeul (HOward Qsreh Counid.
Sttt Sg, g’ ysh oflessfi S g1 Oem Bar@ssr OFsbguth
Yehafl (arg?, 241g).
& 1y Flg + g = 0

2a — aty?
ity + gty + ity = —2—
2atg
thlg = -
11ty a

{o-81) Nla =2, ) + 1tz = —Ig.
s GﬁJSG'M'I.q_uJ &Q@QUW@ 1112‘ = 2.

wrdd 11

@B ysalsel 55 OehCsr(hser ursurus dHed
Qaigar 0 ydeflaaldsms Qarlhumys i Qul (b
i eflud bt Gudiguey peHevd Gorrg ster Hlpas.

B0 s aflaen 1)’ 615" 6T TS Q& 6.

B0 ysaflesldus Qe dsrHsdr  oraubrwbfd

Qeul(Boupned iyly = 2.

Qo yseflsel_gssb OsrGeusrss Gul@ub el

{atyig. a(ty +1g) b @@ {20.a8lly +1g) )
@ ydeflew (X1, y)) 1o Qi nmed Xy = 27

(X1, Y1)-681 SGumbigeuemy X = 24.
By eohiwsd Garergu.

orgHd 12

e yiralufedmbsy Lipadmussse susmyud QemCsr®
soflsd a0 B st Gpigdsruledr, Sjlnafluldr Guibig
UM 6Tsd T ¢

(er$M T-sp0 uridaayd.)
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& ysireRuledr opw SPBTIVSsr (X1, Y1) srergnb. (X1, y1)-
A5ss uradrusdp s memryb QemGasrl® g sst ‘%,
g’y 1y sTabTQID Asrei . 1y, 1y’ Lo CemGar@Hseir
puapst Gpi@ssrEInard Qsrais. ¢ oFmGar @ safldr
FLaT LT (H ST

y 4+ xty = 2at; + 0‘13

y 4+ xt, = daty -+ atgd
8& Gar@adh Crigsars Q@UILSTH

‘1 tg E l- S (1)
a® + (a—x)t —y1 = 0 e (2)
gwsrur(Hoafls Siagsehn 11, Igy Iy
. tl‘ ts' ta Sy;-
I tg = - | e 13 A - Za;

tgs (2)-60r Sia] JpWSWr6Dd
ig=6r WP B)F Fuerur B mLrddsdr
) 33 4 Y1y
a(-— Dy (=) aem—n =0
o 2a -Xy; :
(o) — 2T XU o0
(o-g) Nn* +Q2a—x)a+ta? = 0
{(@-g1) y1? = ax, — 3a?
= q (X — 3a).
oo (X1, y1)-6r Quiii@Geusny Y2 = a (x -~ 3a).

23. y? = dex upailrwsmzs @@ eLb BroHysreflsafled
Qo @Oweareyd, U ysdlsaflsr @isrumasis sl @S
Qgrena Serard searald B nes.

oL gHar owadrur® 3% 4+ y2 4 2gx + 2Afy 4+ =0
sTard Qamsi Geumed,

ureslrwsHeyser  ysdrefQurer Beir  Apw SN TV Helr
(at?, 2 at). @yevawnsd, vl qpd wresdnwepd Gaunl (b
Ljeir eflsafledr o w S 5rdB0s %

(al?)2 4 (201)% +2g (at?) 4+ 2fQRat) +c=0- g
&I GUUT GO LD

(o-51) a2t +22(g ¥ 2002 - 4fat - c = 0.

12 '
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@ s prpugd swsrur® (Biquadratic Equation) opaa
wred, aulth uFadrusms BroLedreissilsdy Qe B,
8.6 Gagp & 63T GUTLOTGMBUIT 6D o 8¢ & L068T LIT L 19 6ir
Biayser 1y, tg, Iy, 1y ovenfeir

1y +ty+tg +ty= 0.
& 2aty 4 2atg + 2atg + 2at, = 0.
sraor@eu, aulL.ib, ureudnwsams  Qul G Ydreflsaflsly
@Ssnubisalsr sl BSRHTenE & 6T 0T GL.

orff 13

uraudrwugms 9 i P, Q R, S  ydrefisafd
Qeauiliger  LFeudawTw S pusBasr® PQ, RS &uwd
Frilia) LT eTar Bme)s.
P, Q, R, S uysheflamar t1°, ‘29>, “tg°y 1, ereviledr
fy +tg+1g +2,=0.
PQ-dr eswsrur® y.t; + t2) =2x - 2at ity
RS-ar swdrur® yits + ty) = 2x -+ 2 atgt,
PQ, RS GarBaeflsr sriiag afgdiser SyGeso
2 2 .
L+ 1y° 1y -1, OO
1y + 1 == (3 +t,)
8§ srie) el gtisdr sraremrearalsd @GCr wHhTarsurs

Boousrd, PQ, RS Car@ssr pubCar® oG aramr Semsls
I NLE TG THE

wrflfl 14

@Cr yeroflsuflF QoiiGsr@Hsafdr g sdr euruisorsd
Qsbgid e, uFudbrwd s Wikl Qeull (HEwear
Boieys. 1, ‘19’ ‘t3° yeraeeall_Ss5é QorGarphssr oG
Yyerefeufld Qaar@ed,

1 4+ ty + ts - 0,
8 ydreilacdr aulfi§ Qasbaynd eu’ L uguBrwdons ‘4, -
Qaut’.g air,
fhh+tg+t3+ 2, =0
ooty =0,
S 01,6 QHhuHAsrussr (0, 0)
Wy ureuSmTuS AT wporwir @b,
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udpflasr 14
1. 2. 3)-mpa y2 = 4x-6& ausnrejlh  GsrHaisnrd

QTR OSHHSETE & TS, A0 ye efsafl & QeaGsrd
sar LFaudTwdHd Qai’Hewar Ppels.

2. y? = dax uyeularws s Her P, Q yereflseflL. goé& O
@ar@sdr uyoudmwdS B R-6d Qe er, P, Q ysraflaafidr
Gdarull QUEBSSSH IHTDS 8a* star Hpies.

3. y% = 4ax uraudrwdSer P, Q yhofisalsgé& Gem
Gar (B seir Ly i wdHIed Qautiger, PQ Hpuwhms @6 HIO
ol ol s aitT Qent” () Aoewr B apays.

4, y? = dax vyeudww BreuT Q6T Hl LpwdHems (24, 0j~eb
Qe sr, b provisr polsell Sué QemiBair(H sl
ureudms S Gaur (B Gner Bmieys.

5. y% = dax uysuBrwbSesr P (at,2, 2at,) yerefufel m b o
PQ, PR preradw Q, R yshefiselle 5515 GenGasrBasrrs
ausmyuler QR-er ewerur® yt + 2(* + 2a) = 0 sreor B e,

P upaudrugde Quigurudsr QR-er &) oo L1 sir of)
Wer QuiiGausay m CsrALar Hone|s.

6. y? = dax uralrwusder P,Q ydrelselL S 5& Gl
Gar@Gasr urudrusdsd R (X1, 1) yerefude_sHsub, P, Q
BLb5s Opr@ausrssr T-gud Gauliger . TQ =
1 (x; — 8a) v y1? + 4a? sran Hpoys.

R uwrasrusded Quiagarddr PQ-&r s@HO ydel
9 = 2a (x + 2a) WuSbrwi s aer Hoejs.

7. y2 =4dax ureuBrw provwseidr mofllsal S
QetiGar@adr uFaudnwsHHd Qulig.dr pravssfidr  BHHO
yeir aflu@esr Guligeuenyuildurd & el 5.

8. y? = dax uvraudrwsder (am?, 2am) yerefuied 5 b
ureuSTw s SléE aanguib ek @Ger Beeflar jgedr (a1%,2at;)
(atg?, 2aty), 12 + mt + 2 = 0 SWSTUTLLLF®D Srererd 61 o
foas. Gaalm QehBsri® forpbar QuBssd Carers

4a2 (1 +m?) ?crm Poays
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9. y? = dax uraBrwsdsr B,C yirefsel_S51F Qe
Csr@ser uradrusdsd A ysrafulsv Qan‘ger ASC
apdBorewr & QrmBar’® o s Heir B) 1B @ sienyp
y2 = a (X + 6a) erar Pyia)s.

10. y? = 4ax urarwsHer (x1, ¥1)s (Fgs V2)s (Xgs ¥ )
it sfsai $g & QoniGar@asir @Gy ysrall eufé QAsar@eb,
%y ==y Xg — X3 Xy — %1 . 0 sveur OYEN

. + 75 + oy S

11. (6a,0) yerefudedmps y* = dax uredTusSiés.
ey QeBGHTLL Iy S2TE &I 6.

12. P, Q, R @L $a15 QemGar@asr RCr ysrell oufe
Qasrmed, SLymelsai_sss Car@amyaarrd Iowhs
sCGaremrts  ubshisefsr pEUL aflasr  2y2 4 ax = ¢
uraudTwiSd BHéGoOver Bne|s.

13. p? = dax ureuBrwsHeir wparenf& QFsbgnid suLli e
upsudrwsos Py Q, R yerefisefish Qaun(Gaps. P, QR
yeiofseli g b Opr@uempserred mwps gsGCsremri
udshsafiar pOULdraladr 2y? 4+ ax = 0 uraudrwsHda
BméEounar Hpes.

14. @@ uradrusded P, Py, Py ydraflsalis5é OCed
Car@sst 9Gr ysrefeufs Qoarme PiPyPy  péGarers
Aer pB&Car(® eoowd HwhHded GmdGouer 5o s.

Pi, Pp yerefaar (X1, 1) @0 g&ipuner PPy

g6t ur( %1 + }%% = 2 star Pgie|s.

15. 32 =4dax walbrTwssse 9o 2 yirefWdlnsm
ey QemGsr@asiled Qreav® BwWHCsr® Pyl
Garewr ezl OpniSsreb, B0 yerafllulsyr Suniigasoy @@
ugeudsmwatd eTor B mios.

16. y2 = 4dax ugpeudmw e_udidiydrefiand prevrsefsr mefl
gafL 551§ OrmCar@sst QoL Gw yareflsar Guiki@semng
y2 = a (x—3a) srer Bpieys.

17. PuysreflsBippa y2 =  4ax-5@ eumyuh Qod

Car@ser SpuHms A, B, C yerelsaich OQaul@ .
Adrper. upsudrw dwwldpis A, B, C  yerailsafiss
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Qardvssr s (HéCaraawmis (Arithmetical Progression)
Bois P-ar Quaigaey 270y? = 2 (x —2a)8 star Bpeys,

18. @ uraSrusdasr e wlitsGari@se ®nCuregs
Gar’ iy dpsgn P ydrelld@mps uraudrwssnsg apstro
| QekiGar@asr auemyu Queih aar Apes. 94 Qratsr®
g serreds  Swwis GiGarar  pHICEICE  mwwib
apuGHH @ HI0ss el dwer Hpeys. '

19. ¥? = 4ax vreuBrwsHeér A, B, C ysheaflsallS51&
QeriGasrPesr  (h, k)-éb Qeulyer, ABC w&CGarewrs

QsBmBari(h emLowitd (h mem 08¢ — %—) srer [Hne)s.

20, @@ ysrafullmhs ¥ = 4ax- 5@ suayujh O rliCsrH
seficd Grer(® @arpugar, S0 L aflaafisr Quib@eusny
27ay? = 4 (x — 2a)® srsir g foiys.

21, y2 =dax uwreulrw preawr garm (Aa, 0) eufd
Qi) @ip prevr polseli Hé QemGsrhasr

y% = A2 (x— Aa—2a)- Qau(HOwer Hpays.

22. P.Q, Rydreflaefigg y2 = dax-ar Qea@srHssr

O anfs Qeargsd SP. SQ. SR = a 802 erer Ppioys. i S
ugeuSrwsHar o ulid yereflwrged. *

L 24 (X9, y1)-O@hE y? = dax-&@ aaryd QsrQamy
@aflgir Qgn@ Bravi&E@s sLHUTHR &Tan 5.
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T, P, Q-1 BrGes (X1, Y1) (Xa5 Y2)s (x3,73) ST S Q& 6ir .

P @Ls35 OsrGeusmr Yy = 2a(x + x2) - (1)
Q Qrissd Gar@aumy yys = 2ax + X3) - (2)
Bedm Oarusmrsad (X1, Y1) af§F QFauFred
y1yg = 2a(x1 4+ X2) - {3
y1¥s = 2a(xy + Xg) w (4

(3), 4) v P (¥ y2)y Q (X5, ¥3) yirelas
yy1= 2a(x + X1)-6b 2.6r 61607 & T 6007 & LD« :

PQ-ar susirur® yy1 = 26(x 4 Xy)-

25 2 = 4ax ugpadrusmss sritg (X, y1)-or gl
Gar@.

P

uLio- Bl B2

P eaufd Qedbgin Car(® urauSnwdms Q, R-60 Gau Bk
erareyn, Q, R QL dsd Oapr@ousmyssr Qaui(Hi Lsiraft
T (b, k) starayd Qsrer Seurwh. 1-6r Gudighsusmny P-sov gy Soord
GarLrgn. 1-88nHFH auonyud Qar@Heasnysafisr Qr b by
QR spsmaswrsd QR-sr swarur®

Yk = 2a (x + h)
B&Car® (x1, Y1) aufiF Gesvsugmed y1k = 2a (x1 + h)

Bé e @Guur@® e_ewmwiu. (h k) erhGurgnd
1= 2a (X% + x;) Gorigsd Fodsd GuanBhb. paGal,
(x1, y1)-ar Z%maBar® )y1 =24 (X + X1) G-
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gie (1, 1) Qrbdss Psr@umy, (%1 y1)-86Hs
amryd Qar@amyseaisr Gsr@Hpreatr, (X). y1)-667 Gidserds
Qar(p @oupPer o ur @ sel et pGursd B @LILMHE
sremraomih. (X1, V1) wpeulrwidHer QsualCuws B HHBTD,
Sper HmdGar®  Qar( By STt LUGID,  (X1s Y1)o
wreutmwpde  @Aopsiw, s SEwmaEGsr® (1 )1)
AL sy s OprBeuemy sieh ugd &GS DH LT GO,

s % sCspph. ewidyamefl S-6F g lmsCar@® 2llis
SamLn@id. ‘

S-er SpwSIsT s (4, 0)

(a, 0)-6r B &1 dCar® y X 0= 2a{x -+ a)

(o-¢1) *+a=0

B& susiur® 2 wWisé Carig.

26. P-er Z%wsCan@ Q-eufls Gesaged, Q-o S %o & -
gar® P-aufl& Glasgyd.

ureudrwd yd = dax eermi, Py Q yeirsdlasir (x15 ¥1)
(xg, y2) s160 mib @G0 6T Qeurids

P-sir slomsBar@®@ Yy1 = 28 (X + X1

B& Gar® (X2, y2) aufé QFsdaugred

Yo V1 = -8 (X; + X1)

@paGar, (X1, Y1) yshefi yyp = 2a (53 + 3)-& GG

gTaug P, Q-6r 5% &Gariii. 60 Besclh.

27. uredTwEmsE ETIES @G Canlyd g dwiydafl.
y2 = dax-@é eniphp AX + By + C = 0-6ir g & Livysh aficowsds
&1 T Gouad (HOLodg O 516l Gourd. :

AX + By + C = 0-6r & &owia ysiafl (x4, y1) eTeuréds Q& 6l
QGaurid.

(X1» y1)-67 S8 Gsr®  Yy1 = 2a (X -+ X1)

At +By+C=0, 2ax—yy-+20x,=0 @&
susTur@seh G Garlnduwd GiaGLd. '

2a 1 2axy

T gty e B F=—"1 C_‘
%&GS\J Xy = —, Jy = —-——zaB
i ars1 A

Ax + By + C = O-gir gifhamy cirgsir ol (% - 205,



184 S SABr&0 oy ou sewnllgh
28. (x1. 1) (xg,yg) ysraflaer y2 = dax-g& e&niig
g% gu ysraflsarrgpgflu s @uur@.

(X1, y1)-651 S1BMECsr® (Xg, ¥o) aufF QFslT(med {X1s Y1)
(X0 yg) &1%or Qi st eflasr erowd & 6ot G_mid.

(%1, y1)-6ir 3&mwr&@ar@ yr1 = 28 (x + X1).
@& Gar® (xg. y2) aifd Qasbeugred y1y;=2a(X1+X2).

29. Ix4+my+n=90 hx+my+n -0 Car@as
y? = dax- @& enisg glw gu Car@amrziefu saL@Guur@.
a 58

y? = dax-;p& ewips Ix +my +n = 0-ér %o ered
(?g - ‘(Jm ). [ L‘Gf’ﬂﬁ hx +my+n =0-606 K5k

(o1-g) Lin+ iny = 2amm,y
wrgdfl 15

+n1=On

¥2 = dax urnuSnrwss s QarGusmrseflsr x? = 4by-ggé
erips Si&wrl Lysh eflssir Ruibigaenyud durd & 6udrs.

ISsmaw Ho&wri Lerefudsr pwdQsrduse (X1, Y1)
sTand Qarers.

5@, X2 = dby-;& erifs (X1, y1)-6r s1%ws Car(®
Y2 = dax-;5 QsrHod Gousdr (Bib.
x? = 4by-;pé& erips (X1, vy )-er  SH&wsGarl(BE
swagrur® xxy =2b (y + y1).
x
(@-81) ¥ =} %=1
B Gar® y? = 4dax-pG Varirmred

e A s S
1= Py
2b
(S4-g1) x1y1 + 2ab = 0.
(x4, y1)-6r Quiigsusoy Xy + 20b = 0
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ardf 16/

y% = 4ax uruBrwsddr GeaGsri(@ profrsdr b
&8s Lol eflsafler Quuiigausny y2 (x + 2a) + 4a3 = 0 eraw
Ppejs.

PQ om CetiCsri() Brair, oiger &dmrd yeref (X1, Y1)s
P, ¢® srewrd Qarers.

& PQ-6r suerur® y + 1% == 2at - ar? - (D
PQ-sfr @idwrh yelrad (X3, Y1) pewswrd PQ-er
Fumdrur®@ Y1YV = 28 (X + xy1).
(24-&1) Y1y — 2ax = 2ax, , - (2)
(1), (2) sustur@ssr @Cr Csrindud GHULSTD
1 t _ 2at + at®

—— e

V3 Jda=  2ax
2a ‘
- § = e —
(=9-31) e -~ (3)
20%, _ 2at + ar® - D

1
(3) (4) susriGsafAGHs 1-m AsSHps.
2axy — Qa 3
E2 e w—) v
20%, _ — 44 _ 8a*
Y hal J"l
(o-51) X112 + 2ap,? + 4a3 = 0,
(@-8) 3,2 (xy + 2a) 4 428 = 0.
& (X3, y1)-6r Quiigaer y2 (x + 2a) 4 4a% = Q.

(n-313

i/ao. P&z ymelew BEO ydeurad Caram.
mrenfier Fwarur@.
8 = 4ax ursudrwiHer prafr garfar FEO Yerefl (X1, ¥3)
sramds Qager@eurib.

XXy YN
cos § sin §

= P
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uwo - 83

e @b prevr x HusBsrG 9pdsed Carewrd §5 (X, y)
(*1,)1) ydofisefissr e tule. Oprdw r. @d Gariind
OP = r eraflelr, P-6ir gpuwi$0 pirv&sir

(%1 +rcos g,y +rsind)
A0 yelrafi uyeudmrwsHed @i Jeir
(y1 4+ rsin §,? = 4a {(xy + rcos §)
(St-&) r2sin? g + 2r (yy sin § — 2a cos §) + y1*—daxy = O
(x5, 71) PQ-aiv p@HUyshslwrgeored, @RAF gwsTuriLmed
umpth  r-er  wPoysed EF Sereyd wrpuL. GBuh
©_ePL_ Wil SuTS &) (5 G0,
& yisinfg—2acosg = G

cos b _ yy
sinf ~ 2q

(CF))

” 3 X ==X e
prewflelr eLosTun® =~ 81 = yami;‘

E‘liﬂ XXy

($8) w0 "y—n
ca) 1 =FTH
(o1-g) 5, o i

(S-31) yy1—n? =265 —2ax,
(S1-@1) 31— 20 (% + %1} = y1% — dax,
(@-ghy T = S,y.
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| orgldl 17
v

C om Bdolystefl e Gedaiih ureuBrw Brewsefls
OO ysiafissr @b Guiigeueny GHIrm  LFeudnw 6T
Popeoys.

ursudrwdHer swsdiur® y® = 4ax ererajn, HIBoLsdref
(h, k) sremeyi, BEooisheieufs QFsgyb wm prenfldr pG %
yeirefl (X1, y1) sTeorays Qarars. (X1, y1)-88 phHO Lo afiuis &&
Qarem L. preofler Fwsitur@® T = 83

(@1-81) W1 — 20 (% + X1) = 13— 4dax,

ap pretr (h, k) eufé Qs msd
kyi — 2a (h 4 x1) = 312 — 4ax,
(21-8) kyy = 20h = y1% — 2a%,
& (X1, y1)-6r Quibi@oueny
¥2 = 2ax = ky — 2ah.
(Di-s13 y&—ky = 2ax — 2ah

k8 Iﬁf
(=1-8) (y-- 3) 2a% — 2ah + 7

. k2
=2a(x—-h+8a

2
B)6u eularsusmy (h-— g&’ g) yeirafiemws  ap o wr&eyib,

2a-gp GpramLraa]h Glar s Ly G,
wr il
Soan 18

y2 = dax urauSrwsomss eritps P-dr HewmwsCGar® eudhr
aismyemws Q, R ysh afisafes GaGiApa. Ix+my+n =0
Gariged P @opasrd QR-or pHO yered I y? — dax) 4
2 (Ix +my + n) = 0 upaulrupBed FrdGowear Hpmajs.

YO Yop :—

P (h, k) ereirgith, QR-&r G yerafl T (X1, y1) evsdr pud
QErsir s, :



SpHw SO Srd0 aug. o1 SewflBid

QR-6fr Fwoss ur®
IV —2a(x +%) = p,? — dax,
(S-8) 1 —28% = yy* —2ax, ... 09
QR, P-&v &réCs1(® pemawired,
D BT FLo6iTUT(H
yk = 2a (x + h.
{-g) yk—2ax=2ah ... )
1)y (2) swsitin@adr oCy Cariiy durd @Blougrd
Mg N2 2ax
k 2ah ’ .
e Yy = k. s " epue (3)
312 — 2ax; == 24h.
quﬂﬂ1x+nzy+nsow@@ﬂugnaﬁ . %
h+mk +n=0. {3)
L3), (4), (5) Fuet urH seflelm b g h, k- S DHMS.
1. 9’ -;20;:1 4+ my, + n = 0.
(S1-g) 1(n? —2ax;) + 2a (my, + n) = 0.
n(@{"@) ) (yl —— 4ax1) -+ 2a (I.X.']_ - myy -!-n) = 0.
s (.\'1, Y1)-6ir Quiniig sueng )
l(y2-4ax)+2a(lx+my+n)—-0 -
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GreairLrag @op i—
Q, R, QR-¢ir p@iysirefl ByGas *4y° “f3°s (X1, Y1)
eresrd Qameir Gaurid.
X, = ;(a,ﬁ + 52) I ¢
yi=a(ly+18) .. 2
P-str &wr&Csr® QR.
e QR @L S5 Qaramymsr Qo Bib Lyerefl P,
P-oor @pwsdandosar  { atyte, a (8 + tg) }e
Pix 4+ my +n=0Carind Aoilusrd
latytg - ma (8 4+ 1) + n=0. ... (€)3
(1), (2), (3) susrur@safednb S 1, t2-8 JSDHPS-

(1)-B@mps 112 + £,8 = ?-Z! Ty

. "o, .
(2)-B@és 11 + 12 == ."5‘ STSHT DI SU(BLD.
21tg = (13 4 23)2 — (113 4 £52)

— 2ax
tity = n? s 1

B v
(3)-eb, 19, 1y + la=&@H0 uBed N2 ey -a%1 ,:%1
wHL ST FLré ST
y i 25)&'1
LA R FT B
(@1-g1) I(y12 — 2ax1) + 2a (my; + n) = 0.
(-31) I(y12 —dax1) + 2a (Ixy + my; + 1) = 0.
(x1, y1)- &7 Quiigaisory
I(y3 = dax) + 22 (Ix + my + n) = 0.

—s—ma..y‘ 4+ n= 0.

\/31 . urarwuiedar @@GourG Brarasaildr B @ dydr el s
FO Quhi@guey uUraiTy QPUSHEG QOB oursTa
CanLmg.

¥y = mx Gar’(Hd® euBurarar Brewflsr ps@uqmaﬂ
(xq, yl) ST Qamell &eo
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B85 preflsr swdrur®@ Yy, — 2ax = y;2 = 20x;
Bb praw Yy = mr-50 @HOUTraSTrenHWITd

b o

o Y1
2a
(@-g) n =

5 2

o (X1 yp)-o Quibigeusny y = "n‘: o

Ax wadrudddér PHwhsse eoGursrar Gsrd
,&@lbt

vyl pwdbgHsG peCurarar @sr@ uyadwwd S dr
SMr.Lb (Diameter )} sraru@is.
:G.Dﬂ'ﬁlﬂ 19 \/

ureudrw el S5Har malRdLS515 Gsr@usny, Oeb
oL b soursl WNiGD pravTeesse ROOUrsr@L sTar
Ppeys.

uraudrwssHdr eflah PV,
o151 swowrsty Gfs@n prer QVR
sierd Qareh &, Q

. QVR, y = mx-4@ oulury

&l PV-@r swdrur® y = gﬂ—z P 7
P-slr y-apwus Qardo 2% R
R 5 a 2a .
& P ysirafl (m, * m ) OG0 uLib 85

& Pysreflsgsd Qsr®esnrudsir FleTur®
a
Y = mx - =

=~ P QLS55 QsrBeuamy QVR-&@ PBBursrgLh.
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uraudrwdHdr pravr QR-gm PV el ib V yeraflulsd
aoorst 9NSsrd QV2 =4 SP . PV erar Sipeys.

Q, R yeirafla®r *4)°, ‘1) srardh Cswers.

& Vegr %mﬁaﬁiﬁ%&ﬁ { ya (t12+t22), a {ty+13) }

QV2 = {la(t,241,2)—at12) }2 4+ {a(ty +14)—2at; }?
e {Yaftyg? —11,7))2 4 {a{ty—1t,) )2,
= 1 a? (tz3 + 11)? (ty — 1112 + a2 (13 — 1))%
= 1a?(tp—10)® { (01 +12)? + 4}

P yereflemws (at?, 2at) srars Qarers

PV spuwssits ponlursrsord P-dr y puddsrdo
e Vet y gpu s,
(si-@) 2at=a(t + t5).
t =} (1 +13)-
P-eir @pudRsedosar {3a(ty + )% a(h +13))

PV = }a (112 4 1,2)— f a (ty + 2)2%
= ;a(ly —12)%
SP% = (a — at2)? + 44243
= a2 (1 + 12)3
s SP=afl + 1%)

a{l+ % +2)?%}
s 2{4+(11 +12)% }
s QV2=4 4 SP . PV.

wrHdl 2 \/

ureulww prevflsr polsofi-$a5 OsrHaimyssr. oip
61 & & Fuwrst iféGn AL AL Ga HRwar Hpie s,

Q, R yerafia®r <1,°, ‘13" ecrowd Garebrired PV-sr

FredTur® Y =a(t; +12). Q. R GLdsd Qgraumyads
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&

T
(d v
Ut 86

SN BU yerefl PV-db Glmds@ie.
TP = PV srawejid Hgaieorid.
P-sir  mpw s srioassr {: (ts + 23)%, a (4 + tm}f

V-sir  apwsgrSosdr {; (112 +12)a (13 + t,)%
a a
TP =7 (1 + 1) —aty 1y = g (hh —13)?

PV =5 0D =G+ 6 = (=)t
TP = PV.

ulilipdssr 15

L. ¥ =4x walruiwss erips (1, 7), (4 8)
ysirefisefear H2%mr&Car@ssr s Fusur®sdnd & T GUYF 5.
Qo yerafladr Qhwrson Car® & luwsGsrGedr Qan” (Bib
gt 6fludstr i 2o &Bar® sTer B gioyss.

2. 2x—3y 4+ 4 = 0 Gar (B0 yaralseledmbs y2 = dax
wudbrussse eaord Qsi@uamrd QprE srawss g
H&olr s efleuf& Qersh 1Qoer B piays.

3. y2=6x uradrwsHd (9, 5) ysrefaufs Qesbeund
provr seafled pHULsH eflsefiar Quikigaemy y2—5y—3x+27 =0
sTar Bpieys. : :

4 x4y = a? el gonss snips P ydrefulelr
S1&ré&Gar® y? =: dax-;pS @BriL.red, P yerafi
¥2 + ax=0-& Qosgouar Byejs. .
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_ 5. x2 4+ )? = 4a? LS55 Osr@euemyseflsr 2 = dax
uFSTILEMSE SIS Sid%uwri yeraflaaflshd Gunl@ ausnysnwsds
BT 60T &+

6. 2 = 4ax uyeuSrwu Wi $5& QFrICGsrenrd 9p
W&@h pravraafsr gi%urd yerafadr Quiigaoy ¥ + 4a = 0
star Hoeys.

7 uraSrusdsr P, Q QLssuE QeuCar®sedr
uraudrws Hh R- Qanly @, R-&r 9Pss BEdvég PQ-6r
STl Lysiteflenid &ir e .

R ursau@rwsded Quiiiguruder, PQ-sr g&iduwry yerefl
Budigasemyud 2ord ST 6T &.

8. oo urasrus Qar@uoyselsd Qrar® PHwsCsr®
Aroym GCarewr s aorl Gpalgsrd, S Qor(Heumysefsr
Qar® preaww, e ulisGsrigafis Qs giduar Bpes.

9. y? = 4gx ureudmw prewrsdr ol s J B0
Gareaorsmat  Gpodn9ssrd, b preavweshsr il
LJ6ir oifi B 6ir B UIBIS U]

(x + 40)2 tan? | = 4 (y2 — 4ax) srar fpioys.

10. 32 = 4dax ureuSrwsHer 21 SerpeL i BT Sefledr
BOL yereflssir &)uwh@nsny

? + 4a?) (dax — 3y2) = 4a?l? erar Bpiays.

11, y2 w=dax wres@rws OQFmGarl(®  prevrsefldr
pOL Ysrefl s6ir Quinigeusnyul Srd & e s,

12 wupsu@rw  p@Prlcssid Osr@auenyd e aflsafl
Amb i Djeud Peir S1&%wrs ETH2E5&G susmyuw Cpi GSHS
Carl(® Sjyseaflsr uBi@ausmy @b sulL Quear B nias.

13. y = b Garlyer P yedralule@mpbs P-or y2 = 4ax-
@& erips H%wrds Carl(HéG susmpy CHigsHss Car(®
St ud6T QUG DS ST T S
T 14, y=c Garc@u ysiefseisr y? = dax, x? - day
ursuSTuBsdrE sriphs Si%wd Car@Gsafldar Qauc(u yeraf
Bunigasnpr *

2ax2 — ¢xy + 4a% (y 4 ¢) = 0 erar Fyeys.
13



7. Beteuliipd
(Ellipse) t/

1. @m eaby Qalnuisr evwwd g rdvdsane < 1
sreollelr, OIsd%r Saauc L Quar  gidar IPeryiHd
auagwndGasrib.

2. BaracL Fdldar swsrur® : a.uidysdrel S srareyb,
e 1lisCar® ZM srerajth Qsrdrs. o ulisGasrli@de ZS-5
Cpigdars oueps. SZ gpe: 1 gaasGspu Bssgud
ypssnd 195G A, A’ drelladrd srars.

g
""‘\B L
N / i ™

we-th 87

f BB s DB,
* AZ * A'Z

s A, A ysrefladr Sadreul L Sgser.

AA'-sr  p@OydreRl C etareyd, AA'= 23 erawed
@&ldf&. ‘ )
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Soranii b
SA=e.AZ
A'Si=e.A'Z

5 SA + A'S=e(AZ + A'Z) |
(o-31) AA’ = e (CZ— CA + A'C + CZ)
(@-8) 2a= e (2CZ)

CczZ =12

e
A'S — SA = e (A'Z — AZ)
(o1-5) (A'C + CS) — (CA — CS) = e. AA!
(3-a) 2CS = e 2a -
CS = ae.

C-¢ pPwurseyd, A'CA-gg x puwursan, C anf
ACA' &6 QCpigdsrear Garilydor y opuwrsejnb, Beir
L st ydiaisepar Gar@ear P-gg (x, ¥) Gpseud
Q& r6iT 50

S-ar SpwdQseSBvser (ae, 0)

PM=CZ——-CN=Z—-:¢;

P, fersut $Red GmLsugwed -g—ll; =g
SP2 = e? PM3

(-g1) (%1 — ae)? 4 333 = 2 (g — Xy )’

(D-31) %1% — 2aexy + a%e? + y,2 = a? —2aex; +e3x,?
(@-g) %12 (1—e€) + y1? =a? (1 — )
ey, »n?
(o-3) “o+ == !
(%15 ¥1)-o0r Quisgsueny, SSgraugy Serani.d
. x3 yi
b% = a2 (1 —e?) ecrowd Oaredror Peoraui S

x2 ]
FLOGT Ur(H a3 + 2= 1

Qs Sl sSe S orer FusTUTLIGH.
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x2 3 Eoir et Ll <
3. 77 -+ B= 1 Borau.1-b auamyH.
8¢ swdruriiygsd Y =0 srard QsrabrLred x = g
& Barauliin (@, 0), {— a, 0) Lysir el aseir, '@ga"o,asfrmg
AGA s QaFsbgub.
A, A' ydraflaer Beranle $Par plwamer (Vertices)
sTeur i,
x = 0 ereoflelr y == =kb

o Bereuciid (0, b), (0, — b) yeirafiseir, Bj>srougy
B,B' aufld Qasogid.

T x2

8§ swaruremi. y == xb VI— 25 ...... (@)
2

DG ¥ = *aq l\/l«-— %% ...... )

#T60T @I 6TARBSoVTID.

x2 > a?, ISFTUB X > a HOH X < — a ereir By sdr,
Y-GS sPpulor wHOYs6r eurmuorsed it A-dG susoL LbS SSID,
Al-&6@ QLLusEsHGIn eudsTasny augr .

(1) eFwuarurcigd — a, g-5@ eni-Cur.L. X-sr gy
Qarpw Gpt Hdowurs y-46s oA Gupuli Cr srer
wH® Qo wHoysst  auEh. PaGes,  audTaimy
X PwHCHr® Fn&S HOL ST G0,

QuurdfiGu B-&@ Gugyd, B'-&55 Sy sudrausny
TGl 3 ATy y HHhusCsrBih Fuud s HedL W BT GLh. g

Beraneid X%,y HuhiaGsrr® Fwé S GBLILST 56850
*, y) yeral Berati 580 Qoader (x, —y), (— % y)
(— %, — ) yerefisegpd Bearau i sHd Qmdon. Deirgubd
x, ¥)s (=%, ~3) ysrefstr Qewaseh Gar® opsonfs
Qebaugred, C anps Oosvgyd prevrasr % s 5uiby
C suursn WNsgo. C gearansHar ewwd (Centre)
&7 & L LI(B1LD,
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X-&@0 ue LEOYsETE Car@ss upHpe Cpt H0
wrer y-6r wHiiy s8rd sravflid audwosmya ysi el wueveu h Pledr
QS0 sTIEHT Sd@. BQuPH@d HPujid Breu- S5
2_(pusHdm wphdar ugHo UL S Srebrs.

AA’, BB!, BrGe Seirour’L $Hsir Gmii&& (Major Axis),
GHpés (Minor Axis) erertu(io. Sp5Bay QB &,
@ppéa Bertissir HyGm 24, 2b P @id.

4. Gugmed  (Latus Rectum)—o_udidinjer af anfi&
(Sés’og}ub ArioLs gssrub Cegseob aerdu@n. LL-g»
Gprseold eTerd GISF &L Lmsd

SL = e. SZ
= e (CZ — CS)

—e(t—a)

= a(l—e?)
b2

=

. b2

Sjmy GEyasmib e

5. @ranLrag 2lioysefl, e @iCar@:—CA'-s CS’
~ ae s Pmds S' ydrefuh, CA'-gr Biduded CZ! =‘;
st fmd s Z' Ysirafluyd st@Sgs Z' sulf CZ'-4@ Cpld@sars
Z'M'-ujb, Z'M'-@ Cpigdaprs PM -ujid euangs.

ST
PM'
P-sr @puwsQgr@vsdr (X1, y1) erafladr M/P = g + %

= e srir flpds P Quibiglisard G smrsiCeurid.

S'-gr @puwsQzrSvassr (— ae, 0)
S'P2 = 2 PM'2

& (xy +ae)’ + y,2 = e2 (2+x1 )n
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x y12
(=1-g1) alis +a'l (l--e!)

X2 3
(or-e) 5+l

(%1, 31)-6ir QuibiGausny z +

+ l
=55Ceu P, }S,:d = ¢ B IS’V17 =e ersirp HAoudd

Quiigwrdar St  QuiiGumy ®Cr feiroui wrer,
x’ y?
+ - 1 sp@0.

+ .Z_‘ w1 S 38p@ S, Z'K' Qrarirauy
a_uﬁzfuqmaﬂ, 2 19FsCasr® FPphG.

S (ae, 0) o uliysrefuldsr @55 (Corresponding) o udid
Gor® x—3 =0, §' (—ae,0) ediiydraddr ko,

0 8H6GEB ¥ + 2 = 0 o
6. Bl Lgdar suarur® ST @b augar & ewflHOLeir -~

BereulL Sg Y eir afl
P-sr @dsrundb PN  eaerd

Qarera. P yeredl S e P
LS5 Hr B8 . ﬁ_\h
CN2  PN32
Ta? + b A A C N A
[ 1 = a2

a2 —CN? o
e
CA? —CN* uLib 88

a2

£
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_(CA+CN)(CA— cN)
a?

A'N . NA

—

a3

PN? bs _ BC?
AN .Na ~ a3~ CA?
7. (%1, 1) yerafl BaranlL Gy oo, eu%TaIDY,
2 2
Quelilld Goidsr - + 2y — 1-dr vy fyte Gop.
&drawd, Hms QG-

Q ysref (%1, 1) Q af @psrud QN, QN Sdr
an’ L gms Qe G yerall P erard Qs eirs.

X 2
PN3 = b3 ( 1=
Q geraniLsfdr e diai@Giuzrd QN < PN
X2
QN* < b ( 152

n? xy?
(@l’g’) r < L e bas_.

»n2  n
(s-a) 2% +—Er—- 1<0.

@i wrHfGu Q yeel Seranti sHdr CQauafCGus
. . X 2 2 '
@@ufﬂ&“l‘ _612_ + —J',bl;' - 1> 0.
afmramguded (x1,71} Qpnissr 5‘:; +"g:— —1=0.
8. suqpsr Cpigdsrer I, I' Gar@seldmpsm P
. . 9 s
yerefudesr p1, pg QBTEHVSHr ’;‘; +pz;— =1 QarLiysmL.s

pra @muidr, P-ér Quigeasr om Bdraniiwrgd. @b
Be ot $Peir eowowd I, I' Gar@ser Q@b Lsirefl sTearajub,
a > b srsr Hmindsir OQpLrd Her Bord 2a, GHpsHer Barid 2b
sr'scrsuu:z, SplLds, Gppés BrGwm I, I' GarBaalis QmsGd
STQT LD SI6wTeurt. .



200 DPWSISTIH Uy 6y SewllBLly

wrdd 1

om SdacLsfar e ldioydrel (3, 1), 955 o _udid
Csr®® x —y + 6 = 0, ouwws Osrds 566 § sTalladr JjH6r
FLeTur® ereirer ?
Berant$aid ysefl P (X1, y1) sTerd @ sweir Geumid.
SP =1 X (X—y+ 6 =0-8pp5 P-er Gzsrdv)
X1 —y1 + 6)\*
—_3 gy —1)2 = () (=T
(%1 ¥+ n ) () /11 )
(=-31) 8(xy ~ 3)* 4+ 8(yy — 1)2 = (x; — 0 4. 6)2
(o-51) Tx% +2x y1 + Ty, 2 — 603, —4y; + 4 = 0.
(X1 Y1)~ QuBIGUMT, DB UGl Beireu $SHer
Fwedrur® 7x* 4+ 2xy + Ty* — 60% — 4y + 44 = 0.

wrfifl 2
oo BaraniL sAdr evwwbd (2, 3), e wdidysrefl (3, 4).
ouws QsTIS S50] § TG, BT FLosir ur(® sren v ?
Beranl QpLLsdsr swdrur® (2, 3), (3, 4) ysiefladw
D eom @B Carrguw.
' y—3 _x—2
(S-8) 3242
(@1-g) ¥ —y +1=0.
ebpéa, (2,3) aff Qs Cari(sée Cpigdsrer
CsrL_rgtLb. :

@Pp&fer sudrur® X + y = 5.
sowwth  C, e @idysamell S, QpiLddsr Berd 28
& p&Aar Sori 2b ereofledr
CS = ae.

ore) CsP=%
L B—D G =

(-g) a¥ =38
a? (1 —e2) =102
=8(1=—3)=06.
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Xx—y+1=0, x+y=2>5CsrPasilniz Berau s
Sl Leir of! it fPleit OgrSvasir py, P, srefleir,

2 2
(xl"“'J’l+1)2 (xl +J_’1"‘5)s
2 2
(si-g1) ‘ Vs + "6 1
Xy — 1)® - 5}%
(o-g) L= ) & . 02 ‘i’—;‘z ¥ o1
- 2 —_— ¥
. P-6ir Qumkt@Geusny L f6+ u -+ ¥ 4 {2 5)2.’—.—:1‘,

wrfifl 3
9x2 | 25p% o= 18x = 100y — 116 = 0 Beraii s Hsir

eow Qor () eotowd QSTIH0S HH6M IS BT 6TT o
@& et uriiig Sor
9 (x2 — 2x) + 25 (y% =~ 4y) = 116 srsir g eragBHovILD.
(-81) 9(x2—2x 4+ 1) +25(y2~—4y 4+ 4) =225
(@-g1) 9(x =133 +25(y — 2)% = 225.

— 2 - 2
(a-g) E DL 022,

SpFeowr (1, 2) yerafldg orp Msir, Hereu L GHer Fin6dr

2 p2
ur(® %—l%——a 1 ersér i 6u(mLd.

5B, @& swsrur@ (1, 2) yereflemm aLowiorsd -
Qarebri. Beireul’ L or@d.

ap pBdarauli sHadr Qplida, @opps  BrGs
2a, 2b ereofleir, a? = 25, b2 = 9.

b3 = g% (1 — e2?)

& 9=25(1—e?)

-~ &= c
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uflpflasr 16

1. 9x2 + 4y% = 36 BereulL $Heir evwowd Qzrved Zur
aygin, e udit gerefsellsr gpwd QBrivsdmuh e s.

2. g BaranL gHedr e uwdic ysrefl (3, — 1), o_udits
Bar® x—y +16 =0, emwwp Qzrdvp 559 1 erefleir,
I @er Fwsrur® srerear ?

3, BearantLid gaérfer o udia ysrel (1, 2), g‘p;bgs
o ulitd Gar® 2% —3y+6=0 eowous Oprvssse
STERET, DB6T FlosTur® ered er P

4. oo Bl SHsr mwwd Qardvsssa] 3 Gprasng
Betr Berid 8 ereufledr, Boirouli & Fuwsdrur® sred ar 2

5. 96 LBWQJL.I_‘&‘@SGT o WitiydreNadT @G GHDFS
pefGuir(® Qo&wrés supd CarBaafsar Georturi Qs rewrid
90° e1eufleir, smowsd P@Tdvsase) ererar ? OBl Ffer Berid
2/ 2 sTand Qaraw® Beroult ST glodrurly s &rQTS.

6. Bp& OsrBsAMmEGD BeranlLdseflsr soLoaID
@Eysevld, sowd QBT s, o wlil yerefadrs BT T &g
(1) 4x% 4+ 5y?—16x + 10y +1 = 0.

(2) 4x2 +9p% +8x + 36y +4=0.
G) 4(x—1)2 4+ P2 =4. ‘

(4 (x—1)8+9(@(p~—2) =136

7. Suiursidd ey  Par  anlL.eugsuepdLa
Garyewrid @arp, 9 Azp@eddrGud s Uiy GsIpS.
BorauiiL Bt  QpLLées uresBur® esTpudIps.
Opmedsr s 34 smy.. OzsmGurysHlnbal 2 2SS
SOured Bp b 6 g e_wy wallgafidr s Carrarsmad
QariLred Campem BT HHS LS 2 wyGiedrer ?
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2. gdHeu LI)BH Juash § Camerd & Hased-
X10X, Y'OY yg Spuidiser ererSosr sibri.red
A A
x0X = § = yOY

usmpw Gpuiisdr Qurpsg P Lol eflufelr Dpw S r
Seir (X, ) sT@raji, LjH [puitisasrL Qurpdas (X, Y) starayn
Qarers.

P-eBpig &' Ox, X'OX Gar@sese BrGo PM, PN Gar@
a8 Cpi@dsrs aamyuisr

% = OM, y = MP, X = ON, Y = NP.

N-8@ b3l 0%-&@ NQ-ayib, MP-&@ NR-e_ i Cpigssr e
QISDF S,

'H"

uLw - 138



Foltly @ millig.Sel SUSHT M : 371

x = OM = 0Q — MQ
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12 }]
(S-8) 5 — —3-’4- =
'3_ 1
xt3 ylﬂ
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Sempd GpEsTuh = —%g
LV
BT S SGwrwrwd = 2
S &wrwré swosirur@ x' = 0
x ==X cos 8 -+ Ysing
X 4Y
= Jf—«
_(=+1) -é—_(y-—l)
/2
x4y
V2

SGwrd FoaTur X 4 p = 0
Gpdarws sodrurG Y ==
P = —Ksing + Ycosg
—X Y
V2
— () + (1)
V2
—X4y 2
V2
EpssTwE sudGTur@ X — v + 2 = 0.
Sty opwSIHrd SpubssT Qe G Lsh s
HBurauSredHar wpwsdr wslwaupmp qphler apsop
@rired o@D sudoreusny M SN &,

vl hfsdar 24,
“S6lr QupLh Foib] Geuilig. &8I USHTE :
(1) 36x% + 24xy 4+ 19p% — 72x + 126y + 81 = 0.
(2) x2 — 5xy 4+ p2 4 8x — 20y + 15 = Q. ‘
C(3) 9% 4 24xy + 167 — 86x + 52y — 139 = 0.
€4) 8x% 4 12xy - 17y2 4 4x — 22y — 7 == 0.
€5) 8x2 — 2Zixy + 15p% + 48% — 48y = 0.
(6) 25x3 — 120xy + 1é4y% — 476x — 1494y 4 1414 =0.
(7) 43x? 4 48xy + 57y2 4 10x + 180y + 25 = Q.
@B (x+y—1DHxE—Ty—9) =2,
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(9) 163% 4 243y + 992 ~m 40x 4+ 220p =~ 700 == 0

(10) 5x% - 6%y + 5y% - 22X o 6y 4+ 21 = O

(11) Tx% 4 8xy 433 +6x + 6y =9 =0

(12) x2 4+ 2y 4+ Y2 w4 ey 4 =0

(13) 28 —=xy 4+ 92 4+ 45 5y —=2=0

(14) X% o 4Xy2 == 2p?¥ L+ 10X & 4y == 0

(15) 25%3 == 120xp + 144Y2 wom 2% === 29y —~ 1 = 0

16. 16%% — 24xy 4 958 — 104x — 172y + 44 = 0 uyeudw
wibAesr apuud, wpdur, CHyaEeowd, o ulil yerafanwd sraws.

17, %% - 122y == 4y% e 6% + 4p 4+ 9 == O gaidy Qeuilig.
ufledr @ udidLysralsSrupb, e lis Gar@Hedmub Eirebre.,

18. 55x%2 — 30xy + 39y8 ~— 403 == 24y — 464 = 0
Fuiby Qo ulelr o udic Yo afisdwrd sradra.

19. 1632 o= 24xy - 998 — 802 -— 140y + 100 =0
ugeuds wHFeir o udi st oflamwd orobras.

20. 812 - 90xy -~ 25¥% - 5%x - 21y + 50 = 0 wypeudw
wibBelr i yereflamwiyd, e ulid GariigdoTuh &reirs.

21. ax® - 2bxy -+ cy? = 1 snidyy Qeul.ig ud 6T Spusbicenedr
FneTur@® Xy {@ ~ ¢} = b (%8 ~ y3) eresirm Hpeys.

22. 3x% £ 2xp + 3y% = 8 ceib Geuiy sEmer e Heir
@..u9i 0 yerafaer grdonuded GumEoh ereor Bgse|s.

Q3. {X =2y 4+ 1)% 4 (4% - 2y = 3)2 = 10 sntiyy Qan’y.
el SwmSer S CQUHSSS Cgrens 4 ctar B ge)s.

u@dl 3 Gurgluemid sbybaitiy (General Conic)

12. @dgs 5 uymelladr afl @@ &by OQailiggrer
Qadguib. GurgdiumL & Fusrur® ax? 4 2hxy-|-by?+2gx -
2fy + ¢ =0 @ iy ey omud GH&GD star BoelGeib.
¥ Fwerurily.d 6 BIQwealrsdr GO @b, eI, R
B30 6 69T (@) 60 FLOSTLITLL DL @ SBT 60 FLGT LITL1g.6D S1Bapsir
QgrLhfsheors 5 F2uCwansGar @opsGhn. @R moauba
Beoowenrsdnsg srewd suapsit Qari-fildsorg § swsr
ur(padr Geuawr@w srarBey, 6B gnidy - Gailymud
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swaper Qpriifsdors 5 S @OUTRSEESE B Awrsserin.
TRSHEET 05 3GHss Ldreflast anf @m emidy
ey cowd GFdaubuy QEdnIrD,
13. ax? 4 2hxy 4- by? + 2gx + 2fy -+ ¢=0 sy Qanliy
e (X1, y1) QL8555 CzrHaumy.
(%1, y1) eunfs @&d:gmb am GCarilgdr sudrur(d
XXy _ Y=

cos § 91n ¢

r .. €13

B&ECsN®B ity CQauly o Feul (B usraladwrd Srewds

FalDLjQeILIg & et urilig b

¥ =2%1 +FCOSf, Y= 4 rsin - rLrEs5dL Caisw @b,
a’x, 4+ rcos §)? + 2h(xy + rcos 8} {y; -+ r sin §)

4+ b(y; +rsing)? 4 2g (% + rcos §) + 2f (¥ + rsin g)
- ¢ =)

{2i-@) 72 { a cos?@ 4 2hcos § sin @ + bsin?f }

+ 2r {axy -+ hyy & g) cos 6 + (hxy 4 by; 4+ f) sing)+
axy2 + 2hxy1yy 4 by? + 28%y + 2fyy ¢ = 0 €2)

(1) Gsr@® syQaily mwud QgriLrd (¥1,y1)8 555!,
(1) Car@® miby Gourliy sowr Qs Gib 1y siraflzalldr QBrdvssr
& 65T 6T 1o GLb .
srarGoy, {2)-6ir Bieysdr Gram@L Ssirarwr@Gn.
a%12 + 2hxi1yy -+ by 2 -+ 28xy 4 2fyy = 0 _.(3)
(ax, + hyy + g) cos § 4+ (hey 4+ byy + f) sin g = 0.
cos § _ _ hxy + by, + f
sin § 4% + hyr + £
A vAima  (1)-0  mrddesd (1X,71) Sszis
QzrHausny dHent_d@GLo.
(X1, 1) BL-$5 5 QarGauamysr susrur®
X = X3 - cos §
Y -y sin g
__ hx by + f
T a®y by + g

(D)
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(®-g1) (x— %) (a%, + hyy + g)
+ (y— 1) (hxy + byy 4+ f) = 0,
(S1~g) axxy + B(xyy + y%y) + byyy + gx + fy
= a%% + 2h61yy + byy? - gxy + fiy.
BeUpds gx + i + ¢ Ré mly @
axxy + h(xyy « yx1) - byy1 v+ g (5 4 %) +f (p +y1)te
= axy® 4 1hxy1yy - by * + 2%, + 2fy, + c.
(S1-g1) axxy + h{xpy +yx1) +byyr ¢+ g(x + x1) + f
(p+y1) +e=0
{ D-apsd }
B& swaruri_a. T «= 0 sreir gy st SIouGih e eir®.
14, (x3, y1)-of GBMECSIL.QF swerurG.
ax®y -+ B(Xy, + yx1) + bpyy - gIx 4+ %) 4+ £y + y1)4c -0
sreirgihy, (%1, Y1)-60GES sy QAauly &G  sumpymd
QarHaumraaflar Qsr® Brar axdy + h(Xp1 4+ yx1) + byy, +
g(x + %) = (¥ + p1) + ¢ =0 evelt o o HP &rewreowtn
15, (%3, 1)  yswsfloow s@RQUysTelLres  Q@mesri
ax2-4-2hxy + by% + 2g% + 2fy + =0 suidy Qoo e mwedor.
(%1, y1) auifé Qesbgud Hrewilstr FLo6ir Lir@.
X=X __ V=1 _
cos § sing ~ M
stoords Q& eiras.
@b praw sy GQaulygeow Qi@ ysref ST
Heirougpid FLosiT LTt irsd &reme sortD.
r3(a cos? §+2h cos § sin g + b sin2 @)
+2r {(axy + hyy + g) cos § 4+ (hxy + by, + f) sin 4}
+ ax12 + 2hxXypy + by 2 +28%; + 2fyy e =0 w (2)
(x1, y1), prewfier @O ysreflwrgeoored (2)-er Sfeysdr orgy
Ul L. @B Fo w@oyh o enL weTaurg.

faxy -+ hyy + g) cosf + (Bxy 4+ by, + f) sin g==0 (3)

(1), (3) swsrur@esflc@nby (-ma ap Py Brenish
Fineir ur (B Heor. SGib.

pBrewfier ewsrur®
(x—x1) (a%y by +g) + (y—y1) (hxy + by, + f) = 0.



Fldl] Gloutlig el ey S6 39¢-

(SBi-&) axx, + b (%1 + yx1) - byy; + gx + fy
= axq% + 2hx1y1 + % 4+ gxXy + i,

Boupsse gxy + fi1 + ¢-@& Slyp @

axxy + B(xy; + yxy) 4+ byyy 28+ X))+ F (¥ 4 y1) te
= %1% 4 X Y1 +Bp1® + g (X 4 %) + f(Y r yy) e,
(-g1) T= 85

6. @@ OSurg mranselsr sEOyTl@ar s Gunmig
aueny mbwb aflé Geagid @@ CarLr@b.

brebraer IX 4 my = (-3¢ goGurars Ems @6 T
Qarer Geurid.

Sippomsy  pre e Her sOUYerefl (X1, Y1) eTard
CErairi.re ST Fodruir®

axxy + h(xy; +ch1) + byy1 + 8lx 42+ F (¥ +y1)4+e=8,
(H-) *(ax,+hy1+8) + y (h%y+byy +f) 4+ ... =0.
Bé&Casr® Ix 4 my = 0-& Pl Curars  Gulusrst.
axy + hyy + 8 _ b3 by, v f |
1 m
4 (%, Yy - 6 GumaGeuany
ax+hy+g b+by - f
1 - m :

Bs Gariged ax+hy+g=0, hx+by+f=0
@m:ﬂl@mmmsmn'sb gnibyy Qe g i evowik ol @S Gar (B
Q& gpib.

(T y=mxSy = mx Ger@edr ax? 4 2hxy + by? +
285+ 2fy 4+ ¢ = 0 seidyLeonlipuler Qo gZw Qu it
sE&@ 9Gburars @ignred a + h(m -+~ my) + bmm, = 0.

Yy = mx GariiGEG @0 Gursrer Brobr et fsT BH O
uerafl (X1, ¥1) etsod Qarsirs.

Db Brewilsr &mdru:r@

axxl—}-k Gy1+3%1) + oy +8(x + x1) + fiy4y1)q1c
‘ = ax,? 4 2h %1y, + by % 4 2gx7 + 2fy, + ¢,
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(@-g) x(ax, + by, + &+paxy $ by +N+.=0.

o o0 ® e axy 4+ hyy + &
&) oo enfledr ¢ m’ = — e, = bys + f

oy =mxdé® polursras prarasiiss B0 6 ef
ax + hy + g
QuBGaIERF M = = T
(o1-g) (o +-mb)x + (b +mb)y + 8+ mf =0
GaGasr@® y = my1 ¥ 5@ ROGLTsrEe

a__j:__mh es

T+ mb

(D-@) 8-+ h(m-tm)+ bmm; == Q.

18. @@‘ satby Qeul.t. &6 mweir@ ysrafl sofled Qe G,
@ Faldl Gy safldr QuriHdueml.d sudrur@adm
ax® < 2hxy + by? +-28x + 2y +e=0

@182 +2h @y + b1y 4261 % 42y + ey =0
srard Qs Gaurid.
8§ sudrur@sdm

Agyt+ My +Ay=0 ' e D

Bgy?* + Byy + By =0 v (2)
6TEUr 6T (P BOOF 1D+
B Aps A Az, Bes B By,  x-air sriyserr@io.
(1), (2) we urGaserrsd '
. 7~y2 o y — (____’_‘___1__________ (3)
A, Bg — Ag By A, Bo == By Ao Ao By — Bo A;

(AQBO -""':B’AC))2 = FA'_[BQ — AgBl){AoB] _'BOA'L)
B swudrur® x-6r pround  swdturiog. searGe,
BapS Breve Siasdr oar.
ey o Ag Bo = By Ao
(3)- @DV = 2o B = Bo A;
X7 @Gr® wAINEGSSS Y-5& PE LAY o e (®.
sTerQGeou, @eiedp ol Qg &t Breveg Lsrafsafd
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Qans@. (3) susiruriind spudnd Sltajsdr BrianL.wirs.
aumeugredd @ proydeisept CQulwrsGar, &Hudor
wraGsur gsbeog e Cudwrsayd Grewr@d &Hudor
wraa|Gur Bwécb.

19. &by Qalysaldr Ggr@os :

Sy 8! euiiy Geuy.ser prsir @ Lisirefiefish Glau Bitb eredr gy
uridGarid. O yedreflser HZBTHSIE  Cow Quuiedt gk
oeupemp A, B C, Dersiipid Qanets. @Qaupmer Qe
Sjsbeo g apel mu Ljsh efEGeir 56T g LIL-@YId Fa(Hih.

A, B ysrefissr A yerePuded @erpu@n eredrgn, C. D
yeraflassr gaflggellurs Qudeowdrpn QsrdrGard. &b
fooulsh gmbQeaninssr A QLSS Qsr@w. @b wrHi
QsrBss epops Qzr@as (Single Contact ; sramiu@i: .
g 142)

A, B yerefssr A-gub, C, D
yelrafiser C auib epelr pun’e red sn.LbLf D ¢
Qanty.sar A, C ydreflsel S5
QEr®ib. @ uor AN GiarB s
@riemie @sr@eoma (Double
" Contact) er@rdiu@i. {UL.d 143)

' A
itk 142

A, B, C yerelser A-sb spetir gy
Ul Lred sihy Qaut’ . seflelr
Qor@Gens @uysrels G r@ene.
(Three Point Contact) sterdu@ia,
o € (L 144)
uih 143
- 2mA
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A, B, C, D ysrofimer A-6d
SETPILILL TO  Fethy Ganliyg =
soflr QzrHiams srpydTeafl
Ggr@ea Four Point Contact)
STt (Hib. (uab  145)

A
uL-ts 144,

8@ e Qeuliy S6r sTeelgib
Qgriirgib OsrGGSI-35 Seuh
[ETCY PG QurHd OIrdousny
= o (@,

w.ts 145,

20 @yleup Ozr@es (Double Contact).

S glby Galy Cur®G J[rioerd .Ggrr@smﬁu.;am_nu
By gnldL) Qeur’iy ulslr Fudrur® Srapised.
apsh ity Qenly.udeédr Fodrur® :

'S = ax? + 2hxy + by? + 28% + ny 4+ ¢ = 0 orewd Qsrers.
K HooDuealn erir@e

S — K(Ix + my 4 1) (h* + my + nl) =0 .1
#erur® Ix + my. 4+ n=0, 1% +my +n =0 Gas;r@as*

= 0 sald] - Ganlipgeow Q@ ysrelanfd GQrdaud
@G il Gagowd GPé@w. IX +my +n =0,
Dz +my +n =0 Gar@sd garpunicrd QECsr@sdr
S = 0 goui] Qaulysow Qo ysrafisdr @arpu@h Qo
e afl@errGis .

srar@eu, S— K {lx + my + n)2 =9 |
sussrur® Ix+my +n=0 Gar®
‘S = 0-g Qe b @L_,sg S = 0-;p%
Qgr @ Sa.lbly @sm._lq.smu.lds GhELD.

UL, 146
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21. S=0 swiby Gailyscs Gdssydea (xi, y1)-Aebg
ar@yud AFrPsuamyaaiiss Fwarur®.
Fatbr] Geurtiy udelr &osrLr®
S——axﬁ+2hxy+by’+2gx+2fy+cu_.0 [¢))

(%1, ¥1)-BmpbH saidl] O’y S suswu-:w ng@mmw&aﬂs&
Qar® - Hrer
azx, + h (xy1 + y%1) + by +2(x + Jh)
FfO+M) He=0 - (2}
(%1, y1)-8mhy (1)-36 aopyd QoG aysd
By ®ib,(1)satby Gauy eow(2)Q Wl (b Gudp Frl.oord
QBTN @i FabL];001" 1 S@ET Rl BSLD.
HSsaw b Qeuliysefid swsd ur@
ax8 + 2hxy + by3 + 2g% + 2fy + e~K {axx; + h{xp, +
X)) by e+ x) S+ )4} r=0(3)
(3} saiiy Qaning. (X1, y1) ufid Qedr@ms GgrHoicny S afish
Gei s susrur® Am.sGLo.
o 0%,% & 2hxyyy 4 byr? 4+ 28%1 + 2fy1 4 ¢
— K {#x:? + 8hmiy1 + by1? + 28%1 + 2fp1 + e}? = 0.
1
(or@) K= 5% 2hx1yy + by + 28% + U + €
star@ou, QprHousnyseisr Gt bs ewedrur®
(as? + 2hxy + by? 4+ 28x + 2fp + ¢}~
{ axm +h (xy1+yxl)+b}’y1+8 E+x)+f P +y1)+els 0
ax1? + 2hzyy + by 3 + 28%1 + 2fy1 + €) -
(-3 S8y = T2
- 22.  ax® 4 2hxy 4 by* - 2gx4- 2y e == 0 amq@ml...q_
e o uitanita.
sugpsr Gpidodasres Qodegw CarGasnysafldr QoG
yerefl @ wligeiony eetbyy Qeul iy uisdr o _udt an L worgtd.
(%1, y1) @Iy SbyQon_iné® myujh QsrDasny
sofldr swsrur@
(ax® 4 2hxy 4 by? 4 2gx 4 2fy +cj (ax;* + 2h®y; + by *
+28% + 2fn P ¢) = { axx1+ h(zy, +y®: )+byy,+g(x+x, 3
PO Fy) -c}?

26
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(D1-@) (ax? + 2hxy+ by2+28% + 2fy + ¢) (a%,% + 2hxyy, +
by 2 + 2gx, 211 ¢) — {(axa+hpa +2)x+ (hx1+bys + )y
+ 8%+ fy, +ec}3=0
B85 O@r®H alenySer sapst CpiGSHsTaH @@L‘nﬁls&r__ :
x2-sir Qmag + Y-t Paag = 0.
(@ + b) (ax,2 4 2hx1y1 + by1? + 28%; + 2fy1 +¢)
— (8%, + by + 8)* — (hxy + by, + H2 = 0.
(S1-51) (ab — h3) (x12+y12) =2(hf—bg) %1 —2(gh—af)y,
4 bc— f2 4 ca=——g2 =0

o (%15 1)-67 QUBGUDT S SBTAI G 219t e Sfeir
FL067 LT (B

(b — B2) (x2 + y2) — 2(hf — b)x — P(gh - aj)y

L +bc—f*+ca—g?=0
- hf — bg  gh — af
BeuanL SHer enwowid (ab B ab = h”) -
Q)01 yéiref @atby) Gsur g ulsir smwu.vm:r@m
A%rFCsppn : . ax2 + 2hxy + b2 + Qgs - 2fy + e.=0.
ugeudmrw SHeir o..uﬁri*é@asrr@

2(hf — bg) x + 2(gh — af) y — (be — f2 + ca — g1)= 0
GG .

23. by qsirsrﬂ 9@5 rﬁl&\)& aiby Qe s6r (Four Point
‘System of Conics). -

S = agx2 + 2hxy + by? + 2gx +2fy4ec=0 = (1)

St = alx" 4 2h1xy + b1y2 + 2g1x + 2f1y + ;=0 yve (2)
M), 2) @rew® FbyQauilysefiidr Fwdrur@ssr srar@e,
: S+kSL=0 - 3
slosrurienc O urfaGurid. &
k-gr w@oy agaurioin DS 90 BDoUnF armsarurr@
Spsmaurd (3) 9 emmq@sm_xq.smm& G P&EGL0.

Gugih S =0, S' =0 guiby Qeuly sefsr © Our i
ysireflsdrang S + kS'=0 Qedgih. opsGa, k-Ger usrodiy
&@&@ﬁ a5 S+ kS'=0, S=0,S" =0 sy Gean'y

seir Qe (Db prp 1 aflsshr mgﬂé Qfsbgum P BEBvE goibL)
-@sm._nq.&&rrés G PESD.
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24. Q@ QFdas Huga s ks Qe G yeraflssr:
aflé Qedmin siby Qaryss HeuSgib Qedas HHuy
6u %o Wk & 6T 1D

wppdar ugHusr S=0, S'=0 Osdisus Iuy
udrwiissh eTard Q506 : .

a+b-0, a]'b1=0
S BursuSrutissr Geul.(Pw us ailser aunfs Qed gy @@
BE&vs s iily Qeut g saflar Foedr ur@
S +kS'=0
(@1-8) a4 ka) 32 +2(h + kiy) xy +
(b4 kby) 2 4 v

#
=)

f& eweTuriiy b

x2-60r Qg + y2-ar Qs = a + kay + b 4 kby
=a-4 b4 k(ay +b1)
= 0.

& SH4EkS'=0 @iy @ma_q.ase!r 2i&m S B Hug
QT IWIBIE 6T TG LD, .

25 omrp yirell @@ AWE sy Qalgpseps S
Uy e o Wikl & @i, 26 QFdis HHUFSTuyd o6r.
S=0, S'"=0amiy Gaysdr Qau@ih Ljsrefissr w;ﬁé
Qb gid @ F&VS FmibLy Qeuly sefidr FwaTur®
' S+ 4SS =0
(S-@) (8 + kay) 52 + 2 (h + khy) xy +
(b + kby) W =8 . 0)

8§ eusarur® oo ugrm%vrm,émm& @gﬁl‘ﬁgnb
(h + kb))% = (a + kay) (b + kby)
Qs k- Qouy s sudur® poswurd k-¢ Qo
Siayaser a_er.

srar@eu, S + kS!' = 0 gniil Qeui’iy S@heir Rredr® LFeudn wmk
SOTTGLD.

(1) susrur® Gsfos SBurudTusmss GD ST,
a+ka1+b+kb1 =0

k-0 0 wAlyssTer o an(. sTarCas S + kS'=0
S by QUL y SEber T I QFsious S Uy uBTWrGY .«



406 - SBWSO BV ey ar SewflHib

wrglfl 5§

Brp yereflser aufid Qadogid B ureusrwudSar sy
Cpracotiaeir 1), l; eradrpub b prpydrefssr s Q&sbgyth
Qreious GYHuradru oowdSdnsHs Qeueim ursuBmw
DHWHSHEG umyuh Cpigdss Car@Gselsdr Sordiser
P1s Pg srérmid @ bsred

1% + 113 = po? 4 I3 erewr Bpieys.

Qrdius HPHuradbrusdear eriiird yeirefld Qzr® -

WSS pUSAFrd HuBISTrEs: QsrairLrd OFdiais
SHupaudrwdHer swerur®
xy = k2.

b yerefiadr afidF Qedid 9@ LruSTLSSHsS T
urCen. (ax 4+ By} 28X+ 2fy +c =0 erovd Qardrs.

S grw uraudrwsder swsrur®

(@5 + £))2 + 285 +2fy + ¢ + A (xy —k?) = 0.

A UF ST LT DSILITED

(aﬂ+%)s=a”ﬂ’

ve B 4“ ﬁ.
S A0 wabrusfs FudTur®
(e~ fy)? + 283 +2fy + ¢+ 4 @ Bk = 0.

Ilu M__mf—ﬁg 79 {2.2 __—__af‘l'—ég__.

(= )% (a2 4 1yt
‘ ; (af — Bg.% — (af+ 2
S —g = Y gi* +p:): P2)
daBfg

iy 5
QFdins o BurendmwsHer soawih (0, 0).
peudn whisener gy uidiser

ax+ﬂy+g—3+*'—»g£= 0, ax-— ﬂy+%§£=o.

s pl m;?—gri—pn':: &g +ﬂf_‘.‘
Vo + B2 (e¥ 4 B2)3
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ag — Bf
Py = sm—mee—ay
‘a? 4 B3)°
" @ e BFYE mm 4 AR
pa? — p,? = 2F ﬁ{iz _f.;a)g% D
- daBef
(a2 + §2)3

& 1% g% = pp? — p,¥
& W% 4 pr? = 13% + p,t.
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